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ni=-1 P =-3.6 qQ =_3.6 MATRIX PART 2

al =05(mn-p+3:q) bl :=05(n+p-q) gl =05(n-p-q)

X'=-6..6 y::_6,_6

A =05(-5-05x+15y) B 1=05(1+05x-05y) G, 1=05(1-05%-05y)
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n:=-1 pi=-3.6 q:=-3..6 MATRIX PART 2
alp’q =0.5:(5n-p+3:q) blp’q =0.5-(-n+p-q) glp’q =0.5-(-n-p-q)

xi=-6.6 y:=-6.6

A =05(-5-05x+15y) B :=05(1+05%-05y) G :=05(1-05x-05y)

-3 35| 3.25 3275 25] 225 21175 15| 125 11 0.76| 05
3.25 .31 275 25| 225 211751 15125 11075 0.5} 0.25

-2 3275 25(225 2175 15| 125 11 075} 05} 0.25 0
2751 25| 225 2|1 1.75] 1.5] 1.25 1] 075 0.5] 0.25 01]-0.25

- 25| 225 2] 175] 15| 1.25 1} 0.75| 0.5| 0.25 01-025] -0.5
G-= 2.25 21 175| 15| 1.25 11075} 05] 025 0(-025| -0.5|-0.75
“’\N\ 2] 1.75] 15| 1.25 11 0.75 //’Z%% 0.25 01-025| -0.5|-0.75 -1
175 1.5] 125 11075 05 0.25 0;-0.25]| -0.5|-0.75 -11-1.25

1 151 1.25 11 075 05] 025 0)-0.25| -0.5(-0.75 -11-125( 1.5
1.26 110751 05( 025 01-0.25| -0.5(-0.75 -11-1.25| -1.5}-1.75

2 11 075} 05) 0.25 01-025) -0.5]1-0.75 -1]-1.25] -1.5}-1.75 -2
0.75] 05| 0.25 0]-025) -0.5]-0.75 -11-125] -1.5[-1.75 -21-2.25

3 05} 025 0]-0.25| -0.5|-0.75 -11-1.25] -1.6]-1.75 -21-225| 25




2.5

2.25

1.75

1.5

1.25

1] 0.75

0.25

-0.25

2.75

2.5

2.25

1.75

1.5

1.25 1

0.75

0.5

-0.25

2.75

2.5

2.25

1.75

1.5 1.25

0.75

0.25

3.25

2.75

2.5

225

1.75] 1.5

1.25

0.5

0.25

3.5

3.25

2.75

2.5

2.25

21 1.75

1.5

1.25

0.75

0.5

PRE MATRICES FOR [T)

=




‘ |

NUMMATRIX1.MCD INPUTS M OUTPUT =T JANUARY 1, 2002

¢:=10.476821 lo i=-32.791545

G =-7.175706 h:=-26.976926 mo :=-4.662199 to 1=-43.268366

re :=-12.550068

mp :=-23.776602 | md := 15.579/2 ms :=35.820755 mu :=56.062232

u:i=0 a:i=-5.5 b:=-5.5 e.=0

B b =05 ((u-3v-5w-a+3b+5e)ct+(-u+v+wta-b-e)G+(utv+w—a—b-e)h)

a,

Mn i=md

Ta’b '=(a-Mn) + Ba’

b

-2 -1 HE 0 £ N T DL f o
-5 -210.058851 | -177.267303 | -144.475756 | -111.684208 | -78.892661| -46.101113
-4 | -189.817374 | -157.025826 | -124.234278 | -91.442731| -58.651184 | -25.8509636
-3| -169.575896 | -136.784348 | -103.992801 | -71.201254 | -38.409706 | -5.618158
-2{ -149.334418 | -116.542871 | -83.751323 | -50.959776 | -18.168229| 14.623319
-1]-129.092941| -96.301394| -63.509846 | -30.718298| 2.073249 | 34.864796
0| -108.851464 | -76.059916 | £43268368| -10.476821| 22314726 55.106274
1| -88.609986 | -55.818438 | /23.026891| 9.764657 | 42.556204| 75.347752
2| -68.368508 | -35.576961| ,-2.785413°| 30.006134| 62.797682| 95.589229
3| -48.127031| -15.335484| /17/4560p4 | 50.247611| 83.039159 | 115.830706
4| -27.885553| 4.905994 | 37.697542| 70.489089| 103.280636 | 136.072184
5| -7.644076 | 25.147472| 57.939019| 90.730566 | 123.522114 | 156.313661
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K
NUMMATRIX1.MCD INPUTS M OUTPUT = 1" NOVEMBER 13, 2001
¢ :=10.476821 G=-7.175706 h:=-26.976926 lo:=-32.791545 to:=-43.268366

mo :=-4.662199

e
re :=-12.550068 md :=15.579278 ms :=35.820755 mu :=56.062232
a:=-5.5 b:=-5.5 Ze:=1 l

B b =05 ((u=-3v-5w-a+3b+5e)c+(-u+v+w+a-b-e)G+(ut+v+w—a—b—-e)h)

mp :=-23.776602

u:=0 vi=0 wi=1

a,
Mn i=md

Ta,b '=(a-Mn) + Ba,b

2 -1 0 o 2o s
166.790482 | -133.998935 | -101.207387 | -68.41584 | -35.624292| -2.832745
-146.549005 | -113.757457 | -80.96591 | -48.174363| -15.382815| 17.408732
126.307527 | -93.51598 | -60.724433 | -27.932885| 4.858663 37.65021
-106.06605 | -73.274502| -40.482955| -7.691407 2510014 | 57.891687
-85.824573 | -53.033025| -20.241478 12.55007 | 45.341617 | 78.133165
-65.583005 ({;;}gggéygj%;a 0] 32.791547| 65.583095| 98.374642
-45.341617 | 7-12.65007] 20241478 | 53.033025| 85.824573| 118.61612
-25.10014 | /7691407 | 40482955 | 73.274502] 106.06605] 138.857597
-4.858663 | 27987885/| 60724433  93.51508 | 126.307527 | 159.099075
15.382815| 48.174363| 80.96591 | 113.757457 | 146.549005| 179.340553
35624292 | 68.41584 | 101.207387 | 133.998935| 166.790482 | 199.58203
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NUMMATRIX1.MCD

c:=10.476821

mp :=-23.776602

INPUTS M

G =-7.175706

re t=- 12.550068

h:=-26.976926

V:=0 W=

Ta’b =(a-Mn-to) + Ba’

1.

OUTPUT =T

" md:=15.579278

a.=-5.5

mo 1=-4.662199

ms :=35.820755

b .

JANUARY 1, 2002

lo :=-32.791545 l t0 :=-43.268366 &

b:=-5.5 [e:=0

200 : -1 . Qe " 1 L ; 2. s 3
-5| -166.790485 | -133.998938 | -101.20739 | -68.415842| -35.624295| -2.832747
-4| -146.549007 | -113.75746 | -80.965913 | -48.174365| -15.382818|  17.40873
-3| -126.30753| -93.515983| -60.724435| -27.932887 4.85866 | 37.650208
-2| -106.066052 | -73.274505| -40.482957 |  -7.69141| 25100137 57.891685
-1| -85.824575| -53.033028( -20.24148| 12.550067  45.341615| 78.133162
0| -65.583098| ;3279165 | -2.510-6| 32.791545| 65.583002|  98.37464
1| -4534162| /12850072 20.241475| 53.033023|  85.82457 | 118.616118
2| -25.100142| /7:691405| 40.482953 73.2745| 106.066048 | 138.857595
3| -4.858665| 27932883 | 60.72443| 93.515978| 126.307525 [ 159.099073
4| 15382813 | = 48.17436 | 80.965908 | 113.757455| 146.549002 | 179.34055
5| 3562429 68.415838| 101.207385 | 133.998932| 166.79048 | 199.582027
5/4¢. (Ap3)h
Ploweh
ezo with —to )¢
Somes a5 €=/ wid -t

mu :=56.062232

Ba b =05 ((u-3v-5w-a+3b+5e)c+(-u+v+wt+a—-b-—e)G+(u+v+w—a—b-e)h)

el w-}p,/m;//;‘ v -t “;}o/wwk



NUMMATRIX1 .MCD INPUTS M OUTPUT =T JANUARY 1, 2002
¢:=10.476821 G:=-7.175706 hi=-26.976926 mo :=-4.662199 lo :=-32.791545 M% \

mp :=-23.776602 re i=- 12.550068 md :=15.579278 ms :=35.820755 mu :=56.062232

u:=0 vi=0 w:i=1 a:=-5.5 b:i=-5.5 e:=1

‘B, =05 ((u=3v-5Sw-a+3bt5e)ct (-utvEwta-b-e)G+ (vt v+w—a-b-e)h)

P .

Ta’b '=(a-Mn- to) + Ba,b

-1

v PRI Fey T
5[ -123.522116 | -90.730569 | -57.939021| -25.147474|  7.644074 | 40.435621
4| -103.280639 | -70.489092 | -37.697544 | -4.905997 | 27.885551| 60.677098
-3| -83.039162| -50.247614| A17:456067 | 15.335481| 48.127029| 80.918576
-2| 62797684 | -30.006137| 2778541t | 35.576959| 68.368506( 101.160053
11| 42556207 9764659 | 231026888| 55818436 88.609983 | 121.401531
0| -22.314729| 10.476819| /43268368 | 76.059913| 108.851461 | 141.643009
1| -2.073251| 30.718296| 63509844 | 96.301391| 129.092939 | 161.884486
2] 18168226 | 50.959773| 83.751321| 116.542868 | 149.334416 | 182.125964 |
3| 38.409704| 71.201251| 103.992799 | 136.784346 | 169.575894 [ 202.367441
4| 58651181 91.442729| 124.234276 | 157.025824 | 189.817371 | 222.608918
5| 78.892658 | 111.684206 | 144.475753 | 177.267301| 210.058849 | 242.850396
1
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TABLE OF VALUES OF N*n”
N =4S, where S is the ratio of coulomb to gravitational force;
n =+ (au), where a is the fine structure constant and p is the ratio of baryon mass to electron mass.
All entries are log,, of c¢gs values.

n* n3 n? n' n n’ n’ n*

N* 76.457612 77.021149 77.5:%;()86 78.148223 79.275297 79.838834 80.402371 80.965908
N3 56.779672 57.343209 57.906746 58.470283 59.397357 60.160894 60.724431 61.287968
N? 37.101732 37.665269 38.228806 38.792343 39.919417 40.482954 41.046491 41.610028
N 17.423792 17.987329 18.550866 19114403 20;241477 20.805014 21.368551 21.932088
NO

N -21.932088 -21.368551 -20.805014 -20.241477 -19.114403 -18.550866 -17.987329 -17.423792
N? -41.610028 -41.046491 -40.482954 -39.919417 -38.792343 -38.228806 -37.665269 -37.101732
N+ -61.287968 -60.724431 -60.160894 -39.597357 -58.470283 -37.906746 -57.343209 -56.779672
N -80.965908 -80.402371 -79.838834 -79.275297 -78.148223 -77.54‘?8‘/686 -77.021149 -76.457612

April 30, 1999
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VG vs s

N = Yolpl
Nz Vs

! 5%25734 21?020877 2\1;}.75;4414 2\137157951 51?7‘111488 21?2:5025 2194?31:8562 2204/4072099 M A

M"’ 106.7794 |{ 197.342937 || 197.906474 }; 198.470011 199.033548 199.597085 200'160622 200.724159 i R

N’( 177.10146 || 177.664997 v178.228534 178.792071 179.355608 179.919145 180:482682 181.046219 20 2870 | 2

N? 157.42352 |1 1567.987057 |} 158.550594 || 159.114131 159'677668 160..241205 160.804742 161‘368279 o10007s ) T

»1 137.74558 || 138.309117 || 138.872654 || 139.436191 '139'999728 140.563265 || 141.126802 141'690339 e R

Nb 118.06764 || 118.631177 || 119.194714 }} 119.758251 120'321788 120.885325 |) 121.448862 122.012399 e

NS— 98.3897 98.953237 || 99.516774 10(5:086311 100.645848 101.207385 101-7'i0922 102'334459 122075890 | 12281

N‘( 78.71176 79.275297 || 79.838834 80.402371 80.965908 81'529445 82.092982 82.656519 [D07e0 ) TR

>} 59.03382 59.697357 )| 60.160894 60.724431 61'287968 61‘851505 62.415042 62.978579 e itk

N’ 39.35588 30919417 || 40.482954 41.046491 41.610028 42:173565 42..737102 43.300639 Saciiy S

N ' 19.67794 20.241477 || 20.805014 21.368551 21 .932088 22.495625 23.059162 23'622699 sl SasaciiAts

N 0 0.563537 1.127074 1.690611 2'254148 2.817685 3.381222 3. 944759 22 1802 et

: : . : 4.508296 5.071833
N“' -19.67794 || -19.114403 -18.550866 -17.987329 -17.423792 -16.860255 -16.296718 -15.733181 -15.169644 -14.606107
N\), -39.35588 -38.792343 -38.228806 -37.665269 -37.101732 -36.538195 -35.974658 -35.411121 -34.847584 -34.284047
NJ -59.03382 || -58.470283 || -57.906746|| -57.343209 | -56.779672 -56.216135 || -55.652598 || -55.089061 -54.525524 -53.961987
N-wﬁ -78.71176 || -78.148223 || -77.584686{| -77.021149 || -76.457612 -75.894075 || * -75.330538 || -74.767001 -74.203464 -73.639927
N‘a -98.3897 || -97.826163 || -97.262626|| -96.699089 || -96.135552 -95.572015 | -95.008478 || -94.444941 -93.881404 -93.317867
N-o -118.06764 || -117.504103 || -116.940566 || -116.377029 || -115.813492 -115.249955 || -114.686418 || -114.122881 || -113.559344 { | -112.995807
N:7 -137.74558 || -137.182043 || -136.618506 || -136.054969 |[ -135.491432 | | -134.927895 || -134.364358 || -133.800821 {{ -133.237284 || -132.673747
“) Y| -157.42352 || -156.859983 | -156.296446 || -155.732909 -155.169372 -154.605835 || -154.042298 || -153.478761 || -152.915224 || -152.351687
N*? -177.10146 || -176.537923 || -175.974386 || -175.410849 || -174.847312 -174.283775 {| -173.720238 || -173.156701 || -172.593164 || -172.029627
| _-196.7794 || -196.215863 || -195.652326 || -195.088789 | -194.525252 | | -193.961715 || -193.398178 || -192.834641 || -192.271104 || -191.707567
J)!'| -216.45734 || -215.893803 | -215.330266 || -214.766720 || -214.203192 | | -213.639655 || -213.076118 || -212.512581 || -211.949044 | -211.385507
[ -236.13528 || -235.571743 || -235.008206 | -234 444669 |[ 233.881132 | | -233.317595 || -232.754058 || -232.190521 || -231.626984 | | -231.063447




PLNK2BN6.WPD MAY 5, 1999
TABLE OF VALUES OF N* p¥
N =S, where S is the ratio of coulomb to gravitational force;
and p is the ratio of baryon mass to electron mass.
All entries are log,, of cgs values.
- -2 - 2 3
p u ! u o L W
N* 68.920033 72.183942 75.447851 81.975669 85.239578 88.503487
N 49.242093 52.506002 55.769911 62.297729 65.561638 68.825547
N? 29.564153 32.828062 36.091971 42.689789 45.883698 49.147607
N 9.886213 13.150122 16414031 22.941849 26.205758 29.469667
NO
N -29.469667 -26.205758 -22.941849 -16.414031 -13.150122 -9.886213
N? -49.147607 -45.883698 -42.689789 -36.091971 -32.828062 -29.564153
N -68.825547 -65.561638 -62.297729 -55.769911 -52.506002 -49.242093
N -88.503487 -85.239578 -81.975669 -75.447851 -72.183942. -68.920033




STARFRM1.WPD

APRIL 23, 2000

STAR FRAMES PART I

THE SCHWARZSCHILD FRAME

The values in these tables are the positions allowed for neutron stars .

TABLE I [values are log;,]

maximum mean minimum
MASS apS m, =35.820755 | S m, =34.693681 (S/ap) m,=33.566607
RADIUS apS1, = 7.691409 |[S1, = 6.564335 (S/ap) 1, = 5.437261

M" = max mass, M~ = mean mass, M. = min mass
R = max radius, R~ = mean radius, R. = min radius
m,/1,=c*/G=28.129346; m_]=h/c=-37.453745; S’h/c=41.258015

TABLE II

M'/R" =m,/l, = ¢/G = 28.129346

MR = (ap)? S?h/c =2.254148 S*h/c

on Schwarzschild bound

= 80.965908 h/c = 43.512163

M'/R~=op my/l,= 1.127074 c*/G

MR~= op S?h/c=1.127074 S*h/c

in 2" quadrant, = 29.256420

=79.838835 h/c = 42.385090

M'/R. = (ap)* m/1, = 2.254148 ¢*/G

MR, = Sh/c=1 S*h/c

in 2" quadrant, = 30.383495

=78.711760 h/c = 41.258015

M~/R" = (au)* m/l, = - 1.127074 ¢*/G

M~R"= au S*h/c =1.127074 S*h/c

in 1* quadrant, = 27.002272

=79.838835 h/c = 42.385090

M~/R~ = m/l, = /G = 28.129346

M~R~ = S?h/c=1 S*h/c

on Schwarzschild bound

=78.711760 h/c = 41.258015

M~/R.= ap m/l,= 1.127074 ¢*/G

M~R. = (op)* S?h/c=-1.127074 S*h/c

in 2™ quadrant, = 29.256420

= 77.584687 h/c = 40.130942

MJ/R" = (ap)?m/l, = -2.254148 */G

MR = S?hic=1S%h/c

in 1 quadrant, = 25.875198

=78.711760 h/c = 41.258015

M./R~= (ap)* m/l, =-1.127074 /G

MR~= (ap)* S*h/c=-1.127074 S*h/c

in 1% quadrant, = 27.002272

=77.584687 h/c = 40.130942

M./R. = m/l, = c*/G = 28.129346

M.R.= (ap)? S*h/c =-2.254148 S*h/c

on Schwarzschild bound

=76.457612 h/c = 39.003867




STARFRM2.WPD

APRIL 23, 2000

STAR FRAMES PARTII

THE MAIN SEQUENCE FRAME

The values in these tables are the positions allowed for normal stars .

TABLE I [values are log;,] [a® =-4.273670]
maximum mean minimum
MASS auS m, = 35.820755 Sm,=34.693681 | (S/op) m=33.566607
RADIUS | (opuS)1 /o> =11.965079 | S1/o* =10.838005 | (S/ap)l/a*= 9.710331

M" = max mass, M~ = mean mass, M, = min mass
2 2
* . . . .
R’ = max radius, R~ = mean radius, R. = min radius

o m,/l = a? c*/G=23.855676; m,] /o =h/ca’
TABLE I1

-33.180075; S*h/ca® = 45.531685

M'/R" = a?m,/l, = o? ¢¥/G = 23.855676

M'R" = (ap)? S* h/ca® = 2.254148 S h/co

on the o bound

80.965909 h /ca* = 47.785834

M/R~=a? ap m/l, = 1.127074 o* ¢*/G

MR~ = au S?*b/co® = 1.127074 S*h/ca?

above o bound = 24.982750

=79.838835 h/ca’ = 46.658759

M'/R. = o* (ap)* m,/l, = 2.254148 o? ¢/G

M'R. S%h/ca® =1 S? h/ca?

above o bound = 25.728602

=78.711760 h/ca” = 45.531685

M~R"=d&* (ap)* m/l, =-1.127074 «* ¢*/G

M~R" = ou S?h/ca? =1.127074 S*h/ca?

below o bound =22.728602

=79.838835 h/ca® = 46.658759

M~/R~= o’ m/l,= o ¢*/G=23.855676

M~R~ S?h/co? =1 S? h/ca?

on the o? bound

=178.711760 h/ca” = 45.531685

M~/R. =a’ap m/l,= 1.127074 o*c*/G

M~R. = (op)* S*h/ca? = - 1.127074 S* h/co?

above o bound = 24982750

=77.584687 h/ca” = 44.404611

MJ/R’ = o (ap)? my/l, = - 2.254148 o2 H/G

MR = S?h/ca? =1 S?h/ea?

below o bound = 21.601528

=78.711760 h/ca® = 45.531685

M./R~=0o? (ap)’ m/l,=-1.127074 o® /G

M.R~= (ap)? S?h/ca® = - 1.127074 S? h/ca?

below a2 bound = 22728602

=77.584687 h/ca’ = 44.404611

M./R.= o?myl, = a? /G = 23.855676

M.R. = (ap)? S* h/ca® = - 2.254148 S$* h/ca?

on the a* bound

= 76.457612 h/ca® = 43.277537




STARFRM3.WPD APRIL 23, 2000
STAR FRAMES PART III

THE SUN
The values in these tables are the observed and frame positions for the sun.

TABLE 1 [values are log,]

SOLAR Observed Frame Frame Value
MASS 1 33.298657 g (S/ap) m, 33.566607 g
MASS 2 33.298657 ¢ (S/ap) a¥* m, 33.299503 g
RADIUS 1 10.842302 cm (apS/o) 1, 11.965079 cm
RADIUS 2 10.842302 cm (S/a?) 1, 10.838005 cm

A Frame Mass 1 - Frame Mass 2 = 0.267104 = ¢/
A Frame Mass 1 - Observed Solar Mass = 0.267950
A Frame Mass 2 - Observed Solar Mass = 0.000846 ~ antilog 1.0018 or 2 parts per thousand

A Frame Radius 1 - Frame Radius 2 = 1.127074 = ap
A Frame Radius 1 - Observed Solar Radius = 1.122777
A Frame Radius 2 - Observed Solar Radius = 0.004297 ~ antilog 1.009 or 9 parts per thousand

We conclude the Solar Mass = (S/ap) a'® m, and the Solar Radius = (ap)"/a? (auS) 1,
conforming to (S/ap)”m, for mass and (auS)*1, for size.

TABLE II
Observed Solar Frame Value {2)
M/R =22.456355 . M/R =22.461498
MR = 44.140959 MR =44.137508

The o boundary = o m,/l,.= o ¢/G=23.855676;, S*h/ca® = 45.531685

Observed differences:
A Solar M/R and o boundary = log;,(1.399321) or 25.079623
A Solar MR and $>h/co®> = log;,(1.390726) or 24.588158

The mean density of the sun is: /[ MA2
p = log,,(0.149662) g/cm® or 1.411 g/cm®

The mass of the sun is given exactly by:
M=1+(au)™ Sm,=1+32.298648 = 33.298648

probably a numerical coincidence.
§urely




STARFRM4.WPD

All values are log,, values.

STAR FRAMES PARTIV
FRAME DENSITIES

Densities are given as M/R?;

APRIL 25, 2000

To convert to Mass/spherical Volume, subtract 0.622089; [M/R® —0.622089 = M/V]
Density of the Planck particle: m /1.* = ¢’/hG* = 93.712439 g/cm’

Density of a proton: m /r.° = 13.873602 g/cm’

NEUTRON STARS M’ M-~ M.
R’ 12.746528 SL 11.619454 1Q 10.492380 1Q
R~ 16.127747 2Q 15.000673 SL
R. 19.508972 2Q 18.381898 2Q 17.254824 SL

SL = on the Schwarzschild bound,

1Q =in first quadrant;

2Q = in second quadrant

Note: The M./R~* density is identical with that of the proton. This suggests that the proper
equations for mass and radius of a neutron star are (S/0¢j.)m, and S 1, respectively.

[However, the proton uses ([1/S)*> m, and (0ttS)"? 1, respectively.]
1

“a*“ STARS M’ M~ M.
R -0.074482 ON -1.201556 B -2.328630 B
R~ 3306740 A 2.179666 ON (
R. 6.689762 A 5.562688 A 4.535077 ON

ON = on the & bound,

A = above the &*> bound;

B = below the a2 bound

Note: For the sun M/R?=0.771751, which differs from M./R~’ by a factor of about 2.

The solar M/V = 0.149662 or antilog 1.411 g/cm?

UNIVERSE M’ M~ M.
R’ - 27.736426 -29427037 X -31.117648 X
R~ -22.664593 C -24.355204 C -26.045815 C
R. -17.592760 C -19.283371 C -20.973982 C

In an homogeneous isotropic model, the critical density is p, = 3H, /8T G. If the present density

is p,and Q, = p./p., then the universe will expand forever if , <1 or will collapse if Q, >1.

Taking H, as 71.977 km/s/mpc, [T, = 17.456065], p,=-27.736426 g/cm® = p, if the mass of

the universe is given by M" and the radius by R”. In the above table X means if this is p,, the

universe will expand forever, and C means with this value of p, the universe will collapse. If the
present density = the critical density [£2,=1], then the universe is stable.( ne, 4, s/¢n iy 2w SHeedmy |

For am Ermste m~ Do Sitler ﬁdojf'/ +h
; h L1z -
w 7L D OIM /\ ’@/

o vmiverse jo Plat



COSMFRM1.WPD APRIL 28, 2000
COSMIC FRAME PARTI1

THE HUBBLE UNIVERSE FRAME The values in these tables are the allowed positions.

TABLE I [values are log,,] [o” =-4.273670]

maximum mean minimum

MASS (OpS)*? m=56.062232 | $*>'m, = 54371621 | (S/ctj)** m,= 52.681010

RADIUS | (apS)*> 1,=27.932886 | S*?1, =26.242275 | (S/otp)®?1, =24.551664

TIME (apS)*? t,=17.456065 | S3*t,=15.765454 | (S/ap)*?t, = 14.074843
M’ = max mass, M~ = mean mass, M. = min mass '

R” = max radius, R~ = mean radius, R. = min radius

TABLEN  [S®m,], = 80.613896 ]

M/R*=my/l,= ¢%/G = 28.129346 , MR = (ap)’ $* m ), = (aph)® S*h/c =
on the Schwarzschild bound = 83.995118
M/R~= (0pt)*? my/l, = 29.819957 MR~= (ap)*? S® m,l, =82.304507

in the second quadrant

M'/R. = (ap)’ m/1, = 31.510568 MR.= §$*m,],=80.613896

in the second quadrant

M~/R" = (0u)>? m,/l, = 26.438735 M~R"= (ap)*? S* m,, =82.304507
M o P

in the first quadrant
M~/R~= m/l,= ¢%/G = 28.129346 M~R~= §*m], =80.613896

on the Schwarzschild bound

M~/R. = (eep)** m /1, = 29.819957 M~R.= (op)** §* m]], =78.923285

in the second quadrant

an| \
M./R~= (otp)* my/l, = 26.438735 MR~= (ap)>?S*m,], = 78.923285
in the first quadrant
M./R.= m/l,= ¢¥G=28.129346 MR.= (op)®S® m], =77.232674
on the Schwarzschild bound
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TIMTABL1.WPD

~VOCTOBER'6,'2001 :

TIME TABLE I MAXIMUM /
' AN = @M«SJV’) AR = é;{]vt S’JV}

VALUES

t=R/c AT) T=GM/c’ A(T,7) T =(Gp)™? AT, 1)
PLANCK -43.268366 0 -43.268366 0 -43.268366 0
A(PL,B) (apuS)"” (S/ap)™” (ap)"” S
BARYON —23.026889 S —62.382770 ¢ S 32 @;348949 S'?
A(B,D) 0 S Sl
DARK —23.026889 0 —23.026893 v 0 —23.026887 v 0
A(D,¥) (aps)"” (auS)"? (auS)"”
STAR —2.785412 0 2785412 0 -2.785412 v 0
A(*U) (aps)"” (apS)'” (apS)"”
UNIVERSE +17.456065 0 +17.456065 0 +17.456065 0
A(UK) (asS)"? (apS)"” (apS)"”
KOSMOS +37.697542 0 +37.697542 0 | 437697542 0

19.114404 = (S/oy) "

39.355881 =8

19.677940 = S

39.919417 = (ap)"*S

20.241477 = (apS)"?

59.033821= §°*/?




TIMTABL2.WPD" OCTOBER 6, 2001
TIME TABLE 1II MEAN VALUES
/
Al=§h 5 AR S Vs
t=R/c A1) T=GM/c’ A(T,7) 1= (Gp)™" AT,t)
PLANCK -43.268366 0 -43.268366 0 -43.268366 0
A(PL,B) (aps)'” (S/ap)"” (a)'”s
BARYON —23.026889 S —62.382770 g 3/2 —3.348949 Sl
A(B,D) (ap)'™? S /(o)™ (apS)"”?
DARK -23.590427 0 -23.590427 0 -23.590427 0
A(D *) s1/2 SI/2 Sl/2
STAR -3.912486 0 —3.912486 0 -3.912486 0
A(* U) Sl/2 Sl/2 S1/2
UNIVERSE +15.765454 0 +15.765454 0 +15.765454 0
A(U K) SI/Z S1/2 Sl/2
KOSMOS +35.443394 0 +35.443394 0 +35.443394 0

119.114404 = (S/ap) ™

39.355881 =S

0.563537 = (o)

19.677940 = S 20.241477 = (apS)"?

39.919417= (ow)2 S 59.033821= S 32

38.792043 =S/ (ap)




TIMTABL3.WPD_ __ OCTOBER6,2001
TIME TABLE III MINIMUM VALUES
An = () AR =(5mn) %
t=R/ec A1) T=GM/c’ A(T,7) 1= (Gp)™? AT,1)
PLANCK -43.268366 0 -43.268366 0 -43.268366 0
A(PL,B) (apS)"” (S/ap)"” (ap)"” S
BARYON ~23.026889 S —62.382770 S 3 —3.348949 S
A(B,D) oL S/ (o) op S
DARK —24.153963 0 ~24.153963 0 ~24.153963 0
A(D,*) (S/oy)'” (S/op)'” (S/ap)"”
STAR ~5.039560 0 ~5.039560 0 ~5.039560 0
A(*,U) (S/ap)"” (S/ap)"” (S/ap)"?
UNIVERSE +14.074843 0 +14.074843 0 +14.074843 0
A(UK) (S/op)™ (S/ap)'? (Slap)'?
KOSMOS +33.189246 0 +33.189246 0 +33.189246 0
19.114404 = (S/ap)"? 19.677940= S 20.241477 = (ap.S)"2

39.355881 =8

1.127074 = op

39.919417 = (ap)*S

38.228807 = S / (cip)

59.033821 = S /2

20.805014 = ap S'?

£



TIMTABL4.WPD _ . OCTOBERS,2001
TIME TABLE IV MIXED VALUES
AM = (S/ap) *; AR = (opS)
t=R/c A1) T=GM/c’ A(T,7) T =(Gp)™? AT,b)
PLANCK -43.268366 0 -43.268366 0 -43.268366 0
A(PL,B) (apS)"” (S/ap)'” (ap)'” S
BARYON —23.026889 S ~62.382770 S 32 —3.348949 St
A(B,D) 0 S/ (ap) (S/aup)'?
DARK -23.026889 o —24.153963 (op)*? -22.463352 (o)
A(D,) (apS)" (S/o)” ap S
STAR —2.785412 (op)? -5.039560 (ap)? —1.658338 o
A(*U) (apuS)"” (S/ap)™” ap S
UNIVERSE +17.456065 (op)’ +14.074843 (oep)™? +19.146677 (o)™
A(UK) (apS)"? (Slo)'” op S
KOSMOS +37.697542 (ap)* +33.189246 (o)’ +39.951691 (oap)?

19.114404 = (S/opw)"

39.355881 =8

1.127074 = op

19.677940 = S

39.919417 = (ap)? S

38.228807 =S / (o)

20.241477 = (apS)"2

59.033821= S °*'?

20.805014 = ap S'?




FUNDAMENTAL
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FUNDAMENTAL CONSTANTS TABLES

o :=~-2.136834640

1t =3.263908796 a :=0.140884268 = \S/ow

s '=39.355880203
n:=1,2.20 f(a) :=na m =21,22..40 g(a) =ma
n f(a) m g(a)
Z 0.140884268] /'y [21] 2.958569628
2 0.281768536 22| 3.099453896
5] 0.422652804 23] 3.240338164 A
4 | 0.563537072|:\ 24|~ 3381222432 i)’
S 0.70442134 25 135221067
51 (0845305608 6] 3.662990968
7] 0.986189876 27 3.803875236
8| [1.127074144]zqp  |28] 3.944759504
N 1.267958412 E 4.085643772
_'1_(7 1.40884268 30] 4.22652804
1] 1.549726948 2 B1 4.367412308
12] 1.690611216|* @)™ 32| 4.508296576
13 1.831495484 33 4.649180844
14 1.972379752 34] 4790065112
15 2.11326402 35] 4.93094938
16| 2254148288\t [36] 5.071833648|
17 2.395032556 37] 5212717916
18] 2.535916824 38] 5.353602184
19| 2676801092 39) 5.494236452
E 2.81768536 0] [5.63537072

§7¢ 258

'

dpes )i 12707y

<5

NYpggy



a = 1.127074
ni=1,2..18

f(n) =2
n

f(n) =

1.127074

0.563537

0.375691333

0.2817685

0.2254148

0.187845667

0.161010571

0.14088425

0.125230444

0.1127074

0.102461273

0.093922833

0.086698

0.080505286

0.075138267

aAlajalajala
afblwiNv-~|Oojw|lo|N]jOlOB]W] N

0.070442125

0.066298471

0.062615222

T KM

=]
I}

16
17
18

m:=16,17..30

f(m) =

0.070442125

0.066298471

0.062615222

0.069319684

0.0563537

0.05367019

0.051230636

0.049003217

0.046961417

0.04508296

0.043349

0.041743481

0.040252643

0.038864621

0.037569133

m=
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30




FUNDAMENTAL CONSTANTS TABLES o

o :=-2.136834640 32
o
—_ = - X
§=3.263908796 35 0.066776083 \/—/

sz 3(’1‘.355880203'

b= d “=-3lH525%
32 |
n:=1,2.20 {(b) =nb m:=21,22..40 g(b) =m'b
n f(b) m ~g(b)
1] 0066776083 21 -1.402297733
2 -0.133552165 22 1469073815
3|  [0.200328248 23| ~1.535849897
4] 7026710433 | Jls  [24] "1.60262598
5] -0.333880413 251 -1.669402063|
6| ~0.400656495 126 T1.736178145
7] ~0.467432578 27 - 1.802954227
g1 (7053420866 | o [8| - [[186973031
9 ~0.600984743 2] ~1.936506393
10 -0.667760825 30| 2.003282475
114 ~0.734536908 S_T ~2.070058557
12 0.80131299 32 213683464 | = o
13 -0.868089073| 33] -2.203610723
14 -0.934865155 34 ~2.270386805
15| 71.001641237 35 ~2.337162887
16] -1.06841732 |y [36] ~2.40393897
17] - 1.135193403 37 ~2.470715053
13 T1.201969485 38 ~2.537491135
19) 1.268745567 39 -2.604267217
20 -1.33552165 E 26710433




a = 4273670
n:=1,2.18

f(n) = 2
n

f(n) =

4.27367

2.136835

1.424556667

1.0684175

0.854734

0.712278333

0.6105624286

0.53420875

0.474852222

0.427367

0.388515455

0.356139167

0.328743846

0.305262143

0.284911333

0.267104375

0.251392353

0.237426111

-

- o

=]
I

alalalafa
HIWIN] A0 RO|[ NN WIN] =

15

=
()]

17
18

|

m:=16,17.. 33

f(m) =

0.267104375

0.251392353

0.237426111

0.22493

0.2136835

0.203508095

0.194257727

0.185811739

0.178069583

0.1709468

. 10.164371923

0.158284074

0.152631071

0.147367931

0.142455667

0.137860323

0.133552187

0.129505152

[\)_\_\._\_AB
olo]jo|N|O| 4y

21
22
23
24
25
26
27
28
29
30
31
32
33




FUNDAMENTAL CONSTANTS TABLES

o :=-2.136834640

m =17,18..32 g(c) =mc

Z
L =3.263908796 ¢ ::_T“g PR /
s :=39.355880203 o = 0.2039943

n:=}1,2.16 f(¢) :=nc
n f(c) m
1] 0.2039943 17]
2 | 0.407988599 18]
3 0.611982899 19]
4| 0.815977199] - 20}
5 | 1.019971499 21]
6 1.223965799 22]
7 1427960098 23]
8 | 1.631954398| \(x 24]
9 1.835948698 25
10 2.039942997 26]
11] 2.243937297 27]
12| 2.447931597 28
13 2.651925897 29
14 2.855920197 30
15| [3.059914496 31]
16 3.263908796] = 1, 32

g(c)

3.467903096

3.671897395

3.875891695

4.079885995

4.283880295

4.487874595

4.691868894

- 14.895863194

5.099857494

5.303851793

5.507846093

5.711840393

5.915834693

6.119828992

6.323823292

6.527817592

M

34,



FUNDAMENTAL CONSTANTS TABLES —gt_

o =-2.136834640

' 5
it :=3.263908796 p-0=5400743436 =
s:239.355880203  d ::“3‘2"‘ d=0.168773232

n:=1,2.16  f(d) =nd m=17,18.32  g(d) =md
n f(d) m g(d)

| 0.168773232 @@‘/’*’ 17] 2.86914495

2 0.337546465 18 3.037918183

3] 0.506319697 19  {3.206691415

E 0.675092929| Y, E 3.375464647

5 0.843866162 21 3.54423788

6 | 1.012639394 22] 3713011112

71 1.181412627 23] 3.881784345

3] 1350185859| 4y [24] 3/y  [#.050557577

EN 1518959091 25| 4.219330809

0] 1.687732324] 3/14 26] 4388104042

11| 1.856505556 7] 4.556877274

z 2.025278789] Y, 28] 47725650507

13 2.194052021 29 4.894423739

4] 2.362825253 30| 5.063196971

15 2.531598486 31| 5231970204

E [E700371718 *\E 5 5400743436 = 4

5564516



n:=1,2.30

a = 8.728032

f(n) :=na

f(n) =
8.728032
17.456064
26.184096
34.912128
43.64016
52.368192
61.096224
69.824256
78.552288
87.28032
96.008352
104.736384
113.464416
122.192448
130.92048
139.648512
148.376544
157.104576

TABLE OF HARMONICS AND SUBHARMONICS

OF Tu
r:=16,17. 40
h(r) =ra
n= h(r) = Tr=
1] 139.648512 @
[ 2] 148.376544 | (17
3 157.104576| |18
4 165.832608| |19
B 174.56064| |20
| 6| 183.288672 @1_
7 192.016704| |22
8 200.744736 EaJ
9 200.472768 @
10 218.2008| |25
1 026.928832| |26
12 235 656864 E
13 244384896 |28]
14 253112028 |29
15 261.84096| |30
16 270.568992| |31
17 279.297024| (32
18] 288.025056 @

i) ==
n

j(n) =

8.728032

4.364016

2.809344

2.182008

1.7456064

1.454672

1.246861714

1.091004

0.969781333

0.8728032

0.793457455

0.727336

0.671387077

0.623430857

0.5818688

0.545502

0.513413647

0.484890667

B
n

[3]3[5[2[8[8[2]3l0lo| o] s[w|w] -]

-
o

l




. Table of harmonics of to

n:=1,2.30 T,- “432653¢6 4oc
a = 10.8170915 m:=16,17..30
f(n) :=n-a g(m) =ma
f(n) = n= g(m) = =
10.8170915 1] 173.073464 16 ]
21.634183 2] 183.8905555 17|
32.4512745 3] 194.707647 18]
43.268366 4| D05.5247385 19|
54.0854575 [ 5] 216.34183 20
64.902549 [ 6] p27.1589215 21 ]
75.7196405 [ 7] 237.976013 22
86.536732 B D48.7931045 23]
97.3538235 B 250610196 A
108.170915 10 ] D70.4272875 25 ]
118.0880065 11 | 281.244379 26|
129.805098 12 ] D92.0614705 27|
140.6221895 13| 302.878562 28 |
151.439281 14| 313.6956535 29 |
162.2563725 15 324.512745 30|
173.073464 16 |
. 183.8905555 17
194.707647 E




]
(hus)
2:=10.120739

ni=1,2.72

E\d

PARY] w\—

o\

54J

%

(R R

A(n) ==n-a
A(n) =
10.120739
20.241478
30.362217
40.482956
50.603695
60.724434
70.845173
80.965912
91.086651
101.20739
111.328129
121.448868
131.569607
141.690346
151.811085
161.931824

172.052563
182.173302
192.294041

202.41478

.,

V=
oM -
b :=19.114403
m:=1,2.72
B(m) :=m'b
B(m) =

19.114403
38.228806
57.343209
» [ 76.457612
95.572015
3| 114.686418
133.800821
4 152.915224
qy| 172.029627
191.14403

~ O\~

| 229.372836
248.487239
267.601642
286.716045
305.830448
324.944851
344.059254
363.173657

382.28806

1

L=

210.258433 |-

X

N

o

Lows}%*

$:=20,21.. 40
C(s) i=sa
C(s)=

202.41478

212.535519

222.656258

232.776997

242.897736

253.018475

263.139214

273.259953

283.380692

293.501431

303.62217

313.742009

323.863648

333.984387

344.105126

354.225865

364.346604

374.467343

384.588082

394.708821

s

je

S

X[
t:=20,21.. 40
D(t) =t b
D(t) =

382.28806

401.402463

420.516866

439.631269

458.745672

477.860075

496.974478

516.088881

535.203284

554.317687

573.43208

592.546493

611.660896

630.775299

649.889702

669.004105

688.118508

707.232911

726.347314

745.461717

y




a:=35820755 = AmSom,
b:=33.298657 = Mg,
d:=0.1408843 = (A1) /%
n:=0,1.20
f(n)=a-nd g(n):=f(n)-b
f(n) = g(n) =
35.820755 2.522098
35.6798707 2.3812137
35.5380864 2.2403294
35.3981021 2.0994451
352572178 1.9585608
35.1163335 1.8176765
34.9754492 1.6767922
34.8345649 1.5359079
34.6936806 1.3950236
34.5527963 1.2541393
34.411912 1.113255
34.2710277 0.9723707
34.1301434 0.8314864
33.9892591 0.6906021
33.8483748 0.5497178
33.7074905 0.4088335
33.5666062 0.2679492
33.4257219 0.1270649
m:=16,17. 40
f(m) = g(m) =
33.5666062 0.2679492
33.4257219 0.1270649
33.2848376 - |-0.0138194
33.1439533 -0.1547037
33.003069 -0.295588
32.8621847 -0.4364723
32.7213004 -0.5773566
32.5804161 -0.7182409
32.4395318 -0.8591252
32.2086475 -1.0000095
32.1577632 -1.1408938
32.0168789 -1.2817781
31.8759946 -1.4226624
31.7351103 -1.5635467
31.504226 -1.704431
31.4533417 -1.8453153
31.3124574 -1.9861996

{h7m)

0

]

h(n) := 105 im) =nd
h(n) = @)=
332.734627503 0
40.554618775 0.1408843
173.911940119 0.2817686
125.731790435 0.4226529

90.899354669 0.5635372
65.716813946 0.7044215
47.510784329 0.8453058
34.348509795 0.9861901
24.832680449 1.1270744
17.953093802 1.2679587
12.979411454 1.408843
9.383626218 15497273
6.784008759 1.6906116
4.90458313 1.8314959
3.545829101 1.9723802
2.563501052 21132645
1.853314826 22541488
1.339876901 2.3950331

h(m) = i

1.853314826
1.339876901
0.968680595

0.70031963
0.506304748
0.366039286
0.264632634

0.19131944
0.138316758
0.099997813
0.072294657
0.052266317
0.037786581
0.027318277
0.019750086

0.01427857
0.010322869

I127

o, G
|z
()

2 Ku”
2% =

N




;' a'= 35820755 = MAX T XMTF m,
b:=33.298657 =M©
d:=01408843 = (w0
n:=0,1.20
f(n) =a-nd gn)=f(n)-b

Cxprrsd o ‘“ﬁ f(n) = MASSS g(n) =
A Smo 1] 35:820755 2.522098
%/ [35.6798707 23812137
3/, |35.56389864 22403294
35.3981021 2.0994451
1 [35.2572178 1.9585608
35.1163335 1.8176765
Yy [34.9754492 1.6767922
34.8345649 1.5350079
S, = |34.6936806 1.3950236
34.5527963 1.2541393
1 | 34.411912 1.113255
34.2710277 0.9723707
-+ [34.1301434 0.8314864
33.9892591 0.6906021

. -3, [33.8483748 0.5497178

33.7074905 0.4088335
Cxa™ -y, —~1]33.5666062 0.2679492| @
33.4257219 0.1270649
m:=16,17.. 40
f(m) = g(m)=
(o m, —1 [33.5666062 0.2679492
~4, [33.4257219 0.1270649
-3/, [33.2848376 -0.0138194
< [33.1439533 -0.1547037
33.003069 -0.295588
32.8621847 -0.4364723
32.7213004 ~0.5773566
32.5804161 [0.7182409
32.4395318 -0.8591252
32.2986475 -1.0000095
32.1577632 1.1408938
32.0168789 1.2817781
31.8759946 -1.4226624
31.7351103 -1.5635467

' 31.594226 -1.704431
31.4533417 1.8453153
31.3124574 -1.9861996

ALl log,

=]
il

FEEEERER Ll

SEEEEEEEEENEEEEEEE

@/u) i Sma

h(n) := 108®

h(n) = So LAR MASSES
332.734627503
240.554618775
173.911940119
125.731790435
90.899354669
65.716813946
47.510784329
34.348509795
24.832680449
17.953093802
12.979411454
9.383626218
6.784008759
4.90458313
3.545829101
2.563501052
1.853314826
1.339876901

h(m) =
1.853314826
1.339876901
0.968680595
0.70031863
0.506304748
0.366039286
0.264632634
0.19131944
0.138316758] ~ o
0.099997813
0.072294657
0.052266317
0.037786581
0.027318277
0.019750086
0.01427857
0.010322869

~ =




MASS




c:=10.476819225
G 1=-7.175705560
h:=-26.976926492

n:=-1

Y :=3¢c-G

U :=0.5-(-c4+G—h+2M)

P

-1.2809784

FUNDAMENTAL CONSTANTS MASS

p:i=-6.6

Y = 38.6061632

T . =05pU+05qV+W

-11.4017164

mo :=-4.662200853
lo 1=-32.791544864
to 1=-43.268364089

V:=05.(3:c= G- h+2R)

Zp:q =Y + TP,

-21.5224544

o

am = 1.127074156

$ 1239355877804
B1:=0.5-(am + S)
qi=-6.6 [k =T ) Mi=kAl+mo Ri=kBl+lo

52361
M ="14:452301

-31.6431924

re 1=-12.550068116
mb :=-23.776601910
Al:=0.5-(am— S)

R=-530330208

W:=0.5-(-5-c+G+h)

4 QPSK‘/OU

-41.7639303

-51.8846683

8.2762225| -1.8445155| -11.9652535| -22.0859914 | -32.2067294 | -42.3274674
17.8334234 7.7126854 | -2.4080525| -12.5287905( -22.6495285| -32.7702665
27.3906244 | 17.2698864 7.1491484| -2.9715806( -13.00923276 | -23.2130656
36.9478253 | 26.8270873 | 16.7063493 6.56856113 | -3.56351267| -13.6558647
46.5050262 | 36.3842882 | 26.2635502| 16.1428122 6.0220742| -4.0986638
56.0622271| 45.9414891| 35.8207511 | 25.7000131| 15.5792751 5.4585371

65.619428 55.49869 45.377952 35.257214 25.136476 15.015738
75.1766289 | ©65.0558900 | 54.9351529 | 44.8144149 34.693677 24.572939
84.7338298 | 74.6130918 | 64.4923538| 54.3716159| 44.2508779| 34.1301399
942910307 | 84.1702927 | 74.0495548 | 63.9288168 | 53.8080788| 43.6873408

103.8482316 | ©3.7274937 | 83.6067557 | 73.4860177 | 63.3652797 | 53.2445417
113.4054326 | 103.2846946 | 93.1630566 | 83.0432186| 72.9224806| 62.8017426
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¢:=10.476819225
G:=-7.175705560
h:=-26.976926492
pi=-6.6

n:=-1

Y =3¢-G

U:=05(G-c+G-h+2-M)

P>

PLANCIK PARTICLE

FUNDAMENTAL CONSTANTS MASS

mo 1=-4.662200853
lo :=-32.791544864
to i=-43.268364089
q:=-6..6

Y = 38.6061632

T =05pU+05qV+W  Z

-4.6622009

>

-4.6622009

M = -4.6622009

q =Y+ Tp,q

-4.6622009

am :=1.127074156 re 1=-12.550068116
S:=39.355877804 mb :=-23.776601910
B}r:=0.5-(am+ S) A i=0.5(am~ S)
: <
k:=0

M=kl +mo R:i=kBl+lo
1§ T

V:i=0.5(3¢c~-G~-h+2R)

%

-4.6622009

R =-32.7915449

W:=0.5(-5¢c+G+h)

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009

-4.6622009




BAR YOIV ]

— 3

FUNDAMENTAL CONSTANTS MASS M =

—

=
G~
re :=-12.550068116
S:=39.355877804 mb :=-23.776601910
B1:=0.5-(am+8) AT :=0.5-(am~ S)
k:gl M:=k-é;1'+mo I;{\:=k~’BJT+Io
& ‘e

mo :=-4.662200853 am :=1.127074156
lo :=-32.791544864
to 1=-43.268364089

q:=-6..6

¢:=10.476819225
G :=-7.175705560
h1=-26.976926492

n:=-1 p:=-6.6

N

Y =3¢c-G Y = 38.6061632 M = -23.7766027 R =-12.5500689

U:i=05(-c+G-h4+2-M)

V:i=053¢c-G~-h+2R)

pq::Y+Tp,q 2

W:=0.5-(-5-c+G+h)

T =05pU+05qVeW  Z

s >

-8.0434233 2.0773147 12.1980527 | 22.3187906 | 32.4395286 .
-17.6006242 -7.4798862 2.6408517 12.7615897 | 22.8823277
-27.1578251| -17.0370872 -6.9163492 3.2043888 13.3251268
-36.7150261 | -26.5942881| -16.4735501 -6.3528121 3.7679259

-46.272227 -36.151489 -26.030751 -15.910013 -5.789275
-55.8204279 | -45.7086899 -35.5879519| -25.4672138| -15.3464759
-65.3866288 | -55.2658908 ( -45.1451528 | -35.0244148 | -24.9036768
-74.9438297 | -64.8230017 | -54.7023537 | -44.5816167 | -34.4608777
-84.5010306 | -74.3802926 | -64.2595546 | -54.1388166 | -44.0180787
-94.0582315| -83.9374935| -73.8167555| -63.6960176| -53.5752796
103.6154324 | -093.4946944 | -83.3739565| -73.2532185| -63.1324805
113.1726334 | -103.0518954 | -92.9311574 } -82.8104194 | -72.6896814
122.7298343 | -112.6090963 | -102.4883583 | -92.3676203 | -82.2468823




BARY 6t/ j)
FUNDAMENTAL CONSTANTS MASS - cg” T
M= =
&
re '=-12.550068116
$:=39355877804  mb :=-23.776601910
,Big_:O.S~(am+ S) AzI;jzo.S-(am- S)
}

k=1 M :=k-Al+mo R:=kBif+lo
W N
R =-12.5500689

mo :=-4.662200853 am '=1.127074156
lo 1=-32.791544864
to 1=-43.268364089

q:=-6.6

¢:=10.476819225
G:=-7.175705560
h:=-26.976926492

ni=-1 p:=-6.6

Y =3¢c-G Y = 38.6061632 M =-23.7766027

U:i=05-(-c+G-h4+2M) V:=05.(3¢~G-h+2R) W:=0.5-(-5-c+G+h)

T q:=O.5~p-U+O.5-q-V+W Z

=Y+ T
p- q o

3

32.4395286 | 42.5602666 | 62.8017426 | 72.9224806| 83.0432186
22.8823277 | 33.0030657 | 43.1238037 | 53.2445417 | 63.3652797 | 73.4860177
13.3251268 | 23.4458648 | /335660025 | 43.6873408 | 53.8080788 | 639268168
3.7679250 | 13.8886630 | 24.0094019 | 34.1301399 | 44.2508779 | 543746159
5780275 |  4.331463| 14.452201| 24.572939 | ,34.6936769| 44.8144149
153464750 | -5.2257379| 4.8950001| 15.015738| 25136476 35257214
-24.9036768 | -14.7829388 |7/ -416622000|  5.4585371 | 7,15/5/9275)| 25.7000131
~34.4608777 | -24.3401398 | -14.2194018 | -4.0986638 |  6.0220742| 16.1428122
~44.0180787 | -33.8973407 | %:23,7766027/| -13.6558647 | -3.5351267| 6.5856113
535752796 | -43.4545416 | -33.3338036 | -23.2130656 | -13.0923276| -2.9715896
63.1324805 | -53.0117425 | -42.8910045 | -32.7702665 | -22.6495285 | -12.5287905
726806814 | -62.5689434 | -52.4482054 | -42.3274674 | -32.2067294 | -22.0859914
820468823 | -72.1261443 | -62.0054063 | -51.8846683 | -41.7639303 | -31.6431924




¢:=10.476819225
G :=-7.175705560
hi=-26.976926492

n.i=-1

Y =3¢c~-G

U:=05-(-c+G—h+2-M)

T

s

f””ﬂ
RARYON [P
FUNDAMENTAL CONSTANTS MASS Cé ~
Mz o
o
re :=-12.550068116
lo :=-32.791544864 S1=39.355877804 mb :=-23.776601910
to :=-43.268364089 B1:=05(am+S) At:=0.5-(am— S)
7 E
q:=-6.6 k=1 Mi=k-AT+mo R:=kBl+lo

mo :=-4.662200853 am :=1.127074156

p:=-6.6
LS d
R =-12.5500689

Y = 38.6061632 M =-23.7766027

Vi=053-¢c-=G-h+2R) W:i=0.5-(-5¢c+G+h)

JF0SPU0SQVEW 2

P:q :=Y+Tp,q DM

. 3.1 6 . 26
63.3652797 | 73.4860177 | 83.6067557 | 93.7274937 | 103.8482316
53.8080788 | 63.9288168 | 74.0495548 | 84.1702927 | 94.2910307 -
44.2508779 | 54.3718459| 64.4923538| 74.6130918 | 84.7338298
346936769 | 44.8144149| 54.9351529| 65.0558900 | 75.1766289
25136476 |  35.257214|  45.377952 55.49869|  65.619428|
AB5T9275Y| 257000131 | 358207511  45.9414891| 5610622273
. 6.0220742 | 16.1428122| 26.2635502 | 36.3842882 | 46.5050262
-3.5351267 | 6.5856113| 16.7063493 | 26.8270873| 36.9478253
-13.0923276 |  -2.9715896|  7.1491484| 17.2698864 | 27.3906243
-22.6495285 | -12.5287905( -2.4080525(  7.7126854 | 17.8334234
-32.2067294 | -22.0850914 | -11.9652535| -1.8445155|  8.2762225
-41.7639303 | -31.6431924 | -21.5224544| -11.4017164| -1.2809784




N R fj’/,r
FUNDAMENTAL CONSTANTS MASS C}

M=z =

re :=-12.550068116
mb :=-23.776601910

7

am :=1.127074156
S :=39.355877804

mo :=-4.662200853
lo :1=-32.791544864

¢:=10.476819225
G :=-7.175705560

h:=-26.976926492 to :=-43.268364089 B1:=0.5(am + S) A{d :=0.5-(am - 8)
s <
ni=-1 p:i=-6.6 q:=-6..6 ki=2 M:i=k-M +mo R:=kBl+lo
24 J
Y =3¢-G Y = 38.6061632 M =-42.8910045 R =7.6914071

U:=0.5-(-c+G-h4+2-M)

s

TP q =0.5pU+05qV+W

V:=05.(3-c—= G-h4+2R)

=Y+ T
Zp,q ),

9 &

Wi=0.5-(-5¢c+G+h)

-11.4246458 |  8.8168302| 29.0583062| 492997821 69.5412581
-30.5390476 | -10.2975716|  9.9439043| 30.1853803| 50.4268563
~49.6534494 | 204119735| -9.1704975| 11.0709785| 31.3124545
-68.7678513 | -48.5263753 | 28.2848993 | -8.0434233| 12.1980527
-87.8622531 | -67.6407771| -47.3993011| -27.1578251| -6.9163492
-106.9966549 | -86.7551780| 665137020 46272227 | -26.030751]
126.1110567 | -105.8695808 | -85.6281048 | -65.3866288 | -45.1451528
145.2254586 | -124.9839826 | -104.7425066 | -84.5010306 | -64.2595546
164.3398604 | -144.0083844 | -123.8569084 | -103 6154324 | -83.3739565
183.4542622 | -163.2127862 | -142.9713102 | -122.7298343 | -102.4883583
-202.568664 | -182.327188 | -162.0857121 | -141.8442361 | -121.6027601
221.6830659 | -201.4415899 | -181.2001139 | -160.9586379 | -140.7171619
240.7974677 | -220.5559917 | -200.3145157 | -180.0730397 | -159.8315638




FUNDAMENTAL CONSTANTS MASS

= ¢’

f %!
¢:=10.476819225 o :=-4.662200853 am '=1.127074156 re :i=-12.550068116
G:=-7.175705560 lo.=-32.791544864 S:=39.355877804 mb :=-23.776601910
h:=-26.976926492 to :=-43.268364089 E;::O.S'(m+ S) é{j::O.S-(am— S)

n:=-1 pi=-6.6 q:=-6.6 k=2 M:i=kAl+mo R:=kBl+lo
S N
Y :=3¢c-G Y = 38.6061632 M =-42.8910045 R =7.6914071

U'=05(-c+G-h4+2M) V:=053c~G-h+2R) W:=0.5(-5c+G+h)

Tp’q =0.5p-U+05qV4+W Zp,q :=Y+Tp’

a M

. 1] 89.7827341]| 110.024 130, 507162
50.4268563 | 70.6683323 | ©90.9098083 | 111.1512842 | 131.3927602
31.3124545| 51.5539305| 71.7954064 | 92.0368824 | 1122783584
121980527 | 324395286 | /526810046 | 72.9224806| 93.1639566
-6.0163492 | 133251268 | /335666028 | 53.8080788 | 74.0495548
-26.030751|  -5.789275|  14.452201| //34/6336769 | 54.9351529
-45.1451528 | -24.9036768 |* 446622000 | V155792751 | /35820754
-64.2505546 | -44.0180787 |* -23776609%| -3.5351267| 16.7063493
-83.3739565 | -63.1324805 | -42.8910045 | -22.6495285| -2.4080525
-102.4883583 | -82.2468823 | -62.0054063 | -41.7639303 | -21.5224544
-121.6027601 | -101.3612841 | -81.1198081| -60.8783322| -40.6368562
-140.7171619 | -120.475686 | -100.23421| -79.992734| -59.751258
-159.8315638 | -139.5900878 | -119.3486118 | -99.1071358 | -78.8656598




'=10.476819225
G =-7.175705560
h1=-26.976926492

N K 9

FUNDAMENTAL CONSTANTS MASS

mo :=-4.662200853

1o 1=-32.791544864

to :=-43.268364089

am :=1.127074156
S :=39.355877804

re :=-12.550068116
mb :=-23.776601910

n:=-1

Y i=3¢-G

p:=-6.6

Y = 38.6061632

U:=0.5-(-c+ G—h+2-M)

P

T =05pU+05qV+W

q:=-6..6

Bali:=0.5-(am+ S)
M :=k:AT+mo R:=kBl'+lo

k=2

M =-42.8910045

Vi=05(3c¢c~G~-h+2R)

Z =
Y+Tp,

P-q

q

A :=0.5-(am— S)
u

I N

R = 7.6914071

W:=0.5(-5¢c+G+h)

N

150.507162 | 170.748638 | 190.990114 | 211.23159| 231.473066
131.3927602 | 151.6342362 | 171.8757122| 192.1171882 | 212.3586641
112.2783584 | 132.5198344 | 152.7613104 | 173.0027863 | 193.2442623
93.1639566 | 113.4054326 | 133.6469085 | 153.8883845 | 174.1298605
74.0495548 | 94.2910307 | 114.5325067 | 134.7739827 | 155.0154587
54.9351520 | 75.1766289 | 954181040 | 115.6505800 | 135.9010568 |
358207511 | 2 5670622374 | 76.3037031| 96.545179| 116.786655
16.7063493 | 36.9478253 | 57.1893012| 77.4307772| 97.6722532
2.4080525 | 17.8334234 | 38.0748994 | 58.3163754 | 78.5578514
21.5224544 |  -1.2809784| 18.9604976| 39.2019736 | 59.4434496
-40.6368562 | -20.3953802| -0.1539042| 20.0875718| 40.3290477
-59.751258 | -39.509782| -19.2683061| 0.9731699| 21.2146459
-78.8656598 | -58.6241839 | -38.3827079| -18.1412319|  2.1002441




¢:=10.476819225
G =-7.175705560
h:=-26.976926492

n:=-1

Y =3¢c-G

FUNDAMENTAL CONSTANTS MASS

p:=-6.6

Y = 38.6061632

U :=0.5-(-c+G—h+2-M)

P

T q =05pU+05qV+W

U

mo :=-4.662200853
lo :=-32.791544864
to :1=-43.268364089

q:=-6..6

B

am :=1.127074156

S :=39.355877804
BI':=0.5-(am+ S)

k:

¥

M =-62.0054063

V=053 ¢c—G-h+2R)

Zp:q =Y+ Tp,

M:

T

re :=- 12.550068116
mb :=-23.776601910
At:=05.(am—S)

(S
3 M=k Al +mo R:=kBl+lo
3?{ wn

H wd

R =27.9328831

W:=05(-5¢c+G+h)

4 UNIVERSE

. . 167.3674156 | 197.72

77.9713849 | 108.3335989 | 138.6958128 | 169.0580268 | 199.4202408
492997822 | 79.6619961 | 110.0242101[ 140.3864241 | 170.748638
20.6281794 | 50.9903934 | 81.3526074 | 111.7148213 | 142.0770353
-8.0434233 | 22.3187906 |£/52/6810046 | 83.0432186 | 113.4054326
367150261 | -6.3528121| 24.0094019 | 3,/543716459 | 84.7338298 .
-65.3866268 | -35.0244148 | 272416622000 | 25.7000131 |#/56:0622274
-94.0582315 | -63.6960176 | -33.3338036| -2.9715896| 27.3906244
-122.7298343 | -92.3676203 | -62.0054063 | -31.6431924 | -1.2809784
-151.401437 | -121.039223| -90.6770091| -60.3147951| -29.9525811
-180.0730397 | -149.7108258 | -119.3486118 | -88.9863978 | -58.6241839
-208.7446425 | -178.3824285 | -148.0202145 | -117.6580006 | -87.2957866
-237.4162452 | -207.0540312 | -176.6918173 | -146.3296033 | -115.9673893




Stellar Masses

0 :=35.820751 n:=0.17
d1=0 140884 = & a'=1.127074 m:=17. 34
&
S(n) :=0-nd U(m) =0 -md
n= S(n) = m= U(m) =

0 35.820751 17 33.425723
1 35.679867 18 33.284839
2 35.538983 19 33.143955
3 35.398099 20 33.003071
4 35.257215 21 32.862187
5 35.116331 22 32.721303
6 34.975447 | 23 32.580419
7 34.834563 24 32.439535
8 34.693679 25 32.298651
9 34.552795 26 32.157767
10 34.411911 27 32.016883
11 34.271027 28 31.875999
' 12 34.130143 29 31.735115
13 33.989259 30 31.594231
14 33.848375 31 31.453347
15 33.707491 32 31.312463
16 33.566607 33 31.171579
17 33.425723 34 31.030695

loy (D= 33298635

! — 33
oF o Selar /l//mfmw/h/% 3 YHE Y0 wal,
]of ‘A@ 2 33,584 67¢ wally
g// . 30
. Oltr syston 22025 ¥ 10 g
Co¥ Ve 253 Ao /Mv/u/zﬂy:?

©, 1,555 %109

33
Totel 1099177 x/0° g
[og 2%.299237 ¢
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PLANCK PrRTICLS

ENERGIES FROM FREQUENCIES.

re 1=-12.550068116

mb !=-23.776601910

K :=0.5-(am—S)
R:=kJ+lo

am !=1.127074156
S 1=39.355877804
Ji=05.(am+ S)
k‘:=0 v M =k’ K+ mo

mo i=-4.662200853
lo 1=-32.791544864
o i=-43.268364089
qi=-6.6

¢ :=10.476819225
G 1=-7.175705560
h=-26.976926492

n:=-1 pi=-6.6

U:i=05(-c4+G-h4+2M) V:=05(3c—G-h+2R) W:i=05(-5c+G+h)

T q'.=0.5-p-U-|—0.5~q-V+W M =-4.662201 R =-32.791545.

P,

Ep q =(0.5pU+05qV+W)+5¢c-G

1 143

16.291438

6.291438

16.2914

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.201438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.201438

16.291438

16.291438

1 16.291438

16.291438

16.291438

16.291438

16.291438

16.281438

16.291438

[16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

| 16.291438

16.291438

16.291438

16.201438

16.291438

16.291438

16.201438

{ 16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

1 16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

1 16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

116.291438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438

| 16.201438

16.291438

16.291438

16.291438

16.291438

16.291438

16.291438




ENERGIES FROM FREQUENCIES.

¢:=10.476819225 mo :=-4.662200853
G =-7.175705560 lo:=-32.791544864
h:=-26.976926492 to:=-43.268364089

pi=-6.6

am :=1.127074156

S :=39.355877804
J:=0.5-(am+ S)
q:=-6.6 ki=-1 M =k K+ mo

re :=-12.550068116
mb :=-23.776601910
K:=0.5-(am-S)

n:=-1 R:=kJ+1o

Ui=0.5(-c+G-h+2M) V:=05(3c—G-h+2R) W:=05(-5c+G+h)

Tp q :=0.5-p~U +05.¢V+W

s

M = 14.452201 R =-53.033021

Ep q =05pU+05qV+W)+5¢-G

-20.810292 -41.061768 | -51.172606 | -61.293244 | -71.413982
-11.253001 | -21.373829 | -31.484567 | -41.615305| -51.736043 | -61.856781
-1.69589 | -11.816628 | -21.937366 | -32.058104 | -42.178842 -52.29958
7.861311 -2.250427 | -12.380165 | -22.500903 | -32.621641 | -42.742379
17.418512 7207774 -2.822964 | -12.943702 -23.06444 | -33.185178
26.975713 16.854975 6.734237 -3.386501 | -13.507239 | -23.627977
36.532914 | 26.412176 //’} gg/’lw 6.1707 -3.950038 | -14.070776
46.090114 | 35.969376| 25.848638| 15.727901 5.607163 -4.513575

] 55.647315 | 45.526577 | 35.405839| 25.285101 15.164363 5.043625
; 65.204516| 55.083778 44.96304 34.842302| 24.721564 14.600826
1 74.761717 | 64.640979| 54.520241 44.399503 | 34.278765| 24.158027
84.318918 7419818 | 64.077442| 53.956704 | 43.835966| . 33.715228
93.876119| 83.755381 73.634643( 63.513905| 53.393167 | 43.272429




¢:=10.476819225

G 1=-7.175705560
h=-26.976926492
pi=-6..6

ni=-1

ENERGIES FROM FREQUENCIES.

mo '=-4.662200853
lo 1=-32.791544864
to 1=-43.268364089

U:=0.5-(-c+G—h+2-M)

=0.5pU+0.5qV+W

P,q

E
P.q

q:=-6.6

am :=1.127074156

S 1=39.355877804
J:=0.5-(am + S)
M i=k-J+mo

k:=-1

Vi=05(3¢-G-h+2R)

M =-24.903677

=(05pU+05qgV+W)+5¢c-G

re i=-12.550068116
mb =-23.776601910
K :=0.5-(am— S)

R =kK+lo

W:i=0.5(-5¢c+G+h)

R=-13.677143

57.901464 | 67.458665| 77.015866| 86.573066| 96.130267 | 105.687468
47.780726 | 57.337927 | 66.895128| 76.452328| 86.009529| 95.56673
37.650088 | 47.217189| 56.77439| 66.33159| 75.888791| 85.445992
27.53925 | 37.006451| 46.653652| 56.210852| 65.768053| 75.325254
17.418512 | 26.975713| 36.532014| 46.090114| 55.647315| 65.204516
7.297774 | 16.854975| 26.412176| 35.969376| 45526577 | 55.083778
0820064 | 6.734237 | 16.291438| 25.848639| 35405839 | 44.96304
-12.943702 | -3.386501 6.1707 | 15.727901| 25285101| 34.842302
23.06444 | -13.507239 | -3.950038 | 5.607163 | 15.164363 | 24.721564
-33.185178 | -23.627977 | -14.070776 | -4.513575| 5.043625 | 14.600826
-43.305916 | -33.748715 | -24.191514 | -14.634313 | -5.077113 | 4.480088
-53.426654 | -43.869453 | -34.312252 | -24.755051 | 15.197851 |  -5.64065
-63.547392 | -53.990191 | -44.43299 | -34.875789 | -25.318580 | -15.761388




ENERGIES FROM FREQUENCIES.

¢:=10.476819225
G :=-7.175705560
h:=-26.976926492
pi=-6.6

mo '=-4.662200853
lo 1=-32.791544864 S 1=39.355877804

to 1=-43.268364089 J:=0.5-(am + S)
qi=-6..6 ki=-1 M i=k-K+ mo

am :=1.127074156 re 1=-12.550068116

mb 1=-23.776601910
K :=0.5-(am — S)

ni=-1 R:=kK+1o

U:=05(-c+G=h+2M) V:=05(3c—G-h+2R) W:=05(-5c+G+h)

T q:=0.5-p-U-f-O.5-q'V+W M = 14.452201 R =-13.677143

P

EP q =(05pU+05qV+W)+5¢c-G

-41.051768

-60.16617 | -50.608969 -31.494567 { -21.937366 2.380165
-50.608969 | -41.051768 | -31.494567 | -21.937366 | -12.380165 | -2.822064
-41.051768 | -31.494567 | -21.937366 | -12.380165 | -2.822964 6.734237
-31.494567 | -21.937366 | -12.380165 | -2.822964 6.734237 | 16.291438
-21.937366 | -12.380165 | -2.822964 6.734237 | 16.291438 | 25.848639
-12.380165 | -2.822964 6.734237 | 16.291438| 25.848639| 35.405839

-2.822964 6.734237 | 16.201438| 25.848639 | 35.405839 44.96304

6.734237 | 16.291438| 25.848639| 35.405839 44.96304 | 54.520241

16.291438 | 25.848639( 35.405839 44.96304 | 54.520241| 64.077442

25.848639 | 35.405839 44.96304 | 54.520241| 64.077442| 73.634643

35.405839 44.06304 | 54.520241 64.077442 73.634643; 83.191844

4496304 | 54.520241| 64.077442| 73.634643| 83.191844 | 92.740045

54.520241| 64.077442| 73.634643| 83.191844| 92.749045| 102.306246




ENERGIES FROM FREQUENCIES.

re 1=-12.550068116

mb :=-23.776601910

K:=0.5-(am~ S)
Ri:=kJ+1o

am :=1.127074156
S:1=39.355877804
Ji=0.5-(am + S)
M =k J+mo

mo :=-4.662200853
lo :=-32.791544864
to 1=-43.268364089
qi1=-6..6 ki=-1

¢:=10.476819225
G :=-7.175705560
h=-26.976926492

ni=-1 pi=-6.6

U:=05(-c+G-h+2-M) V:i=0.5(3-¢c~G-h+2R) W:=0.5.(-5¢c+G+h)

T q =05pU+05qV+W M =-24.903677 R =-53.033021

P,

E  =(05pU+05qV+W)+5c-G

P

97.257342( 87.136604( 77.015866| 66.895128 56.77439 46.653652
87.136604 | 77.015866| 66.895128 56.77439 | 46.653652 36.532914
77.015866 | 66.895128 56.77439 46.6536562 | 36.532914| 26.412176
66.895128 56.77439 | 46.653652| 36.532014| 26.412176 16.291438
56.77439 | 46.653652( 36.532914| 26.412176 16.291438 6.1707

-+ 46.653652| 36.532914| 26.412176 16.291438 6.1707 -3.950038
36.5632914| 26.412176 16.291438 6.1707 -3.950038 { -14.070776
26412176 16.291438 6.1707 -3.950038 | -14.070776 | -24.191514
16.201438 6.1707 -3.950038 | -14.070776 | -24.191514 | -34.312252
6.1707 -3.950038 | -14.070776 | -24.191514 | -34.312252 -44.43299
-3.950038 | -14.070776 | -24.191514 | -34.312252 -44.43299 | -54.553728
-14.070776 | -24.191514 | -34.312252 -44.43289 | -54.553728 | -64.674466
-24.191514 | -34.312252 -44.43299 | -54.553728 | -64.674466 | -74.795204
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ENERGIES FROM FREQUENCIES.

re '=-12.550068116

mb :=-23.776601910

K:=0.5-(am-S)
R:=kJ+1o

¢:=10.476819225  mo i=-4.662200853
G 1=-7.175705560 lo i=-32.791544864
hi=-26.976926492 to i=-43.268364089
pi=-6.6 q:=-6.6

am 1=1.127074156
S 1=39.355877804
7:=0.5-(am+ S)

n:=-1 k:=1 M :i=kK+mo

U:=0.5-(-c + G= h+2-M)

V:=0.5(3¢c= G-h+2R)

W:i=05(-5¢c+G+h)

b.q T05PU+05qV+W M =-23.776603 R =-12.550069
E q =-(0.5pU+05qV+W)+h
P> ‘ an gﬂﬁ}’ﬂﬁl @ML
-20.810292 | -30.93103 | -41.051768 | -51.172506 | -61.293244 | -71.413982
-11.263091 | -21.373829 | -31.494567 | -41.615305 | -51.736043 | -61.856781
-1.69589 | -11.816628 | -21.937366 | -32.058104 |,-42:176842 | -52.29958
7.861311| -2.259427 | -12.380165 | -22.500903 | -32.621641 | -42.742379
17.418512 |  7.297774 | /-2:822964,| -12.943702 | -23.06444 | -33.185178
26.975713 | 16.854975] 6.734237| -3.386501| -13.507239 | <23.627977
/36,532914)| 26.412176| 16.291438 6.1707 | /-3/950038,| -14.070776
46.090114 | 35969376 | 25.848639| 15.727901| 5.607163| -4.513575
56.647315 | 45526577 | /35405839 25.285101| 15.164363| 5.043625
65.204516 | 55.083778| 44.96304 | 34.842302| 24.721564| 14.600826
74761717 | 64.640979 | 54.520241| 44.399503| 34.278765| 24.158027
84.318918 | 74.19818 | 64.077442| 53.956704| 43.835966| 33.715228
93.876119 | 83.755381| 73.634643 | 63.513905| 53.393167| 43.272429
I he
cu :
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ENERGIES FROM FREQUENCIES.

re i=-12.550068116
mb :=-23.776601910
K:=0.5-(am~ S)

R i=kJ+1o

am :=1.127074156
S1=39.355877804
Ji=0.5-(am+ S)
M =k'K+mo

mo !=-4.662200853
lo i=-32.791544864
to :=-43.268364089
qi=-6.6 k:=1

¢:=10.476819225
G :=-7.175705560
h:=-26.976926492

ni=-1 p:i=-6.6

U:=05-(-c+G-h4+2:M) V:=05(3c—G-h+2R) W:=05(-5c+G+h)

M =-23.776603 R =-12.550069

3

TP q =05pU+05qgV+W

Ep q =(05pU+05qV+W)+5¢c-G

53.393167| 63.513905| 73.634643] 83.755381 93.876119 | 103.996857
43.835966 | 653.956704| 64.077442 74.19818 84.318918 94.439656
34.278765| 44.399503| 54.520241 64.640979| 74.761717 | 84.882455
24721564 | 34.842302 44.96304 556.083778 | 65.204516 76.325254
15.164363 | 25.285101 35.405839 | 45526577 | 55.647315| 65.768053
5.607163 156.727901 25.848639 | 35.9609376| 46.090114| 56.210852
-3.950038 6.1707 16.291438 | 26.412176| 36.532914| 46.653652
-13.607239 -3.386501 6.734237 16.854975| 26.975713 37.096451
-23.06444 | -12.943702 -2.822964 7.297774 17.418512 27.53025
-32.621641 | -22.500903 | -12.380165 -2.259427 7.861311 17.982049
-42.178842 | -32.058104 | -21.937366 | -11.816628 -1.69589 8.424848
-51.736043 | -41.615305| -31.494567 | -21.373829 | -11.253091 -1.132363
-61.293244 | -51.172506 | -41.051768 -30.93103 | -20.810292 | -10.689554




ENERGIES FROM FREQUENCIES.

am :=1.127074156
S 1=39.355877804
J:=0.5-(am+ S)
k=1 M i=k-J+mo

re 1=-12.550068116

mb :=-23.776601910

K:=0.5-(am-8S)
R:=kK+lo

mo :=-4.662200853
lo 1=-32.791544864
to :=-43.268364089
q:=-6..6

¢:=10.476819225
G :=-7.175705560
h:=-26.976926492

n:=-1 pi=-6.6

U:i=05(-c+G-h+2-M) V:i=05(3¢-G-~h+2R) W:=05(-5¢c+G+h)

R =-51.905947

T, =05pU+05qV+W M = 15.579275
E i=-(05pU+05qV+W)+h o fu/
Pat pap e / Zj @M/»
57.901464 | 67.458665| 77.015866 | 86.573066| 96.130267 | 105.687468
47.780726 | 57.337927 | 66.895128 | 76.452328| 86.009529| 9556673
37.659988 | 47.217189| 56.77439 | 66.33159 | /75888791 | 85.445002
27.53925 | 37.006451| 46.653652| 56.210852| 65.768053 | 75.325254
17.418512 | 26.975713 | /36/5329%4)| 46.090114| 55.647315| 65.204516
7.297774 | 16.854975| 26.412176| 35969376 | 45.526577 | 55083778
£2/822964 | 6.734237 | 16.291438| 25.848639| 35405830 | 44.96304
-12.943702 | -3.386501 6.1707 | 15727901 25.285101| 34.842302
-23.06444 | -13.507239 | /-3/950038 | 5607163 | 15164363 | 24.721564
-33.185178 | -23.627977 | -14.070776 | -4.513575| 5.043625 | 14.600826
-43.305916 | -33.748715 | -24.191514 | -14.634313 | -5.077113|  4.480088
-53.426654 | -43.869453 | -34.312252 | -24.755051 | -15.197851 |  -5.64065
-63.547392 | -53.990191 | -44.43299 | -34.875789 | -25.318589 | -15.761388
e e
ic =
M R
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ENERGIES FROM FREQUENCIES.

c:=10.476819225 mo =-4.662200853 am !=1.127074156 re 1=-12.550068116
G =-7.175705560 lo :=-32.791544864 S 1=39.355877804 mb :=-23.776601910
h:=-26.976926492 to :=-43.268364089 Ji=0.5-(am+ S) K:=0.5-(am - S)

| ni=-1 pi=-6.6 qi=-6.6 k=1 Mi=kK+mo R:i=kK+lo

U:=05-(-c+G—h+2M) Vi=053c—CG-h+2R) W:=05(-5c+GC+h)

TP q =0.5pU+05qV+W M =-23.776603 R =-51.905947
E =05pU+05qV+W)+h < 2
- (c”ﬂ pU+0.5¢V+ W)+ § @ M

= M A

-60.16617 | -50.608969 | -41.051768 | -31.494567 | -21.937366 | -12.380165

-50.608969 | -41.051768 | -31.494567 | -21.937366 | -12.380165 | -2.822964
-41.051768 | -31.494567 | -21.937366 | -12.380165 | /427822964 | 6.734237
-31.494567 | -21.937366 | -12.380165 | -2.822964 | 6.734237 | 16.291438
-21.937366 | -12.380165 | /7872964, 6.734237 | 16.291438 | 25.848639
-12.380165 | -2.822964 | 6.734237 | 16.291438 | 25.848639| 354058391 /O C7R47gy
(2822964 | 6734237 | 16.291438| 25.848639 |//354p5830 | 44.96304
6.734237 | 16.201438| 25.848639| 35405839 44.96304 | 54.520241
16.291438 | 25.848630 (35405859 44.96304 | 54.520241| 64.077442
25.848639 | 35.405839| 44.96304 | 54.520241| 64.077442| 73.634643
35.405839 | 44.96304 | 54.520241| 64.077442| 73.634643| 83.191844
44.96304 | 54.520241| 64.077442| 73.634643 | 83.191844| 92.749045

54.520241| 64.077442| 73.634643| 83.1091844| 092.749045| 102.306246

2
1



ENERGIES FROM FREQUENCIES.

mo '=-4.662200853
lo 1=-32.791544864
to :=-43.268364089
q:i=-6.6 k:=

¢:=10.476819225
G 1=-7.175705560
h=-26.976926492

ni=-1 pi=-6.6

U :=0.5-(-c+G-h+2:M)

Tp q =05pU+05qV+W

E q =-(0.5pU+05qV+W)+h

2

DI

o

am :=1.127074156

S 1=39.355877804
Ji=0.5-(am+S)
1 M=k J+mo

V:i=0.5(3¢c-G-h+2R)

M = 15.579275

re 1=-12.550068116
mb =-23.776601910

K :=0.5-(am - S)

R i=kJ+1o

W:=05(-5c+G+h)

R =-12.550069

Gl

P g fler

97.257342 | 87.136604 | 77.015866| 66.895128| 56.77439 | 46.653652
87.136604 | 77.015866| 66.895128| 56.77439| 46.653652| 36.532914
77.015866 | 66.895128| 56.77439 | 46.653652 | //36,532914 | 26.412176
66.895128 5677439 | 46.653652| 36.532914| 26.412176| 16.291438
56.77439 | 46.653652 | 236532994 | 26.412176| 16.291438 6.1707
46.653652 | 36.532914| 26.412176| 16.291438 6.1707 | 43950038
| /36532908 26412176 16.291438 6.1707 | /43950038 | -14.070776
26.412176 | 16.291438 6.1707 | -3.950038 | -14.070776 | -24.191514
16.291438 6.1707 |/;%33:950088 | -14.070776 | -24.191514 | -34.312252
6.1707 | -3.950038 | -14.070776 | -24.191514 | -34.312252| -44.43299
-3.950038 | -14.070776 | -24.191514 | -34.312252| -44.43299 | -54.553728
-14.070776 | -24.191514 | -34.312252 | -44.43299 | -54.553728 | -64.674466
24191514 | -34.312252 | -44.43299 | -54.553728 | -64.674466 | -74.795204

hel ke

3

P
M




ENERGIES FROM FREQUENCIES.

¢:=10.476819225 mo :=-4.662200853 am :=1.127074156  re:=-12.550068116

G :=-7.175705560  lo :=-32.791544864 S1=39.355877804 mb :=-23.776601910

h:=-26.976926492 to :=-43.268364089 Ji=0.5-(am+ S) X:=0.5-(am- 8)
n:=-1 p:=-6.6 q:=-6.6 k=1 M:i=kK+mo R:i=kJ+lo

U:=05(-c+G-h+2-M) Vi=0.5(3¢c~G-h+2R) W :=0.5:(-5¢c+G+h)

>

TP q =05pU+05qV+W M =-23.776603 R =-12.550069

EP q =05pU+05qV+W)+5¢c-G

3
,EQM BakvoN

43272429 | 53.393167 | 63.513905| 73.634643| 83.755381| 93.876119
33.715228| 43.835966| 53.956704| 64.077442| 74.19818| 84.318918
24158027 | 34.278765| 44.399503 | 54.520241| 64.640979| 74.761717
14600826 | 24.721564 | 34.842302| 44.96304 | 55.083778| 65.204516
5.043625| 15.164363| 25.285101 ;//;3;»/905/8;3[3/ 45.526577 | 55.647315
-4513575 | 5607163 | 15727901 | 25848639 35.969376| 46.090114
-14.070776 |/ 53950038 6.1707 | 16.291438| 26.412176 |; 36532914 | S~
/A23:627977:| -13.507239 | -3.386501| 6.734237 | 16.854975| 26.975713

-33.185178 | -23.06444 | -12.943702 | -2.822964/|  7.297774| 17.418512
-42.742379 | -32.621641 | -22.500903 | -12.380165 | -2.259427 | 7.861311
-52.20058 |/242.178847 | -32.058104 | -21.937366 | -11.816628 -1.69589

-61.856781 | -51.736043 | -41.615305 | -31.494567 | -21.373829 | -11.253091
-71.413982 | -61.293244 | -51.172506 | -41.051768 -30.93103 | -20.810292

Y Me*
R




¢ :=10.476819225

G :=-7.175705560
h=-26.976926492
p:=-6.6

=-1

P

Ep q =0.5pU+05qV+W)+5¢c-G

ENERGIES FROM FREQUENCIES.

mo :=-4.662200853
lo 1=-32.791544864
to '=-43.268364089

U:=05(-c4+G-h+2-M)

q =05pU+05qV+W

q:=-6.6

k

am :=1.127074156

S :1=39.355877804
Ji=0.5-(am+ S)
=1 M i=k-J+mo

Vi=05-(3¢~G-h+2R)

M = 15579275

re '=-12.550068116
mb 1=-23.776601910

K :=0.5-(am - S)

R:=kX+lo

W :=0.5-(-5-c+ G+h)

R =-51.905%947

-25.318589 | -34.875789 44.43299 | -53.990191 | -63.547392 | -73.104593
-16.197851 | -24.755051 | -34.312252 | -43.869453 | -53.426654 | -62.983855
-5.077113 | -14.634313 | -24.191514 | -33.748715| -43.305916 | -52.863117
5.043625 -4.513575 | -14.070776 | -23.627977 | -33.185178 | -42.742379
15.164363 5.607163 -3.950038 | -13.507239 -23.06444 | -32.621641
25.285101 16.727901 6.1707 -3.386501 | -12.943702 | -22.500903
35.405839 | 25.848639 16.291438 6.734237 -2.822964 | -12.380165
455626577 35.969376| 26.412176 16.854975 7.297774 -2.259427
55.647315( 46.090114| 36.532914( 26.975713 17.418512 7.861311
65.768053 | 656.210852| 46.653652| 37.096451 27.53025 17.982049
75.888791 66.33159 56.77439 | 47.217189| 37.659988 | 28.102787
86.009529 | 76.452328| 66.895128 57.337027| 47.780726| 38.223525
06.130267 | 86.573066| 77.015866| 67.458665( 57.901464| 48.344263




ENERGIES FROM FREQUENCIES.

re 1=-12.550068116

mb =-23.776601910

K :=0.5-(am— S)
R:=kK+lo

am :=1.127074156

S 1=39.355877804
Ji=0.5-(am+ S)
M =k’ K+ mo

mo :=-4.662200853
lo 1=-32.791544864
to 1=-43.268364089
q:=-6.6 ki=1

¢:=10.476819225
G :=-7.175705560
h:=-26.976926492

ni=-1 pi=-6.6

U =0.5(-c+G-h+2-M) V:=05(3¢~-G-h+2R) W :=0.5-(-5¢c+G+h)

=05pU+05qV+W M = -23.776603 R =-51.905947

=(05pU+05qV+W)+5¢c-G

92.749045

83.191844

73.634643

64.077442

54.520241

44.96304

83.191844

73.634643

64.077442

54.520241

44.96304

35.405839

73.634643

64.077442

54.520241

44.96304

35.40583¢9

25.848639

64.077442

54.520241

44.96304

35.405839

25.848639

16.291438

54.520241

44.96304

35.405839

25.848639

16.291438

6.734237

44.96304

35.405839

25.848639

16.291438

6.734237

-2.822964

35.405839

25.848639

16.291438

6.734237

-2.822964

-12.380165

25.848639

16.291438

6.734237

-2.822964

-12.380165

-21.937366

16.291438

6.734237

-2.822964

-12.380165

-21.937366

-31.494567

6.734237

-2.822964

-12.380165

-21.937366

-31.494567

-41.051768

-2.822964

-12.380165

-21.937366

-31.494567

-41.051768

-50.608969

-12.380165

-21.937366

-31.494567

-41.051768

-50.608969

-60.16617

-21.937366

-31.494567

-41.051768

-50.608969

-60.16617

-69.723371




ENERGIES FROM FREQUENCIES.

¢:=10.476819225  mo :=-4.662200853 am :=1.127074156 re 1=-12.550068116

G =-7.175705560  lo :=-32.791544864 S 1=39.355877804 mb :=-23.776601910

hi=-26.976926492 to :=-43.268364089 J:=0.5-(am+ S) K:=0.5-(am - S)
n:=-1. p:=-6.6 q:i=-6.6 k:=1 M:i=kJ+mo Ri=kJ+lo

U:=05-(-c+G-h+2M) V:=05(3c-G-h+2R) W:=05(-5¢c+GC+h)

>

Tp q =05pU+05qV+W M = 15.579275 R =-12.550069

Ep q =(05pU+05qV+W)+5¢c-G

-64.674466 | -54.553728 44.43299 | -34.312252 | -24.191514 | -14.070776
-564.553728 | -44.432099 | -34.312252 | -24.191514 | -14.070776 | -3.950038

-44.43299 | -34.312252 | -24.191514 | -14.070776 | -3.950038 6.1707
-34.312252 | -24.191514 | -14.070776 | -3.950038 6.1707 | 16.291438
-24.191514 | -14.070776 | -3,950038 6.1707 | 16.291438| 26.412176
-14.070776 | -3.950038 6.1707 | 16.291438| 26.412176| 36.532914

-3.950038 6.1707 | 16.291438( 26.412176| 36.532914| 46.653652

. 6.1707 | 16.291438| 26.412176| 36.532914| 46.653652 56.77439
16.291438 | 26.412176 36.532914 46.653652 56.77439 | 66.895128
26.412176 | 36.532914| 46.653652 56.77439 | 66.895128 | 77.015866
36.5632014 | 46.653652 56.77439 | 66.895128| 77.015866| 87.136604
46.653652 56.77439 | ©66.895128 | 77.015866| 87.136604 | 97.257342

56.77439 | ©66.895128| 77.015866 | 87.136604| 97.257342( 107.37808




. ¢1=10.476819225
G 1=-7.175705560
h:=-26.976926492

pi=-6.6

1=-1

H

EP . =05pU+05qgV+W)+5¢c-GCG

ENERGIES FROM FREQUENCIES.

mo =-4.66

i)

2200853

lo :=-32.791544864
to 1=-43.268364089

U:=05(-c+G-h+2-M)

q =05pU+05qV+W

q:=-6..6

ki=2

am :=1.127074156

S 1=39.355877804
J:=0.5-(am+ S)
M =k‘K+mo

V:=0.5-(3.¢c—~ G-h+2R)

M =-42.891005

re :=-12.550068116
mb :=-23.776601910

K =0.5-(am— S)

R =k J+lo

W:i=0.5-(-5¢c+G+h)

R =7.691407

90.494897 | 110.736373 | 130.977849| 151.219325 171.4608 | 191.702276
71.380495 | 91.621971| 111.863447 | 132.104923 | 152.346399 | 172.587875
52266093 72.507569| 92.749045] 112.990521| 133.231997 | 153.473473
33.151691 53.393167 | 73.634643| 93.876119] 114.117595| 134.359071
14.037289 | 34.278765| 54.520241 74.761717 | 95.003193 | 115.244669
-6.077113 15.164363 | 35405839 55.647315| 75.888791 96.130267
-24.191514 -3.950038 16.291438 | 36.532914 56.77439 77.015866
-43.305916 -23.06444 -2.822964 17.418512| 37.659988 | 57.901464
-62.420318 | -42.178842 | -21.937366 -1.69589 18.545586 | 38.787062
-81.53472 | -61.293244 | -41.051768 ( -20.810292 -0.568816 19.67266
-100.649122 | -80.407646 -60.16617 | -39.924694 | -19.683218 0.558258
-119.7635623 | -99.522048 | -79.280572| -59.039096 -38.79762 | -18.556144
-138.877925| -118.636449 | -98.394973 | -78.153497 | -57.912021 | -37.670545




Y

A

RS

ENERGIES FROM FREQUENCIES.

re :=-12.550068116
mb :=-23.776601910
K:=0.5-(am - S)

R :=kK+lo

am :=1.127074156
S:1=39.355877804
Ji=0.5-(am+ S)
k=2 M =k-J+mo

¢:1=10.476819225

G :=-7.175705560
h!=-26.976926492
p=-6..6

mo :=-4.662200853
lo 1=-32.7915448064
to 1=-43.268364089

ni=-1 q:=-6..6

U:=05(-c+G-h4+2M) V:i=05(3c—G-h+2R) W:=05(-5c+G+h)

T =05pU+05qV+W M = 35.820751 R =-71.020349

P-4

=05pU+05qV+W)+5¢-G

P.q

-66.928615 | -86.043016 | -105.157418 | -124.27182 | -143.386222 | -162.500624
-46.687139 -65.80154 | -84.915942 | -104.030344 | -123.144746 | -142.250148
-26.445663 | -45.560085 | -64.674466 | -83.788868 | -102.90327 | -122.017672
-6.204187 | -25.318589 -44.43299 | -63.647392 | -82.661794 | -101.776196
14.037289 -6.077113 | -24.191514 | -43.305916 | -62.420318 -81.563472
34.278765 15.164363 -3.950038 -23.06444 | . -42.178842 | -61.203244
54.520241 35.405839 16.291438 -2.822064 | -21.937366 | -41.051768
74.761717 | 55.647315( 36.532014| 17.418512 -1.69589 | -20.810292
95.003193 | 75.888791 56.77439 37.659988 | 18.545586 -0.568816
116.244669 | 96.130267| 77.015866| 57.901464| 38.787062| 19.67266
135.486145 | 116.371743| 97.257342 78.14294 59.028538 | * 39.914136
155.727621 | 136.613219 | 117.498817 | 98.384416| 79.270014| 60.155612
175.969097 | 156.854695 ( 137.740293 | 118.625892 99.51149 80.397088




ENERGIES FROM FREQUENCIES.

c:=10.476819225 mo =-4.662200853 am :=1.127074156 re 1=-12.550068116

G:=-7.175705560 lo :=-32.791544864 S 1=39.355877804 mb :=-23.776601910

h1=-26.976926492 to :=-43.268364089 J:=0.5-(am+ 8) K:=0.5-(am - 8)
n:=-1 p=-6..6 q:=-6..6 k=2 Mi=kK+mo R:==kK+lo

U:=05-(-c+G—h+2M) V:=05(3c-G-h+2R) W:=05(-5c+G+h)

Tp q =05pU+05qV+W M =-42.891005 R =-71.020349

E =(05pU+05qV+W)+5c-G

169.206652 150.09225| 130.977849 | 111.863447| ©92.749045| 73.634643
150.09225| 130.977849{ 111.863447| 92749045 73.634643| 54.520241
130.977849 | 111.863447 02.749045) 73.634643| 54.520241 35.405839
111.863447 | 92.749045| 73.634643( 54.520241 35.405839 16.291438
92.749045 | 73.634643( 54.520241 35.405839 | 16.291438 -2.822964
73.634643 54.520241 35.405839 16.291438 -2.822964 | -21.937366

54.520241 35.405839 16.291438 -2.822964 | -21.937366 | -41.051768
35.405839 16.291438 -2.822064 | -21.937366 | -41.051768 -60.16617
16.291438 -2.822064 | -21.937366 | -41.051768 -60.16617 | -79.280572
-2.822964 | -21.937366 | -41.051768 -60.16617 | -79.280572 | -98.394973
-21.937366 | -41.051768 -60.16617 | -79.280572 | -98.394973 | -117.508375
-41.051768 -60.16617 | -79.280572 | -98.394973 | -117.509375 | -136.623777
-60.16617 | -79.280572 | -98.394973 | -117.509375 | -136.623777 | -155.738179




MK

ENERGIES FROM FREQUENCIES.

am :=1.127074156
S1=39.355877804
J:=0.5-(am+ S)
k=2 M i=k-J+mo

re 1=-12.550068116

mb :=-23.776601910

K:=0.5-(am-S)
Ri==kJ+1Io

mo :=-4.662200853
G=-7.175705560 lo:=-32.791544864

1=-26.976926492  to 1=-43.268364089
pi=-6.6 q:=-6..6

¢ =10.476819225

ni=-1

U:i=05-(-c+G-h+2:M) V:=05(3c—G-h+2R) W:i=05(-5c+G+h)

T q =0.5pU+0.5qgV+W M = 35.820751 R = 7.691407

P

P

E q =(0.5pU+05qV+W)+5¢-G

-125.398894 | -105.157418 | -84.915942 ~64.674466 -44.43299 | -24.191514
-105.157418 | -84.915942 | -64.674466 -44.43299 | -24.191514 -3.950038
-84.915942 | -64.674466 -44.43299 | -24.191514 -3.950038 16.291438
-64.674466 -44.43299 | -24.191514 -3.950038 16.291438 | 36.532914
-44.43299 | -24.191514 -3.950038 16.291438 | 36.532914 56.77439
-24.191514 -3.950038 16.291438| 36.532914 56.77439 77.015866
-3.950038 16.291438 | 36.532914 56.77439 77.015866 | 97.257342
16.291438 [ 36.532914 56.77439 77.015866 | 97.257342| 117.498817
36.532914 56.77439 77.015866 | 97.257342| 117.498817 | 137.740293
56.77439 77.015866 | 97.257342| 117.498817 | 137.740293 | 157.981769
77.015866 | 97.257342| 117.498817 | 137.740293 | 157.981769 | 178.223245
97.257342 117.498817 | 137.740203| 157.981769 | 178.223245| 198.464721




P.q

¢ :=10.476819225

G :=-7.175705560
h:=-26.976926492
=-1 p:=-6.6

ENERGIES FROM FREQUENCIES.

mo '=-4.662200853
lo :=-32.791544864
to 1=-43.268364089

U:=0.5(-c+G-h+2M)

=05pU+05qV+W

q:=-6.6

AN
Uit

ki=3

N

am !=1.127074156

S :1=39.355877804
J:=0.5-(am+ S)

M i=k-K+mo

Vi=05(3¢c-G~h+2R)

M = -62.005406

=05pU+05qV+W)+5¢c-G

P-q

re i=-12.550068116
mb =-23.776601910

K :=0.5-(am— S)

R:=kJ+1o

Wi=0.5(-5¢c+ G+h)

R =27.932883

127.506626 157.95884 | 188.321054 | 218.683268 | 249.045482 | 279.407696
98.925023 | 129.287237 | 159.649451| 190.011665| 220.373879 | 250.736093
70.253421 | 100.615635 130.977849| 161.340063 | 191.702276 | 222.06449
41.581818 | 71.944032| 102.306246 132.66846 | 163.030674 | 193.392888
12.910215| 43.272429| 73.634643 | 103.996857 | 134.359071 | 164.721285

-15.761388 14.600826 4496304 [ 75.325254| 105.687468 | 136.049682
-44.43299 | -14.070776 16.291438 | 46.653652| 77.015866 107.37808

-73.104593 | -42.742379 | -12.380165 17.982049 | 48.344263 | 78.706477

-101.776196 | -71.413982 | -41.051768 | -10.689554 19.67266 50.034874

-130.447799 | -100.085585 | -69.723371 | -39.361157 -8.098943 | 21.363271

-159.119401 | -128.757187 | -98.394973 | -68.032759 | -37.670545 -7.308331

-187.791004 | -157.42879 | -127.066576 | -96.704362 | -66.342148 | -35.979934

-216.462607 | -186.100393 | -155.738179 | -125.375965 | -95.013751 | -64.651537




ENERGIES FROM FREQUENCIES.

re :=-12.550068116

mb :=-23.776601910

K:=0.5-(am-S)
R:=kK+1o

am :=1.127074156
S1=39.355877804
Ji=05-(am+ S)
k:=3 M =k J+mo

¢:=10.476819225

G =-7.175705560
h:=-26.976926492
p:i=-6.6

mo :=-4.662200853
lo1=-32.791544864
to 1=-43.268364089

ni=-1 q:=-6.6

U:=05-(-c+G=h+2M) V:=053c-G-h+2R) W:=05(-5c+G+h)

M = 56.062227 R =-90.13475

E

TP q =0.5pU+05qV+W

EP a =(05pU+05qV+W)+5¢c-G

-108.538641 | -137.210243 | -165.881846 | -194.553449 | -223.225052 | -251.896654
-78.176427 | -106.84803 | -135.519632 | -164.191235 | -192.862838 | -221.53444
-47.814213 | -76.485816 | -105.157418 | -133.829021 | -162.500624 | -191.172226
-17.451999 | -46.123602 | -74.795204 | -103.466807 | -132.13841 | -160.810013

12.910215| -15.761388 -44.43299 | -73.104593 | -101.776196 | -130.447799
43.272429| 14.600826| -14.070776 | -42.742379 | -71.413982 | -100.085585
73.634643 44.96304 16.291438 | -12.380165| -41.051768 | -69.723371

103.996857 | 75.325254| 46.653652| 17.982049| -10.689554 | -39.361157
134.359071 | 105.687468 77.015866| 48.344263 19.67266 -8.098943
164.721285 | 136.049682 107.37808 | 78.706477| 50.034874| 21.363271
195.083499 | 166.411896 | 137.740293 | 109.068691 80.397088 | 51.725485
225.445713 196.77411| 168.102507 | 139.430905| 110.759302| 82.087699
255.807927 | 227.136324 | 198.464721( 169.793119| 141.121516 | 112.449913




)

S

ENERGIES FROM FREQUENCIES.

re 1=-12.550068116

mb :=-23.776601910

K :=0.5-(am— S)
R=kK+lo

am '=1.127074156
S 1=39.355877804
J:=0.5-(am+ S)
k=3 M =kK+mo

¢ 1=10.476819225

G 1=-7.175705560
h1=-26.976926492
pi=-6.6

mo =-4.662200853
lo :=-32.791544864
to 1=-43.268364089

ni=-1 q:=-6.6

U:=0.5(-c+G-h4+2-M) Vi=05(3¢-G-h+2R) W:i=05(-5¢c+G+h)

T =05pU+05qV+W M = -62.005406 R =-90.13475

P-4

Ep . =(05pU+05qV+W)+5¢c~G

245.664259

216.992657

188.321054

159.649451

130.977849

102.306246

216.992657

188.321054

159.649451

130.977849

102.306246

73.634643

188.321054

159.649451

130.977849

102.306246

73.634643

44.96304

159.649451

130.977849

102.306246

73.634643

44.96304

1 16.291438

130.877849

102.306246

73.634643

4406304

16.291438

-12.380165

102.306246

73.634643

4496304

16.291438

-12.380165

-41.051768

73.634643

44.96304

16.291438

-12.380165

-41.051768

-69.723371

44.96304

16.291438

-12.380165

-41.051768

-69.723371

-98.394973

16.291438

-12.380165

-41.051768

-69.723371

-98.394973

-127.066576

-12.380165

-41.051768

-69.723371

-98.394973

-127.066576

-155.738179

-41.051768

-69.723371

-98.394973

-127.066576

-156.738179

-184.409782

-69.723371

-98.394973

-127.066576

-156.738179

-184.409782

-213.081384

-98.394973

-127.066576

-155.738179

-184.409782

-213.081384

-241.752087




ENERGIES FROM.FREQUENCIES.

re '=-12.550068116

mb !=-23.776601910

K =05 (am-S)
Ri=kJ+1lo

am :=1.127074156
S:1=39.355877804
J:=0.5-(am+ S)
k=3 M=k J+mo

c!=10.476819225 mo :=-4.662200853
G =-7.175705560 lo :=-32.791544864
h:1=-26.976926492 to :=-43.268364089

ni=-1 pi=-6.6 q:i=6.6

U:=05(-c+G-h+2M) V:=05(3c~G-h+2R) W:=05(-5¢c+G+h)

T =05pU+05qV+W M = 56.062227

>

R =27.932883

Ep q =05pU+05qqV+W)4+5¢-G

-196.24406 | -165.881846 | -135.519632 | -105.157418 | -74.795204 -44.43299
-165.881846 | -135.5619632 | -105.157418 | -74.795204 -44.43299 | -14.070776
-135.519632 | -105.157418 | -74.785204 -44.43290 | -14.070776 16.291438
-105.157418 | -74.795204 -44.43209 | -14.070776 16.201438 | 46.653652 |

-74.795204 -44.43299 | -14.070776 16.291438 | 46.653652| 77.015866
-44.43299 | -14.070776 16.201438 | 46.653652| 77.015866 107.37808
-14.070776 { 16.291438| 46.653652| 77.015866| 107.37808| 137.740293
16.291438 | 46.653652| 77.015866| 107.37808| 137.740293 | 168.102507
46.653652 | 77.015866 107.37808 | 137.740293 | 168.102507 | 198.464721
77.015866 107.37808 | 137.740293 | 168.102507 | 198.464721 | 228.826935
107.37808 | 137.740293 | 168.102507 ( 198.464721 | 228.826935| 259.189149

137.740293 | 168.102507 | 198.464721 | 228.826935 | 259.189149 | 289.551363




TIMES,
FREQUENCY



PLANCK FREQUENCY

FUNDAMENTAL CONSTANTS Part 2 FREQUENCY

re :=-12.550068116
$:=39.355877804  mb :=-23.776601910

"Bl :=0.5-(am + S) W] :=0.5(am—8)

va <

k:=0 M:=kAl +mo R:=kBl+lo
K J
Wi=0.5-(-5¢+G+h)

mo :=-4.662200853 am :=1.127074156
lo 1=-32.791544864
to :1=-43.268364089

q:=-6..6

¢ :=10.476819225
G:=-7.175705560
h1=-26.976926492

n:=-1 p:=-6..6

U:=05(-c+G-h4+2M) V:=05(3c—G-h+2R)

M =-4.66220085 R = -32.79154486

P

-43.26836409

T a =05pU+05q9qV+W

-43.26836409

-43.26836409

2

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.268364089

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836409

-43.26836400

-43.26836409

-43.26836409




~3
<z

=1

O T-=

BARYON f?f
TIMES

FUNDAMENTAL CONSTANTS [ Revised ]

¢:=10.476819225 mo :=-4.662200853 am :=1.127074156 re 1=-12.550068116
G :=-7.175705560 lo 1=-32.791544864 S 1=39.355877804 mb :=-23.776601910

h:=-26.976926492  to :=-43.268364089 %:0.5~(am+ S) A1:=0.5-(am - S)
v i

n:=-1 p:=-3..3 q:=-3.3 k=1 'M:=kﬁ1+mo Ri=kBl+lo
& T

g

U:=0.5(-c+G-h+2-M) Vi=053c-G-h4+2re) W:i=05(-5¢c+G+h)

Tp . =pU+qV+W M =-23.7766027 R =-12.5500689

G ARYON

7 -2 -2 S ) o 3
[-46.6495889 -26.4081121 -6.1666354  14.0748414 343163181 54.5577949 74.799271
-65.7639907 -45.5225139 -252810372 -5.0395604 152019163 35.4433931 55.684869

-84.8783925 -64.6369158 -44.395439  -24.1539623 -3.9124855 16.3289912 36.570468

-123.1071962 -102.8657194 -82.6242427 -62.3827659 -42.1412892 -21.8998124 -1.658335
-142.221598 -121.9801212 -101.7386445 -81.4971677 -61.255691 -41.0142142 -20.772737
1-161.3359998 -141.0945231 -120.8530463 -100.6115696 -80.3700928 -60.1286161 -39.887139

~103.9927943 837513176 -63.5098408 432683647 -9302688K 271854106 JT456066°



DM G
THRES

FUNDAMENTAL CONSTANTS

c:=10.476821 mo :=-4.662199

G:=-7.175705 lo:=-32.791456

h:=-26.976924 to :=-43.268367
n:=-1 p:=-3.3 q:=-3.3

U:=05-(-c+G=h4+2M) V:=05(3c—G-ht2re)

am :=1.127074

S:=39.355880

J:=0.5-(am+ 8S)
k:=1 M =k-J4+mo

re :=-12.550068

mb :=-23.776602

K:=0.5-(am - S)
R:=kJ+1lo

Tp,q:=p-U+q'V-|—W M = 15579278 R =-12.549979

p= Dm
-3 [-164.717232 -144.475754 -124.234276 -103.992798 -83.75132 -63.509842
2 -144.475755 -124.234277 -103.992799 -83.751321 -63.509843 -43.268365
-1 -124.234278 -103.9928  -83.751322 -63.509844 -43.268366 -23.026888
0 T=(-103.992801 -83.751323 -63.509845 -43.268367 -23.026889 -2.785411
! -83.751324 -63.509846 -43.268368 -23.02689 -2.785412 17.456066
z -63.509847 -43.268369 -23.026891 -2.785413 17.456065 37.697543
| -43.26837 -23.026892 -2.785414 17.456064 37.697542 57.93902

Wi=05(-5¢c+G+h)

-43.268364 ]
-23.026887
-2.78541
V456067
37.697544
57.939021
78.180498 |




DM

TS

Vg

FUNDAMENTAL CONSTANTS Part2

¢:=10.476821
G:=-7.175705
h:=-26.976924

n:=-1 p:i=-6.6

U:=05(-c+G-h+2-M)

mo :=-4.662199
lo 1=-32.791456
to :=-43.268367

q:=-6..6

am :=1.127074
S:=39.355880
J:=0.5-(am 4+ S)
M =k-J+mo

k:==1

V:=0.5(3-c~ G- h+2r1e)

Tp q =05pU++05qV4+W

M =15.579278

Wi=0.5-(-5¢c+G+h)

R =-12.549979

HM

-164.717232 | -154.596493 | -144.475754| -134.355015| -124.234276
-154.5964935 | -144.4757545 | -134.3550155 | -124.2342765 | -114.1135375
-144.475755| -134.355016| -124.234277 | -114.113538| -103.992799
-134.3550165 | -124.2342775 | -114.1135385 | -103.9927995 | -93.8720605
-124.234278 | -114.113539 -103.9928 -93.872061 -83.751322
-114.1135395 | -103.9928005 | -93.8720615| -83.7513225| -73.6305835
-103.992801 -93.872062 -83.751323 -73.630584 -63.509845
-93.8720625 | -83.7513235| -73.6305845| -63.5098455| -53.3891065
-83.751324 -73.630585 -63.509846 -53.389107 -43.268368
-73.6305855 | -63.5098465| -53.3891075| -43.2683685| -33.1476295
-63.500847 -53.389108 -43.268369 -33.14763 -23.026891
-53.3891085 | -43.2683695| -33.1476305| -23.0268915| -12.9061525
-43.26837 -33.147631 -23.026892 -12.906153 -2.785414

re =-12.550068

mb :=-23.776602

K:=05-(am-S)
Ri=kJ+lo



FUNDAMENTAL CONSTANTS Part2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re '=-12.550068

G:=-7.175705 lo :=-32.791456 S:=39.355880 mb :=-23.776602

h:=-26.976924 to 1=-43.268367 J:=0.5-(am+8) K:=0.5-(am~ 8)
n:=-1 p:=-6.6 qi=-6..6 k=1 M:=kJ+mo R:=kJ4+lo

U:=0.5(-c+G-h+2-M) Vi=05B3c¢c-G-h+2re) W:i=05(-5c+G+h)

M =15579278 R =-12.549979

H

TP . =05pU++05qV+W

DM

-124.234276 | -114.113537 | -103.902798| -93.872059|  -83.75132
-114.1135375 | -103.9927985 | -93.8720595 | -83.7513205| -73.6305815
-103.902799 |  -93.87206| -83.751321| -73.630582| -63.500843
-93.8720605 | -83.7513215| -73.6305825| -63.5098435| -53.3891045
-83.751322| -73.630583| -63.509844 | -53.389105 | -43.268366
-73.6305835 | -63.5098445 | -53.3891055| -43.2683665| -33.1476275
-63.509845 | -53.389106| -43.268367| -33.147628 | * -23.026889
-53.3891065 | -43.2683675| -33.1476285| -23.0268895| -12.9061505
-43.268368 | -33.147629| 2302680 | -12.906151|< -2.785412
-33.1476295 | -23.0268905| -12.9061515| -2.7854125|  7.3353265
-23.026891| -12.906152|  -2.785413 7.335326 | 7 17 456065
-12.9061525 | -2.7854135|  7.3353255 | 17.4560645| 27.5768035
-2.785414 7.335325|  17.456064| 27.576803|  37.697542




DM

TI)MES

FUNDAMENTAL CONSTANTS Part2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068

G :=-7.175705 lo :=-32.791456 S 1=39.355880 mb :=-23.776602

h:=-26.976924 to :1=-43.268367 J:=0.5.(am+ S) K:=0.5-(am-8)
n:=-1 p:i=-6..6 q:=-6..6 k:=1 M:i=kJ+mo R:i=klJ+lo

U:=05-(-c+ G=h+2M)

P

V:i=0.5-(3:¢c=~G=-h+2710)

W.:=05(-5¢c+G+h)

T q =05pU+05qV+W

DM

M = 15579278

R =-12.549979

-83.75132 | -73.630581| -63509842| -53.389103| -43.268364
-73.6305815 | -63.5098425| -53.3891035| -432683645| -33.1476255
63500843 | -53.389104| -43.268365| -33.147626| -23.026887
-53.3891045 | -43.2683655 | -33.1476265 | -23.0268875| -12.9061485
43268366 | -33.147627| -23.026888| -12.906149 2.78541
2331476275 | * -23.0268885 | -12.9061495| -2.7854105|  7.3353285
> 23026889| -12.90615|  -2.785411 7.335328|  17.456067
12.0061505 | -2.7854115|  7.3353275| 17.4560665 | 27.5768055
2785412 |  7.335327| ~ 17.456066| 27.576805| 37.697544
 7.3353265| 17.4560655| 27.5768045 | 37.6975435| 47.8182825
J/JA56065| 27.576804| 37.697543|  47.816282|  57.939021
27.5768035 | 37.6975425| 47.8182815| 57.9300205| 68.0597595
37.697542|  47.818281 57.93902| 68.059759|  78.180498




D

TIMES 27
[)//mé d
l/ﬂrui;:
FUNDAMENTAL CONSTANTS PART 3

Planck Units
c:=10.476821 mo :=-4.662199 am :=1.127074 re 1=-12.550068
G :=-7.175705 lo 1=-32.791456 S:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am + S) K:=0.5-(am - 8)

n:=-1 p:=-6.6 q:=-6..6 k=1 M:i=kJ+mo R:i=kJ+lo

U:=05(-c+G=h+2M) V:=05(3¢c—CG-h+2R) W:=05(5c+G+h)

T

3

q =05pU+05qV+W

D

=

M = 15579278

P

R =-12.549979

-121.449132 |-111.328349 |-101.207565 | -91.086781 | -80.965998 | -70.845214
-111.328394 | -101.20761| -91.086826 | -80.966043 | -70.845259 | -60.724476
-101.207655 | -91.086871| -80.966088 | -70.845304 | -60.724521) -50.603738
-91.086916 | -80.966133 | -70.845349 | -60.724566 | -50.603782| -40.482999
-80.966178 | -70.845394 | -60.724611 | -50.603827 | -40.483044 | -30.362261
-70.845439| -60.724656 | -50.603873 | -40.483089 ] -30.362306| -20.241522
-60.724701| -50.603918 | -40.483134 | -30.362351| -20.241567 | -10.120784
-50.603962 | -40.483179| -30.362396 | -20.241612 -10.120829 -4.5-10 -5
-40.483224 | -30.362441| -20.241657 | -10.120874 -9-10 5| 10.120694
-30.362486 | -20.241702| -10.120919| -1.35-10 4| 10.120649| 20.241432
-20.241747 | -10.120964! -1.8-10 4| 10.120604| 20.241387 30.36217
-10.121008 | -2.25-10 4| 10.120558 | 20.241342| 30.362126| 40.482909
-2.7-10 4| 10.120513| 20.241297 30.36208 | 40.482864 | 50.603647




DM Timec

I

Vb 4
FUNDAMENTAL CONSTANTS PART 3
Planck Units
¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G :=-7.175705 lo :=-32.791456 S:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am+ S) K:=0.5-(am - S)
n:i=-1 p:=-6.6 q:=-6.6 k=1 M:=kJ4+mo R:i=klJ+lo

U:=05(-c+G-h+2M) V:=05(3c—~GCG-h+2R) W:=05(-5c+GC+h)

T ;1 =0.5pU+05qV4+W M = 15.579278 R =-12.549979
Zp . :=Tp -~ to
DM P

1 -91.086781| -80.965098| -70.845214 | -60.724431| -50.603647 | -40.482864
1 -80.966043 -70.845259| -60.724476| -50.603693| -40.482909| -30.362126

-70.845304 | -60.724521( -50.603738 | -40.482954 | -30.362171] -20.241387
-60.724566 | -50.603782 | -40.482999 | -30.362216 | -20.241432| -10.120649

-50.603827 | -40.483044 | -30.362261 | -20.241477 | -10.120694 910 -5
-40.483089 | -30.362306| -20.241522 | -10.120739 4510 -5| 10.120829
-30.362351| -20.241567 | -10.120784 0| 10.120784 | 20.241567
-20.241612| -10.120829| -4.510-5| 10.120739| 20.241522| 30.362305
-10.120874 -9-10 -5| 10.120694| 20.241477 30.36226| 40.483044

-1.35:10 4| 10.120649 | 20.241432| 30.362215] 40.482999| 50.603782
10.120604 | 20.241387 30.36217| 40.482954( 50.603738| 60.724521
20.241342| 30.362126 | 40.482909 | 50.603693| 60.724476| 70.845259

30.36208 | 40.482864 | 50.803647 | 60.724431| 70.845214| 80.965998




DM TiMEC . A
(2 [owc ke -g;
Uwb
FUNDAMENTAL CONSTANTS PART 3
Planck Units
¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G:=-7.175705 lo :=-32.791456 S:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5.(am+S) K:i=0.5(am- S)
n:=-1 p:=-6.6 qi=-6.6 k:=1 M:i=kJ+mo R:i=kJ+lo

U:=05-(-c+G-h+2M) V:=05(3c-G-h+2R) W:=05(-5c+G+h)

M = 15.579278 R =-12.549979

>

Z =T
Psq

T =05pU+05qV+W

DML

-50.603647 | -40.482864 | -30.362081} -20.241297} -10.120513 2.7-10 4
-40.482909 | -30.362126 | -20.241342 | -10.120559| 2.2510 4| 10.121008
-30.362171 | -20.241387 | -10.120604 1.810 4| 10.120964 { 20.241747
-20.241432 | -10.120649( 1.35-10 4| 10.120919| 20.241702| 30.362485
-10.120694 910 5| 10.120874| 20.241657| 30.362441| 40.483224

4.5-10 5| 10.120829 | 20.241612| 30.362395| 40.483179| 50.603962
10.120784 | 20.241567 30.36235| 40.483134| 50.603918| 60.724701
20.241522 | 30.362305| 40.483089| 50.603873 | 60.724656| 70.845439

30.36226 | 40.483044 | 50.603827| 60.724611| 70.845394| 80.966178
40.482999 | 50.603782 60.724566| 70.845349| 80.966133| 91.086917
50.603738 | 60.724521| 70.845304( 80.966088| 91.086872( 101.207655
60.724476 | 70.845259 | 80.966043| 91.086827] 101.20761 | 111.328394
70.845214 | 80.965998 | ©1.086782| 101.207565 | 111.328349 | 121.449132




N K

T/MBES

FUNDAMENTAL CONSTANTS

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068

G:=-7.175705 lo :=-32.791456 S :=39.355880 mb :=-23.776602

h:=-26.976924 to 1=-43.268367 J:=0.5-(am+ 8) K:=0.5-(am-8)
n:=-1 pi=-3.3 q:=-3..3 k=2 M:=kJ+mo R:i=kJ+Io

Ui=05(-c+G-h4+2-M) V:=05-3¢c-G-h+2R) W:=05(-5c+G+h)

=p-U . W
%q pU+qV+

M = 35.820755 R =7.691498
VR

[-286.166361 -245.683317 -205.200273 -164.717229 -124.234185 -83.751141 -43.268097 |
-245.683407 -205.200363 -164.717319 -124.234275 -83.751231 -43.268187 -2.785143
-205.200453 -164.717409 -124.234365 -83.751321 -43.268277 -2.7_§5233‘/ J37.697811
-164.717499 -124.234455 -83.751411 -43.268367 '-%;285:3;23‘"//3{697721 78.180765
-124.234545 -83751501 -43.268457 -2.7854137 3‘7.697631 78.180675 118.663719
-83.751591 -43268547/—&785% 37.697541 787180585 118.663629 159.146673

| -43.268637  -2.785593  37.697451  78.180495 118.663539 159.146583 199.629627 |




A

MK

T/mE S

FUNDAMENTAL CONSTANTS Part2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re =~ 12.550068

G:=-7.175705 lo :=-32.791456 S :=39.355880 mb :=-23.776602

h:=-26.976924 to 1=-43.268367 J:=0.5-(am+8S) K:=0.5-(am- 8)
n:=-1 p:=-6.6 q:=-6.6 ki=2 M:i=kJ4+mo R:i=kJ+lo

U:=05(-c+G=h+2M) V:=05(3c—G-h+2R) W:=05(-5c+G+h)

T =05pU+05qVeW M=35820755  R=7.691498

(YR

-286.166361

-265.924839

-245.683317

-225.441795

-205.200273

-184.958751

-265.924884 | -245.683362 | -225.44184 | -205.200318 | -184.958796 | -164.717274
-245.683407 | -225.441885 | -205.200363 | -184.958841 | -164.717319 | -144.475797
-225.44193 | -205.200408 | -184.958886 | -164.717364 | -144.475842 | -124.23432
-205.200453 | -184.958931 | -164.717409 | -144.475887 | -124.234365 | -103.992843
-184.958976 | -164.717454 | -144.475932 | -124.23441| -103.992888 | -83.751366
-164.717499 | -144.475977 | -124.234455 | -103.992933 | -83.751411| -63.509889
-144.476022 | -124.2345 [ -103.902978 | -83.751456| -63.509934 | -43.268412
-124.234545 | -103.993023 | -83.751501| -63.509979| -43.268457 | -23.026935
-103.993068 | -83.751546 | -63.510024 | -43.268502]—=23.02698 | -2.785458
-83.751591| 63510060 | -43.268547 | -23.027025| -2.785503 | ~ 1745603
-63.510114 | -43.268502 | \:23,02707 | -2.785548| 17.455974| 37.697496
-43.268637 | -23.027115| -2.785593| 17.455929| 37.697451| 57.938973




.,

.

/ij -
TIMES @

‘\/

FUNDAMENTAL CONSTANTS Part 2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068

G:=-7.175705 lo :=-32.791456 S 1=39.355880 mb :=-23.776602

h:=-26.976924 to :=-43.268367 J:=0.5-(am+ S) K:=0.5-(am- S)
n:=-1 p:=-6.6 qi=-6.6 k=2 M:=kJ4+mo R:=kJ+lo

V:=0.5-(3.c—=G-h+2R) W:=0.5(-5c+G+h)

U :=0.5-(-c+ G=h+2:M)

T =0SpU+0SqV+W M=35820755  R=7.691498
N OB
-205.200273 | -184.958751 | -164.717229 | -144.475707 | -124.234185 | -103.992663
-184.958796 | -164.717274 | -144.475752 | -124.23423| -103.992708 | -83.751186
-164.717319 | -144.475797 | -124.234275 | -103.992753 | -83.751231| -63.509709
-144.475842 | -124.23432 -103.992798 | -83.751276 | -63.509754 | -43.268232
-124.234365 | -103.992843 | -83.751321| -63.509799| -43.268277| -23.026755
-103.992888 | -83.751366| -63.509844| -43.268322|  -23.0268 [* -2.785278
-83.751411| -63.509880 | ; -43.268367 | -23.026845 | -2.785323 | 17.456199
-63.509934 | -43.268412 7 -23.02689 | -2.785368| 17.456154| 37.697676
-43.268457 | -23.026935| « -2.785413 | 17.456109| 37.697631| 57.939153
-23.02698 | -2.785458 |7 17/456064)| 37.697586| 57.939108  78.18063
-2.785503 | 17.456019| 37.697541| 57.939063| 78.180585| 98.422107
17.456974 | 37.697496| 57.939018|  78.18054| ©98.422062| 118.663584
37.697451| 57.938973| 78.180495| 98.422017| 118.663539 | 138.905061




FUNDAMENTAL CONSTANTS Part?2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068

G:=-7.175705 lo :=-32.791456 S :=39.355880 mb :=-23.776602

h:=-26.976924 to 1=-43.268367 J:=0.5-(am+ S) K:=0.5-(am- 8)
n:=-1 p:=-6.6 q:=-6..6 k=2 M:i=kJ+mo R:i=kJ+lo

U:=05-(-c+G~-h+2-M) V:=053.¢c~-G-h+2R) W:i=0.5(-5¢c+G+h)

M = 35820755 R =7.691498

P

T . =05pU+05qV+W

¢

-144.475707 | -124.234185| -103.992663 | -83.751141 -63.509619 | -43.268097
-124.23423 | -103.992708 | -83.751186 | -63.509664 | -43.268142 -23.02662
-103.992753 | -83.751231| -63.509709| -43.268187| -23.026665 -2.785143
-83.751276| -63.509754| -43.268232 -23.02671 -2.785188 17.456334
-63.509799 | -43.268277| -23.026755 -2.785233 17.456289 37.697811
-43.268322 -23.0268 |*# -2.785278 17.456244 37.697766 57.939288
-23.026845 | ¢ -2.785323 17.456199 37.697721 57.939243 78.180765
-2.785368 17.456154 37.697676 57.939198 78.18072 08.422242
17.456109 37.697631 57.939153 78.180675 98.422197 | 118.663719
37.697586 57.939108 78.18063 98.422152| 118.663674 138.905196
57.939063 78.180585 98.422107 | 118.663629| 138.905151 | 159.146673
78.18054 98.422062 | 118.663584 | 138.905106 | 159.146628 179.38815
08.422017 | 118.663539 | 138.905061 | 159.146583 | 179.388105| 199.629627




N K /;{“},
TiMES
B 'f/V"'A ’/44{),
FUNDAMENTAL CONSTANTS PART 3

Planck Units
¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G:=-7.175705 lo 1=-32.791456 5:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am +8S) K:=0.5-(am-8)

n:=-1 pi=-6..6 q'=-6.6 k=2 M:=kJ+mo R:i=kJ+lo

U:=05(-c+G-h+2M)

V:=05(3.¢c-G-h+2R) W:i=05-(-5¢c+G+h)

T . =05pU+05qV+W M =35.820755 R =7.691498
Zp,q ::Tp’q—to |
N e
-242.897994 | -222.656472 | -202.41495| -182.173428 | -161.931906 | -141.690384
-222.656517 | -202.414995 | -182.173473 | -161.9319851 | -141.690429 | -121.448907
-202.41504 | -182.173518 { -161.931996 | -141.690474 | -121.448952 } -101.20743
-182.173563 | -161.932041 | -141.690519 | -121.448997 | -101.207475 | -80.965953
-161.932086 | -141.690564 | -121.448042 | -101.20752 - -80.965998 | -60.724476
-141.690609 | -121.449087 | -101.207565| -80.966043| -60.724521 -40.482999
-121.449132 | -101.20761 -80.966088 | -60.724566| -40.483044| -20.241522
-101.207655 | -80.966133| -60.724611 -40.483089| -20.241567 -4.5-10 -5
-80.966178 | -60.724656| -40.483134| -20.241612 910 -5 20.241432
-60.724701 -40.483179| -20.241657 -1.3510 4 20.241387 40.482909
-40.483224 | -20.241702 -1.8-10 4 20.241342 40.482864 60.724386
-20.241747 -2.25-10 4 20.241297 40.482819 60.724341 80.965863
-2.710 -4 20.241252 40.482774 60.724296 80.965818 101.20734




NE g

TIf £
e
FUNDAMENTAL CONSTANTS PART 3
Planck Units

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G:=-7.175705 lo :=-32.791456 S:1=39.355880 mb :=-23.776602
h:=-26.976924 t0 :1=-43.268367 J:=0.5-(am+ S) K:=0.5-(am- S)
n:=-1 p:=-6..6 q:=-6..6 k=2 M :=kJ+mo R:i=klJ4lo

U:=05-(-c+G=h+2M) V:=05(3c-G-h+2R) W:=05(-5c+G+h)

3

Z =T

p:q P-q

T . =05pU+05qV+W

—to

M = 35.820755 R =7.691498

N ¥

-161.931906 | -141.690384 | -121.448862 | -101.20734| -80.965818| -60.724296
-141.690429 | -121.448907 | -101.207385 | -80.965863| -60.724341| -40.482819
-121.448952 1 -101.20743| -80.965908| -60.724386| -40.482864 -20.241342
-101.207475| -80.965953| -60.724431| -40.482909] -20.241387 1.3510 4
-80.965998 | -60.724476| -40.482954 | -20.241432 910 -5 20.241612
-80.724521 | -40.482999 | -20.241477 4510 -5| 20.241567 | 40.483089
-40.483044 | -20.241522 0 20.241522| 40.483044 | ©60.724566
-20.241567 -4510 5] 20.241477| 40482999 60.724521 80.966043
-9-10 5| 20.241432| 40.482054| 60.724476| 80.965998 101.20752
20.241387 | 40.482909| 60.724431 80.965953 | 101.207475| 121.448997
40.482864 | 60.724386| 80.965908 . 101.20743| 121.448952 | 141.690474
60.724341 80.965863 ( 101.207385 | 121.448907 | 141.690429 | 161.931951
80.965818 101.20734 | 121.448862 .141.690384 161.931906 | 182.173428




N & .

TimEs (3
4
FUNDAMENTAL CONSTANTS PART 3
Planck Units
¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G:=-7.175705 lo :=-32.791456 S:=39.355880 mb 1=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am+S) K:=0.5-(am - S)
n:=-1 p:=-6.6 q:=-6.6 ki=2 Mi=kJ+mo R:i=kJ+1o

W :=0.5(-5¢c+G+h)

U:=05(-c+G-h+2-M)

V:=05(3.¢c— G- h+2R)

T . =05pU+05qV+W M = 35.820755 R =7.691498
Zp,q:=Tp’q—to {V ‘X

-101.20734 | -80.965818| -60.724296| -40.482774| -20.241252 2.7-10 -4
-80.965863 | -60.724341| -40.482819| -20.241297 2.25-10 4| 20.241747
-60.724386 | -40.482864| -20.241342 1.810 41 20.241702| 40.483224
-40.482909 | -20.241387 1.35-10 4| 20.241657| 40.483179| 60.724701
-20.241432 910 5| 20.241612| 40.483134| 60.724656| 80.966178

4510 -5| 20.241567| 40.483089| 60.724611 80.966133 | 101.207655

20.241522| 40.483044| 60.724566| 80.966088| 101.20761| 121.449132
40.482999 | 60.724521 80.966043 | 101.207565| 121.449087 | 141.690609
60.724476 | 80.965998 | 101.20752| 121.449042| 141.690564 | 161.932086
80.965953 | 101.207475| 121.448997 | 141.690519| 161.932041 | 182.173563
101.20743 | 121.448952 | 141.690474 | 161.931996| 182.173518| 202.41504
121.448907 | 141.690429 | 161.931951 | 182.173473 | 202.414995| 222.656517
141.690384 | 161.931906 | 182.173428 | 202.41495| 222.656472 | 242.897994 |




-3

-2

WIN| ~]O

¢ :=10.476821

G :=-7.175705

h:=-26.976924
n:=-1

FUNDAMENTAL CONSTANTS

mo :=-4.662199
lo 1=-32.791456
to :=-43.268367

p:=-3.3

U:=0.5(-c+G-h+2-M)

T

=pU+qV+W

P-q

-286.166361
-225.44193

-103.993068

| -43.268637

-225.44184

q:i=-3.3

V:i=053.c-G-h+2R)

[-407.615223 -346.890702 -286.166181
-346.890792 -286.166271

-225.44175
-164.717319

-164.717409 -103.992888

-164.717499 -103.992978

-43.268547
17.455884

-43.268457
17.455974
78.180405

am :=1.127074 re :=-12.550068
S:=39.355880 mb. :=-23.776602
J:=0.5(am+ S) K:=0.5-(am-S)
k=3 M:i=kJ+mo Ri=zkJ+lo

W :=0.5-(-5-c+G+h)

M = 56.062232 R =.27.932975

VuviveRsk

-225.44166 -164.717139 -103.992618

-164.717229 -103.992708
-103.992798 -43.268277
-43.268367 *17.456154
ATAS606H 78180585
78.180495  138.905016
138.904926  199.629447

-43.268187
17.456244
78.180675
138.905106
199.629537
260.353968

-43.268097
17.456334
78.180765
138.905196
199.629627

260.354058

321.078489




U
THM

-
i

=S

FUNDAMENTAL CONSTANTS Part2

mo :=-4.662199

:=10.476821
G:=-7.175705
h:=-26.976924

h:=-1 p=-6.6

U =0.5-(-c+ G—h+2-M)

Ps

T . =05pU+05qV+W

Io 1=-32.791456
to 1=-43.268367

q:=-6.6

V:=05-3.¢c-G-h+2R)

am :=1.127074 re :=-12.550068
S:=39.355880 mb :=-23.776602
J:=05-(am+ 8) K:=0.5-(am-S)
k:=3 M :=k-J4+mo Ri:=kJ+1o

M = 56.062232
UVInY ERSE

W :=0.5-(-5-c+ G+h)

R =27.932975

-407.615223 | -377.2529625 | -346.890702 | -316.5284415 | -286.166181
-377.2530075 | -346.890747 | -316.5284865 | -286.166226 | -255.8039655
-346.890792 | -316.5285315 | -286.166271 | -255.8040105 -225.44175
-316.5285765 | -286.166316 | -255.8040555 | -225.441795 | -195.0795345
-286.166361 | -255.8041005 -225.44184 | -195.0795795 | -164.717319
-255.8041455 | -225.441885| -195.0796245( -164.717364 | -134.3551035
-225.44193 | -195.0796695 | -164.717409 | -134.35661485 | -103.992888
-195.0797145 | -164.717454 | -134.35561935| -103.992933 | -73.6306725
-164.717499 | -134.3552385 | -103.992978| -73.6307175 -43.268457
-134.3552835 | -103.993023 | -73.6307625 -43.268502 | -12.9062415
-103.993068 | -73.6308075 -43.268547 | -12.9062865 17.455974
-73.6308525 -43.268592 | -12.9063315 17.455029 | 47.8181895
-43.268637 | -12.9063765 17.455884 | 47.8181445 78.180405




FUNDAMENTAL CONSTANTS Part 2

¢:=10.476821 mo :=-4.662199 am :=1.127074
G:=-7.175705 lo :=-32.791456 S:=39.355880
h:=-26.976924 to :=-43.268367 J:=0.5-(am+8)

n:=-1 pi=-6.6 qi=-2.2 k:=3 M=k

U:=05(-c+G-h4+2M)  V:=053-c—G-h+2R)

M = 56.062232

UNVIERSE

T

. =05pU+05q9V+W

re 1=-12.550068

mb :=-23.776602

K:=0.5-(am - S)
J+mo Ri=kJ+1o

W :=0.5-(-5-c+G+h)

R =27.932975

-3 286.166181 | -255.8039205 | 22544166 | 1950793995 | -164.717139
-5 255.8030655 | 225.441705 | -195.0794445 | -164.717184 | -134.3549235
s 225.44175 | -195.0794895 | -164.717229 | -134.3549685 | -103.992708
-3) 105.0795345 | -164.717274 | -134.3550135 | -103.992753 | -73.6304925
. 164717319 | 1343550585 | -103.992798 | -73.6305375| -43.268277
| <Yl 111343551035 | -103.992843 | -73.6305625| -43.268322| -12.9060615
. -103.902888 | -73.6306275 | ° /43268367 -12.9061065 |X 17.456154
v, 73.6306725 | _-43.268412| -12.8061515| 17456109 | 47.8163695
/ -43.268457 | -12.9061965 |/ #/17.450004 1 47.8183245|  78.180585
3 12.0062415|  17.456010| 47.8182795|  78.18054 | 108.5428005
. 17.455074 | 47.8182345|  78.180495 | 1085427555 | 138.905016
4 47.8181895 78.18045 | 108.5427105| 138.904971| 169.2672315
3 78.180405 | 108.5426655 | 138.904926 | 169.2671865 | 199.620447
de T=17.-¢
9 ~C -



FUNDAMENTAL CONSTANTS Part 2

¢:=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068

G:=-7.175705 lo 1=-32.791456 S:1=39.355880 mb :=-23.776602

h:=-26.976924 to 1=-43.268367 J:=0.5-(am+ S) K:=0.5-(am - S)
ni=-1 p:=-6.6 q:=-6.6 k:=3 M:i=kJ+mo R:i=kJ+lo

U:=05-(-c+G-h+2M) V:=05(3c—-G-h+2R) W:=0.5(-5c+G+h)

R =27.932975

M =56.062232
VW iVEESE

,i;

Tp . =05pU++05qV+W

-164.717139

134.3548785

103.992618

-73.6303575

-43.268097

-134.3549235| -103.992663 | -73.6304025 -43.268142 | -12.9058815
-103.892708 | -73.6304475 -43.268187 | -12.9059265 17.456334
-73.6304925 -43.268232( -12.9059715 17.456289 | 47.8185495

-43.268277 | -12.9060165 17.456244 | 47.8185045 78.180765
-12.9060615 | & 17.456199 | 47.8184595 78.18072| 108.5429805

K 17.456154 | 47.8184145 78.180675 | 108.5429355 138.905196

47.8183695 78.18063 ] 108.5428905 138.905151 | 169.2674115

78.180585| 108.5428455 138.805106 | 169.2673665 199.620627
108.5428005 138.905061 | 169.2673215 199.629582 | 229.9918425
138.905016 | 169.2672765 199.629537 | 229.9917975 260.354058
169.2672315 199.629402 | 229.9917525| 260.354013 | 290.7162735
199.629447 | 220.9917075| 260.353968 | 290.7162285 321.078489




U (4

TiNME
/3/@7154
Vinids
' / c K
FUNDAMENTAL CONSTANTS PART 3 fL AN
LNVITS
¢ :=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G:=-7.175705 lo :=-32.791456 S:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am+ 8) K:=0.5:.(am- S)
n:=-1 p:=-6.6 q:=-6.6 k:=3. Mi=kJ+mo R:i=kJ+lo

U:i=05(-c+G-h+2-M)

Vi=053¢c-G~-h+2R) W:i=0.5-(-5¢c+G+h)

TP,q =0.5pU+405qgV+W M = 56.062232 R =27.932975
Zp’q = Tp’q— to
UN IV ERSE P
-364.346856 | -333.984595 | -303.622335 | -273.260074 | -242.897814 | -212.535553
-333.08464 | -303.62238 1 -273.260119 | -242.897859 | -212.535598 | -182.173338
-303.622425 | -273.260164 | -242.897904 | -212.535643 { -182.173383 | -151.811122
-273.260209 | -242.897948 | -212.535688 | -182.173428 | -151.811168 | -121.448907
-242.897994 | -212.535733 | -182.173473 | -151.811213 | -121.448952 -91.086691
-212.535778 | -182.173518 | -151.811257 | -121.448097 | -91.086736| -60.724476
-182.173563 | -151.811302 | -121.449042 | -91.086781 -60.724521 -30.362261
-151.811348 | -121.449087 | -91.086826| -60.724566| -30.362306 -45-10 -5
-121.449132 -91.086871 -60.724611 -30.362351 -9-10 -5 30.36217
-01.086916 | -60.724656| -30.362395 -1.35:10 -4 30.362126 60.724386
-60.724701 -30.36244 -1.8-10 4 30.36208 60.724341 91.086602
-30.362486 -2.2510 4 30.362035 60.724296 91.086556 | 121.448817
-2.7-10 4 30.361991 60.724251 01.086512 | 121.448772| 151.811033




¢:=10.476821
G :=-7.175705
h:=-26.976924

=-1

FUNDAMENTAL CONSTANTS PART 3

V

"»\w;y

TIMEST
fi{&'m«wé
Ui

mo :=-4.662199
lo :=-32.791456
to :=-43.268367

p:=-6..6

U :=05(-c+G-h+2-M)

3

Z =T
L

-242.897814

T =05pU+05qV+W

- to

-212.635553

q:=-6.6

V:=05.(3-c— G- h+2R)

am :=1.127074
S 1=39.355880
7:=0.5-(am+ S)

k=3

M = 56.062232

UMIVERS &

-182.173293

-151.811033

M i=k-J4+mo

PLANCK

W ANE)

re 1=-12.550068

mb :=-23.776602

K :=0.5-(am - S)
R:=kJ+1lo

W:=0.5.(-5-c+G+h)

R =27.932975

Vo

-121.448772

-91.086511

-212.535598

-182.173338

-151.811077

-121.448817

-91.086556

-60.724296

-182.173383

-151.811122

-121.448862

-91.086601

-60.724341

-30.36208

-151.811168

-121.448807

-91.086646

-60.724386

-30.362126

1.35-10 -4

-121.448052

-91.086691

-60.724431

-30.362171

9-10 -5

30.362351

-91.086736

-60.724476

-30.362216

4510 5

30.362305

60.724566

-60.724521

-30.362261

0

30.36226

60.724521

91.086782

-30.362306

-4.510 5

30.362215

60.724476

91.086737

121.448997

-9:10 -5

30.36217

60.724431

91.086692

121.448952

151.811213

30.362126

60.724386

91.086647

121.448807

151.811168

182.173428

60.724341

91.086602

.121.448862

151.811122

182.173383

212.535643

91.086556

121.448817

151.811077

182.173338

212.535508

242.897859

121.448772

151.811033

182.173293

212.535653

242.897814

273.260074




l* N

U:=0.5-(-c+G-h+2-M)

ps

Z =T
P-q p.q

T q =05pU+05qV+W

—to

V:1=05-(3-c= G-h+2R)

M =56.062232

TIMES ™
E Zm mc/(
Vil PRk
FUNDAMENTAL CONSTANTS PART 3 VNI TS
¢ :=10.476821 mo :=-4.662199 am :=1.127074 re :=-12.550068
G :=-7.175705 lo :=-32.791456 S:=39.355880 mb :=-23.776602
h:=-26.976924 to :=-43.268367 J:=0.5-(am+S) K:i=0.5-(am-8)
n:=-1 p:=-6.6 q:=-6.6 k:=3 M:=kJ+mo R:i=klJ+lo

W:=0.5-(-5-¢+G+h)

R =27.932975

Vi lVERSE

-151.811033 | -121.448772| -91.086511| -60.724251| -30.361991|  2.7-10 -4
121448817 | -91.086556| -60.724296| -30.362035| 2.2510 4| 30.362486
~91.086601 | -60.724341| -30.36208 |  1.810 4|  30.36244| 60.724701
260.724386 | -30.362126| 1.3510 4| 30.362395| 60.724656| 91.086917
-30.362171 910 5| 30.362351| 60.724611| 91.086871| 121.449132
4510 5| 30362305| 60.724566| 91.086827| 121.449087 | 151.811348
30.36226 | 60.724521| 91.086782| 121.449042| 151.811302 | 182.173563
60.724476 | 91.086737 | 121.448997 | 151.811257 | 182.173518| 212.535778
91.086692 | 121.448952 | 151.811213 | 182.173473| 212.535733 | 242.897994
121.448907 | 151.811168 | 182.173428 | 212.535688 | 242.897949 | 273.260209
151.811122 | 182.173383 | 212.535643 | 242.897904 | 273.260164 | 303.622425
182.173338 | 212535508 | 242.897850 | 273.260119| 303.62238 | 333.98464
212.535553 | 242.897814 | 273.260074 | 303.622335| 333.984595 | 364 346856




GEN MATRIX



ZEROTIME.MCE

c:=10.476821
mo :=-4.662199
a:==1

x(a,b) :=£a_‘5§£l

B(a,b) :=0.5(a= 3-b)-c+0.5(b~a)-G+0.5(a+b)h

A(2,-1,0) = 28.129348

B(4,-1) = 14.1427495
B(3,-1) = 18.804949
B(2,-1) = 23.4671485
B(1,-1) = 28.129348
B(0,- 1) = 32.7915475
B(-1,-1) = 37.453747
B(-2,-1) = 42.1159465
B(-3,-1) = 46.778146

B(-4,-1) = 51.4403455

G:=-7.175706

lo :=-32.791545

7/(/‘5

OCTOBER 27, 2001

THE ¢,G,h MATRIX

b:=2

y(a,b) =

A(-1,0,1) = -37.453747

B(4,0) = - 18.648798
B(3,0) = - 13.9865985
B(2,0) =-9.324399
B(1,0) = -4.6621995
B(0,0) = 0

B(-1£0) = 4.6621995
B(-2,0) = 9.324399
B(-3,0) = 13.9865985

B(-4,0) = 18.648798

h :=-26.976926

t0:=-43.268364

(b—2a)
2

ic the K-

z(a,b) :=

B(4,1) = - 51.4403455
B(3,1) =-46.778146
B(2,1) =-42.1159465
B(1,1) =-37.453747
B(0,1) =-32.7915475
B(-471) = -28.129348
B(-2,1) =-23.4671485
B(-3, 1) = - 18.804949

B(-4,1) = - 14.1427495

Matrix for

mp :=-23.776602

re :=-12.550068

(a+b)

A(x,y,z) =xc+y-G+zh

A(0,-1,2) =-46.778146

B(4,2) =-84.231893
B(3,2) =-79.5696935
B(2,2) = -74.907494
B(1,2) =-70.2452945
B(0,2) =-65.583095
B(-1,2) = -60.9208955
B(-2,2) = -56.258696
B(-3,2) =-51.5964965

B(-4,2) = -46.934297

Diret e - vz wz=p



c:1=10.476821
mo :=-4.662199
Mu :=52.681010
Ru i=24.551659

am :=1.127074

x(a,b) =

(a—-3b)

FORMULAE

G:=-7.175706

lo :=-32.791545

Ms :=33.566607

h :=-26.976926 mp :=-23.776602
to 1=-43.268364 re :=-12.550068

Md :=15.579278 mp :=-23.776602

Rs 1=5.437261 Rd i=-12.550068 re :=-12.550068
Rn:=re Mn (=mp A(x,y,z) =xc+y-G+zh
y(a,b) =) 2(a,b) =212

B(a,b) :=0.5-(a= 3-b)-c+0.5(b-a)-G+0.5(a+b)-h

M

_(0.5(a—3:b)-c+0.5(b—2)-G+0.5(a+b)h—bRn)

a,b

R

a

_(0.5-(a=3-b)-c+0.5(b— )G+ 0.5-(a+ b)-h— a-Mn)

a,b

b



IMﬁ“Td s

GENMATRIX2.MCD
¢:=10.476821 G:=-7.175706 h :=-26.976926
Mu :=52.681010 Ms :=33.566607 Md =15.579278  mp :=-23.776602
Ru =24.551659 Rs =5.437261 Rd:=-12.550068 re:=-12.550068
am :=1.127074 Rn:=re Mn :=mp u:i=0 vi=0 w:i=0
ai=-5.5 bi=-5.5
Ba b =05(-(uv-3v-5w-a+3b)c+-(-u+v+w+a-b)G+-(u+v+w—a-b)h)
. {Ba,b_‘_ b-Rn) _— (;Ba,b_ aan;},
a,b T a,b =
a b
b R
-8 o2 oA 0 a2
-5 121.68564 88.894092{ 56.102545 23.310997 -9.48055| -42.272098
-4 117.02344 84.231893 51.440345 18.648798 | -14.142749 | -46.934297
-3] 112.361241 79.569693 46.778146 13.986599| -18.804949| -51.596497
-21 107.699041 74.907494 42.115946 9.324399 | -23.467149 ] -56.258696
4\/\ " B= -1| 103.036842 70.245294 37.453747 4.662199 [ -28.129348 | -60.920896
o 0 98.374642 65.583095 32.791 547 . 0 //;;32?91‘9@} ~ -65.583095
1 93.712443 60.920896 12812931}8 ,fﬂ}6621¢997 -37.453747 | -70.245294
2 89.050243 56.258696 23.467149 -9.324399 | -42.115946 | -74.907494
3 84.388044 51.596497 18.804949 | -13.986599| -46.778146] -79.569693
4 79.725844 46.934297 14.142749 | -18.648798 | -51.440345| -84.231893
5 75.063645 42.272098 9.48055] -23.310997| -56.102545| -88.894092
R =0.555556 K '

OK

OCTOBER 29, 2001

le

This %4&/:? 5 /Ve FAe
valvesof (<, G, ) = B
ay Fu%cf/\%/( o/ Mq/%é

A/Ié/ M: Qﬁ
; 2
_ b
ol JQ = ﬁ
MC@;



GENMATRX2.MCD

¢ :=10.476821

Mu =52.681010
Ru:=24.551659
am :=1.127074 "

a:=1.5

a,

G =-7.175706

Ms :=33.566607

Rs :=5.437261
&n =re
"bi=-5.5

h 1=-26.976926

Rd :=-12.550068

Mn :=mp

Md :=15.579278

u:=0

mp =-23.776602

|re 1=-12.550068

B =05 (-(u-3v-5Sw-a+3b)ct-(-u+v+w+ a- b) G+-(u+v+w—a-b)h)

M = (Ba,b_ b.Rn) . v R = i.Ba,b_ aMn\
a,b a b a,b b

3 2 T o o T
-5 0 0 0 0 0 0
-4 0 0 0 0 0 0
-3 0 0 0 0 0 0
-2 0 0 0 0 0 0
M=l 0 0 0 0 0 0
0 0 0 0 0 0 0
) 1| 56.062239 | /3582076 | 1557928 |//:4662199 | ;24,903679| -45.145159
2| 2570002 |,/15/57928/| 5.45854 | -4.662199 | -14.782939 | -24.903679
3| /155579287 8.83212|  2.08496 -4.6622 | -11.409359 | -18.156519
4| 10.51891| 545854| 0.39817| -4.662199 | -9.722569 | -14.782939
5| 7.482688| 3.434392| -0.613904 | -4.662199| -8.710495 | -12.758791

R =0.555556 K

OCTOBER 29, 2001

al |3
Ma ([ o1
Iwevt R



GENMATRIX2.MCD

c:=10.476821
Mu :=52.681010
Ru :=24.551659

am:=1.127074

h :=-26.976926

Md:=15.579278 | mp i=-23.776602

Rd :=-12.550068 re:=-12.550068

G=-7.175706

Ms :=33.566607

Rs i=5.437261

Rani=re _!‘ Mn :=mp ui=0 vi=0

b:=1.5

B, =05 (-(u=3v—Sw- a+3-b)-c/4-(-u+v+w+ a=)G#-(u+v+w—a=b)h)

OCTOBER 29, 2001

M (B, ,~ b'Rn) . (B, ,— a-Mn)
a,b a a,b. b
b
0 : ] 1 i 2 8 4 : i 5
-5 0| -128.36356 | -80.577554 | -64.648885| -56.684551| -51.90595
-4 0{-109.249157 | -71.020353| -58.277417| -51.90595| -48.08307
-3 0] -90.134755| -61.463151| -51.90595 | -47.127349 -44.260189
-2 0| -71.020353| -51.90595 | -45.534482 | -42.348749| -40.437308
R |1 0| -51.90595| -42.348749| -39.163015( -37.570148| -36.614428
0 0| 32791547 | -32.791547 | /32794548 | -32.791547 | -32.791548
a 1 0| 418677145 -23.234346| -26.42008 | -28.012947 | -28.968667
2 0| /5431258 13677145| -20.048612| -23.234346| -25.145786
3 O /72455166 | -4.119944 | ~13677145| -18.455746| -21.322006
4 0| 43666063 5437258 | -7.305677| :13.677145| -17.500025
5 0| 62.780465| 14.994459| -0.93421| -8.898544 | 13677145

0k



GENMATRIX2.MCD

¢ :=10.476821

Mu :=52.681010
Ru :=24.551659
am :=1.127074

a:=-5.5

G 1=-7.175706 h 1=-26.976926
Ms i=33.566607  [Md:=15.579278) mp i=-23.776602
Rs 1=5.437261 Rd =-12.550068  te:=- 12.550068

Rn:=re [@ ui=0 vi=0

b:

1.5

OCTOBER 29, 2001

Ba b =05(-(u-3v-5w-a+3b)c+-(-u+v+ w+é— b) G+-(u+v+w—a-b)h)

u (\"Bavb- b-Rn;‘) R (Ba,b- a~Mn>

a,b a a,b b

0 1 2 o3 A 5
-5 0| 6841584| 17.812146| 0.0944248| -7.489701 2550071
4 O 48.174363| ~ 7.691407 | -5.802911| 1255007 | -16.598365
-3 0| [27.932885| -2.429331| ~-12:65007/ -17.610439| -20.646661
2 0 691407/ 412555007 | -19.297229| -22.670809| -24.694956

R=|1 0| ,#12:55007:| -22.670809 | -26.044388 | -27.731178| -28.743252
' 0 0| /-32:791547/| -32.791547| -32.791548| -32.791547| -32.791548

1 0| -53.033025| -42.912286| -39.538707| -37.851917| -36.839843
2 0| -73.274502| -53.033025| -46.285866| -42.912286| -40.888138
3 0| -9351598| -63.153764| -53.033025| -47.972656| -44.936434
4 0| -113.757457 | -73.274502 | -59.780184 | -53.033025| -48.98473
5 0]-133.998935| -83.395241| -66.527343| -58.093394| -53.033025 |

[Py M



GENMATRIX2.MCD

c:=10.476821

Mu :=52.681010

am :=1.127074

ai=-5.-1

G:=-7.175706

Ms :=33.566607

Rui=24.551659 | Rs:i=5437261
M Mn:=Ms  u:'=0 vi=0
b:=-5.5 ‘ '

h :=-26.976926

Md = 15.579278

Rd :=-12.550068

mp :=-23.776602

re :=-12.550068

wi=0

OCTOBER 29, 2001

B, =05 (-(u=3v=5w-at3-b)ct-(-ut+v+wta- b)-G+-(u+v+w=a—Db)-h)

(Ba ,— bRn . \B‘ - a-Mn\)
M =2 L R =220
a,b a / a,b b
| 0 1 2 [ 3 4 | 5

5| 4662199 2.983562| 10.629324| 18.275086| 25920847 | /33586609
Mo |4 -4662199]  4.895003 | 14.452205| 24.009407 | /33566609 43.123811
-3 -4.6622|  8.080737 | 20.823673| 33566609 | 46.309545| 59.052481
' 2| 4662199 | AAA52205| 33566609 | /52/681018| 71.795417| 90.909822
1| 4662199 | 33566609 71.795417 [ 110.024226 | 148.253035 | 186.481843

IVPYT R ¢



GENMATRIX2.MCD

¢:=10.476821 G:=-7.175706

Mu =52.681010 | Ms :=33.566607)

Ru :=24.551659 Rs 1=5.437261

"h 1=-26.976926

Md :=15.579278

am :=1.127074

a:=-5.5 bi=1.5

mp :=-23.776602

Rd :=-12.550068  re:=-12.550068

Rn=re @L u:=0 vi=0

wi=0

Ba : =05(G-(u-3v~-5w—-a+3b)c+-(-u+v+wta-— b)-G+-(u+v+w— a—Db)h)

"o (B, ,— b'Rn) - (B, »— a:Mn)
a,b a a,b b
o | 1 2 3 o4 )6
-5 0| 158.352485| 62.780469| 3092313 | 14.994461| 5437259
-4 0] 120123678 | 43.666065| 18.180194| 57437259 | -2.208502
-3 0| 81.804872| 74551667 /54372569 -4.119943| -9.854264
-2 0| 43.666065| /75437259 | -7.305676| -13.677144| -17.500025
Rl 0| /5437259 | /13677144 -20.048612| -23.234346 | -25.145786 |
0 0| -32.791547| -32.791547| -32.791548| -32.791547| -32.791548
1 0| -71.020354| -51.905951| -45.534483 | -42.348749 -40.437309
2 0| -109.24916| -71.020354| -58.277418| -51.905951| -48.08307
3 0| -147.477967 | -90.134757 | -71.020354| -61.463152| -55.728831
4 0|-185.706773| -109.24916 | -83.763289 | -71.020354 | -63.374593
5 0| -223.93558 | -128.363564 | -96.506225 | -80.577556 | -71.020354

OCTOBER 29, 2001

| KR T

Ms



GENMATRIX2.MCD
c:=10.476821 G :=-7.175706

Mu :=52.681010 Ms :=33.566607

e
Ru =24.551659 Rs:=5.437261

a:=1.5 bi=-5.5

Md =15.579278

h 1=-26.976926

v:i=0

mp :=-23.776602

Rd:=-12.550068 re:=-12.550068

.’_____/
am 1= 1.127074 M Mni=mp  ui=0

w:=0

OCTOBER 29, 2001

Ba b =05(-(u-3v-5w—-a+3b)ct+-(-u+v+w+a-b)G+-(u+v+w—-a-b)h)

" (Ba’b— b-Rn) I (:BM- a:Mn}
a,b a b a,b b
, 4 s 2 A 0 R
-5 0 0 0 0 0 0
-4 0 0 0 0 0 0
-3 0 0 0 0 0 0
o -2 0 0 0 0 0 0
M=l 0 0 0 0 0 0
0 0 0 0 0 0 0
1] 224710626 | 167.36742| 110.024214 | 52681007 -4.662199 | -62.005406
2| 110.024214 |  81.35261 | . 52.681007 24.009404 | -4.662199 | -33.333803
3| 71.795409| 52.681007| 33566605 | <14452203| 46622 33776602
4| /52,681007.| 38.345205| 24.009404| 9.673602 | -4.662199 | -18.998001
5| 41212366 20743724 18275083| 6.806442| -4.662199 | -16.130841

R=0.555556 K

Lnpt Re



GENMATRIX2.MCD
¢ :=10.476821

Mu :=52.681010

G :=-7.175706

Ms 1=33.566607

| Ru 1=24.551659 Rs 1=5.437261

am :=1.127074

a:=-1.-5

l Rn'=Ru I Mn :=mp

b:=-5.5

h:=-26.976926

Md i=15.579278

mp :=-23.776602

Rd :=-12.550068 . - re i=-12.550068

u:=0

v:=0

w.=0

OCTOBER 29, 2001

Ba b =05(-(u~3v-5w-at+3b)ect+-(-u+v+w+a->b)G+-(u+v+w—-a-b)h)

s Y
" '=<Ba,b—bRn> (B ,—aMn)

a,b a b

b |

-3 2 A 0 1 R

5| -39.068123| -27.599482| -16.130841| -4.662199| 6.806442 | 18.275083

Mo|4| 47669604 | -33.333803| -18.998001| -4.662199 | . 9.673602 | 24.009404

|| 200s406] 42891004 /23776602 46622 14452203 ] 33 56660

-2| -90.677009| -62.005406| -33.333803| -4.662199 | 24.009404 | /52:681007

-1] -176.691819 | -119.348613 | -62.005406 | -4.662199 | /52681007 110.024214

R = 0.555556 K

Lupt R,



GENMATRIX2.MCD

¢:=10.476821
Ru :=24.551659
am:=1.127074

a:i=-5.5

G :=-7.175706

Ms :=33.566607

Rs i=5.437261

Rn i=re

h :=-26.976926

Md :=15.579278

Rd :=-12.550068

@ u:=0 vi=0

mp :=-23.776602

re :=-12.550068

OCTOBER 29, 2001

Ba b =05G-(w-3v-5w-a+3b)c+-(-u+v+w+a-b)G+-(u+v4+w=-a-b)h)

. (Ba’b— b-an, - (Ba,b— a-Mn>
a,b a a,b b
-5 0| 253.9245| 110.566476 | ~ 62.780468 | 38.887464 | /24:551662
-4 0| 196.581291| 81.894871| 43.666065 | /24551662  13.08302
3 0| 139.238081| 53.223267| /24/561662|  10.21586 1.614378
2 0 81.894371 ,/,;;324;535/19@2 /,/g,%:ggzz,?g -4.119943 |  -9.854264 WRT MU
R |1 0| 24551662 -4.119943| -13677144| -18.455745| -21.322906
. 0 0| -32.791547 | -32.791547| -32.791548| -32.791547 -32.791548
1 0| -90.134757| -61.463152| -51.905951| -47.12735( -44.260189
2 0| -147.477967 | -90.134757 | -71.020354| -61.463152( -55.728831
3 0] -204.821176 | -118.806362 | -90.134757 | -75.798955  -67.197473
4 0| -262.164385 | -147.477967 | -109.24916 | -90.134757 [ -78.666115
5 0 -319.507595 | -176.149571 | -128.363563 | -104.470559 | -90.134757 |




GENMATRIX2.MCD
¢:=10.476821

Mu :=52.681010

Ru :=24.551659 Rs :=5.437261
am :=1.127074 Rni=re Mn =Ms
a:i=-5.5 b:i=-5.5

G =-7.175706

Ms :=33.566607

Md :=15.579278

h :=-26.976926

mp :=-23.776602

Rd :=-12.550068 re :=-12.550068

u:=1 vi=l

wi=-2

OCTOBER 29, 2001

Ba b =05C¢-(u-3v-5w- a+3-b)-c+-(-’u+v+w+ a—-b)G+-(u+v+w—a-b)h)

" e (Ba’b— b-Rn) - (:Bajb— a~Mn>
a,b a a,b b
| b
5| 39.811103 7.019555 | 25771992 | -58.56354 | -91.355087 | -124.146635
-4| 35.148903 2.357355 | -30.434192| -63.225739| -96.017287 | -128.808835
o |-3] 30.486703| -2.304844 | -35.096391| -67.887939| -100.679486 | -133.471034
2| 25.824504| -6.967043( -39.758591( -72.550139 | -105.341686 | -138.133233
! po|-1| 21.162305| -11.629243| -44.42079| -77.212338 | -110.003885 | -142.795433
0] 16.500105| -16.291442| -49.08299 | -81.874538 | -114.666085 | -147.457632
1| 11.837905| -20.953642| -53.745189| -86.536737 | -119.328284 | -152.119832
2 7.175706 | -25.615841| -58.407389| -91.198937 | -123.990484 | -156.782031
3 2.513507 | -30.278041| -63.069589| -95.861136 | -128.652683 | -161.444231
4| 2148693 | -34.940241| -67.731788| -100.523335 | -133.314883 | -166.10643 |
5| -6.810893 | -39.60244 | -72.393987 | -105.185535 | -137.977082 | -170.76863

Fores
S )\7744 wro™s

) comedt

ot)'



GENMATRIX4.MCD

c:=10.476821 G =-7.175706

Mu :=52.681010 Ms :=33.566607

Ru:=24.551659 Rs :=5.437261
am :=1.127074 Rn i=re Mn :=mp
ai=-5.5 bi=-5.5

h 1=-26.976926
Md :=15.579278
Rd :=-12.550068

Cu=0

mp :=-23.776602

re :=-12.550068

vi=0 W=

0

Ba b =05 ((v-3v=-5w-a+3b)ct+(-u+v+w+a-b)G+(u+v+w—a-b)h)

M (./\Ba,b— b-Rn} - {:Ba,b— aMn,
a,b - a,b T
a b
b

-3 20 o b 0 s 1 2
-5 -121.68564| -88.894092| -56.102545| -23.310997 9.48055 | 42.272098
-4 -117.02344 | -84.231893] -51.440345]| -18.648798 14.142749 46.934297
<31 -112.361241 | -79.569693 | -46.778146| -13.986599 18.804949 51.596497
-2 -107.699041 | -74.907494 | -42.115946 -9.324399 23.467149 | - 56.258696
B = -11 -103.036842 | -70.245294 | -37.453747 -4.662199 28.129348 60.920896
0] -98.374642} -65.583095| -32.791547 0 32.791547 65.583095
o 1 -93.712443 | -60.920896 | -28.129348 4.662199 37.453747 70.245294
2| -89.050243| -56.258696| -23.467149 9.324399 42.115946 74.907494
31 -84.388044| -51.596497| -18.804949 13.986599 46.778146 79.569693
41 -79.725844 | -46.934297 | -14.142749 18.648798 51.440345 84.231893
51 -75.063645| -42.272098 -9.48055] 23.310997 56.102545 88.894092

R = 0.555556 '

§IG-W5

REVERSED

OCTOBER 29, 2001



GENMATRIX4.MCD 'OCTOBER 29, 2001

¢:=10.476821 G :=-7.175706 h :=-26.976926

Mu :=52.681010 Ms :=33.566607 Md =15.579278  mp :=-23.776602

Ru :=24.551659 Rs :=5.437261 Rd =-12.550068 re:=-12.550068
am :=1.127074 Rni=re Mn :=mp u:=0 v:=0 W =0
ai=1.5 bi=-5.5

Ba b =05((u-3v-5w—a+3b)c+(-u+v+w+a-b)G+(v+v+w—a-b)h)

" (B, ,— bRn) R (B, ,— a:Mn)
a,b a a,b b
2 | 0«4 p 0 ot o2 ] 8

-5 0 0 0 0 0 0

-4 0 0 0 0 0 0

-3 0 0 0 0 0 0

2 0 0 0 0 0 0
M| 0 0 0 0 0 0

ol 0 0 0 0 0 0

1] -86.021031| -40.679416| 4.662199| 50.003815(  95.34543 | 140.687046

2| 40679416 | -18.008608|  4.662199 | 27.333007 | 50.003815 72.674623

3| -25.565544| -10.451672 46622 | 19.776071| 34.889943| 50.003815

4| -18.008608| -6.673204| 4.662199| 15997603 | 27.333007 | 38.668411

5| -13.474447| -4406124| 4662199 13.730523| 22.798846| 31.867169

R = 0.555556 K

SigNS RETERSEY



GENMATRIX4.MCD OCTOBER 29, 2001

¢ 1=10.476821 Gi=-7.175706 hi=-26.976926

Mu :=52.681010 Ms 1=33.566607 Md :=15.579278  mp :=-23.776602

Ru :=24.551659 Rs :1=5.437261 Rd:=-12.550068 re=-12.550068
am = 1.127074 Rn :=re Mn:=mp - u:=1. v:i=1 wi=-2
ai=-5.5 bi=-5.5 | a0 5[%/\/”/
. . / ,
Ba b =05((u-3v-5w—a+3b)c+(-u+v+w+a-b)G+(u+v+w-a-b)h)
(B - b-Rn3 . b (B, —aMn)
-\ ﬂib / -\ a»b
Ma.b " ‘ Ra.b '_ 1
N R L R s U T FORCE

-5| -39.811103 -7.019555 |  25.771992 58.56354 | 91.355087 | 124.146635 sy
-41 -35.148903 -2.357355| 30.434192] 63.225739; 96.017287 | 128.808835 5
-3| -30.486703 2.304844 |  35.096391 67.887939 | 100.679486 | 133.471034 0 /<
-2| -25.824504 6.967043.| 39.758591 72.550139'| 105.341686 | 138.133233 b 0 1<,

g .|| 21162305 11629243| 44.42079 | 77.212338| 110.003885 | 142795433
0| /16500105| 16.291442| /745 08209 | 81.874538 | 114.666085 | 147.457632
1] -11.837905| /20953642, 53.745189| 86.536737 | 119.328284| 152.119832
2 |4/ 7775708 25.615841| 58.407389| 91.198937 | 123.990484 | 156.782031
3| 2513507 | 30.278041| 63.069589| 95.861136| 128.652683 | 161444231,
4

5

2.148693 34.940241 67.731788 } 100.523335| 133.314883 166.10643
6.810893 39.60244 72.393987 | 105.185535| 137.977082 170.76863

R =0.555556 K SIenNs @l



GENMATRIX6.MCD OCTOBER 30, 2001

 ¢:=10.476821 G=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms :=33.566607 Md =15.579278  mp :=-23.776602

Rd :=-12.550068

Ru:=24.551659  Rs:=5.437261 re '=-12.550068
am :=1.127074 Rni=re Mni=mp  u:=0 vi=0  wi=0
ai=-5.5. bi=-5.5

B, . :=0.5(c(-a+3b-u+3v+S5w)+G(a-b+tu-v-w)+h(-a—b-u-v-w))

(B —bRn) (B —a-Mn)
M =l b R =220 7
a,b N a,b b )
-2 S I o EE ! AR o2 3
5| -88.804092| -56.102545| -23.310997 0.48055 | 42.272098 | 75.063645
4| -84231893| -51.440345| -18.648798| 14.142749| 46.934297 | 79.725844 Sryms wremp
3| -79.569693 | -46.778146| -13.986599| 18.804949| 51.596497 | 84.388044 PR
2| 74907494 | -42115946| -0.324399| 23.467149| 56.258696| 89.050243 —
p.|1| 70245204| -37.453747| -4662199| 28.129348| 60920896| 93712443 b b
0| -65.583005| -32.791547 0| 32791547| 65583005 98.374642
1| -60.920896 | -28.129348| 4.662199 | 37.453747| 70245294 103.036842
2| -56.258696| -23.467149| 9324309 | 42.115046| 74.907494 | 107.699041
3| -51.506497 | -18.804949| 13.986599| 46.778146| 79.569693| 112.361241
4| -46.934297| -14.142749| 18.648798| 51.440345| 84.231893| 117.02344
5| -42.272098|  -9.48055| 23.310997 | 56.102545| 88.894092| 121.68564




GENMATRIX6.MCD OCTOBER 30, 2001

¢ :=10.476821 G:=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms :=33.566607 Md :=15.579278  mp :=-23.776602

Ru:=24.551659  Rs:=5.437261 Rd :=-12.550068 - re:=-12.550068
am :=1,127074 Rni=re Mn :=mp ui=1 vi=l wi=-2
a:=-5.5 bi=-5.5

Bab:=0.5-(q-(-a+3-b—u+3~v+5'w)+G-(a—b+u—v—w)+h-(-a—-b—u—v4‘-w))

v (Ba’b—b'RJl:} / - (;Ba’b—a-Mn;‘_j
a,b a a,b b
2 0 2 b3
-5| -137.977082 | -105.185535 | -72.393987 | -39.60244 | -6.810893 | 25.980655 | .
-4| -133.314883 | -100.523335 | -67.731788 | -34.940241| -2.148693 | 30.642854
-3[ -128.652683 [ -95.861136 | -63.069589 | -30.278041| 2513507 | 35.305054
-2 -123.990484 [ -91.198937 | -58.407389| -25.615841| 7.175706| 39.967253
po|-1]-119.328284 | -86.536737| -53.745189| -20.953642| 11.837905| 44.629453
0]-114.666085| -81.874538| -49.08299 | -16.291442| 16.500105| 49.291652
1]-110.003885 | -77.212338 | -44.42079 | -11.629243 | 21.162305| 53.953852
2] -105.341686 | -72.550139 | -39.758591| -6.967043| 25.824504| 58.616051
3|-100.679486 | -67.887939| -35.096391| -2.304844 | 30.486703| 63.278251
4| -96.017287| -63.225739| -30.434192| 2.357355( 35.148903| 67.94045
5| -91.355087| -58.56354( -25.771992|  7.019555| 39.811103|  72.60265

FORCE

S/ons Wrery

g > -a
b b



GENMATRIX5.MCD
¢:=10.476821

Mu :=52.681010

Ru :=24.551659

am :=1.127074

ai=-5.5

G =-7.175706

Ms :=33.566607

h :=-26.976926
Md:=15.579278  mp i=-23.776602

re :=- 12.550068

Rs :=5.437261 Rd :=-12.550068
Rni=re Mn :=mp u:=0 vi=0 wi=0
bi=-5.5

OCTOBER 30, 2001

Ba b:=0.5-(c-(a—'3-b-|-u— 3v~-5wW)+G(-a+b—u+v+w)+h(a+b+u+v+w))

" (B, ,= bR - (B, ,— a:Mn)
a,b a b a,b b

-2 -1 B N R ] e e T

5| 88.894002| 56.102545| 23.310997|  -0.48055| -42.272098| -75.063645
-4| 84231893 | 61.440345| 18.648798| -14.142749| -46.934297 | -79.725844
-3| 79.569693 | 46.778146| 13.986599 | -18.804949| -51.596497 | -84.388044
2| 74907494 | 42115946 | 9.324399 | -23.467149| -56.258696| -89.050243
o B=|1| 70245294| 37.453747| 4662199 | -28.129348| 60.920896| -93.712443
0| 65583095| 32791547 0| -32.791547 | -65.583095( -98.374642
1| 60.920896| 28.129348| -4.662199 | -37.453747| -70.245294 | -103.036842
2| 56.258696| 23467149 -9.324399| -42.115946| -74.907494 |-107.699041
3| 51.596497| 18.804949| -13.986599 | -46.778146| -79.569693 | -112.361241
4| 46.934297| 14.142749| -18.648798| -51.440345| -84.231893| -117.02344
5| 42272098 9.48055 | -23.310997 | -56.102545( -88.894092 -121.68564




GENMATRIX5.MCD

c:=10.476821 G :=-7.175706 h :=-26.976926

Mu :=52.681010 Ms :=33.566607 Md :=15.579278 mp :=-23.776602

Rd =~ 12.550068

Ru :=24.551659 Rs 1=5.437261 re :=-12.550068
am :=1.127074 Rn i=re Mn :=mp u:=1 vi=1 wi=-2
a:=-5.5 b:=-5.5

Ba b =0.5(c(a-3b+u-3v-5w)+G(-a+b-—u+v+w)+h(a+b+u+v4w))

v «(Ba,b—- bRn) — (B, ,— a-Mn]
a,b a @ a,b b
41 0 =t a2 23 =4
+5| 105.185535| 72.393987 | 39.60244 |  6.810893 | -25.980655| -58.772203
44| 100.523335| 67.731788| 34.940241|  2.148693 | -30.642854 | -63.434402
43| 95.861136| 63.069589 | 30.278041| -2.513507 | -35.305054 [ -68.096601
42| 91.198937 | 58.407389 | 25.615841| -7.175706| -39.967253| -72.758801
@ p.[t1]| 86536737 53.745189| 20.953642| -11.837905| -44.629453| -77.421001
0| 81.874538| 49.08299 | 16.291442| -16.500105| -49.291652 -82.0832
-1 | 77.212338( 44.42079 | 11.629243| -21.162305| -53.953852| -86.745399
-2 | 72550139 39.758591]| 6.967043 | -25.824504 | -58.616051| -91.407599
-3 | 67.887939| 35.096391| 2.304844 | -30.486703 | -63.278251| -96.069799
4| 63225739| 30434192 -2.357355| -35.148903| -67.94045 | -100.731998
-5| 5856354 | 25.771992| -7.019555| -39.811103| ~-72.60265 | -105.394197

OCTOBER 30, 2001



GENMATRIX5.MCD
c:=10.476821
Mu :=54.371621
Ru :=26.242275
am :=1.127074

a:=-5.-1

Ba b:=0.5-(c-(a— 3-b+u¥ 3v-5w)+G(-a+b—u+v+w)+h(a+b+ut+v+w))

G =-7.175706

Ms :=34.693681

Rs :=6.564335 Rd :=-12.550068
Rn:=Rs Mn (=Ms u:=0
b:i=-5.5

Md =15.579278

h i=-26.976926

vi=0

mp :=-23.776602

re :=-12.550068

w:=0’

v e (B, ,~ b:Rn) I (B, ,— a:Mn)
a,b a a,b b

, -1 0 A 20 3 4

-5( -12.5633376| -4.662199 3.208977 | 11.080153 18.95133 26.822506

M = -41 -14.50117| -4.662199 51767711 15.015742| 24.854712| 34.693683
-3| -17.780827 -4.6622 8.456428 | 21.575056 | 34.693683 47.81231

-2| -24.340141| -4.662189| 15.015742| 34.693683| 54.371624| 74.049565

-1] -44.018082| -4.662199 | 34.693683  74.049565| 113.405448| 152.76133

OCTOBER 30, 2001



GENMATRIX5.MCD
¢ :=10.476821
Mu :=54.371621
Ru :=26.242275
am :=1.127074

a:=-5.5

a

G =-7.175706 h =-26.976926

Ms :1=34.693681

Rs :=6.564335

Rni=re

Md :=15.579278

Rd :=-12.550068

. Mn:=Ms u:=0

b:i=-5.-1

B b:=0.5'(c-(a—3-b-f-u— 3v=5w)+G(-a+b-u+v+w)+h(a+b+u+v+w))

mp :=-23.776602

re :=-12.550068

" (Ba’b— b~Rn:) N (Ba,b— a-Mn)
a,b a a,b ’ b
-5 4 - e 2l
-5| -72.147428 | -81.986398| -98.384682 | -131.181249 | -229.57095 |
4| -64.276252| -72.147428| -85.266055 | -111.503309 | -190.215069
-3| -56.405076 | -62.308458| -72.147428| -91.825368 | -150.859189
2 -48.5339 | -52.469488 | -59.028801 | -72.147428 | -111.503309
Ro|-1| -40662724| -42.630518| -45.910174| -52.469488 | -72.147428
0| -32.791548| -32.791547 | -32.791548| -32.791547| -32.791547
1| -24.920371| -22.952577| -19.672921| -13.113607 6.564333
2| -17.049195] -13.113607| -6.554294 6.564333 | 45.920213
3| -9.178019| -3.274637 6.564333 | 26.242273| 85.276094
4] -1.306843 6.564333 19.68296 | 45.920213| 124.631974
5 6.564333 | 16.403303| 32.801587| 65.598154 | 163.987855

OCTOBER 30, 2001



GENMATRIX5.MCD

¢ :=10.476821

Mu :=54.371621

Ru 1=26.242275

am :=1.127074

a:=-5.-1

a

G:=-7.175706 h =-26.976926

Ms i=34.693681 Md :=15.579278 mp :=-23.776602

Rs :=6.564335 Rd :=-12.550068 re:=-12.550068
Rn :=Ru Mn =Ms u:=0 v:=0 wi=0

bi=-5.5

B b:=0.5-(c-(a—3-b+u— 3v=5w)+G(-a+b-ut+v+w)+h(at+b+ut+v+w))

v e (B, ,~ bRn) . (B, ,—aMn)
a,b a a,b b
- A E R R |
-5| -16.468964 | -4.662199 | 7.144565| 18.951329| 30.758094| 42.564858
Mo |4| 19420655 | -4.662199| 10.096256 | 24.854712| 39.613167 | 54.371623
-3|  -24.34014 -4.6622 | 15.015741| 34.693682| 54.371623| 74.049564
2| -34179111| -4.662199 | 24.854712| 54371623 | 83.888534| 113.405445
1| -63.696022| -4.662199 | 54.371623 | 113.405445 | 172.439268 | 231.473091

OCTOBER 30, 2001



GENMATRIX5.MCD

¢:=10.476821

Mu :=54.371621

G=-7.175706

Ru :=26.242275

Rs :=6.564335 Rd :=-12.550068
am =1.127074 Rn :=re Mn :=Mu u:=0
a'=-5.5 bi=-5.-1

Ms :=34.693681

Md :=15.579278

h 1=-26.976926

mp =-23.776602

re1=-12.550068

Ba b =05(c(a-3b+u-3v-5w)+G(-a+b- u+v+w)+h-(a+b+vu+v+w))

v (\/Ba’b- b-Rn:) I (Ba,b— a-Mn>
a,b a a,b b
-51 -91.825368 | -106.583823 | -131.181248 | -180.376099 | .-327.96065
-4| -80.018604 | -91.825368| -111.503308 | -150.859188 | -268.926829
-3 -68.21184 | -77.066913| -91.825368 | -121.342278 | -209.893009
-2| -56.405076| -62.308458| -72.147428| -91.825368 | -150.859188
R = -1] -44.598312| -47.550003 | -52.469488| -62.308458| -91.825368
0| -32.791548| -32.791547| -32.791548| -32.791547 | -32.791547
1| -20.984783| -18.033092( -13.113607 -3.274637 | 26.242273
2 -9.178019 -3.274637 6.564333 | 26.242273| - 85.276093
3 2.628745 11.483818 | 26.242273| 55.759183| 144.309914
4 14.435509 | 26.242273| 45.920213| 85.276093 | 203.343734
5 26.2422731 41.000728| 65.598153 | 114.793004 | 262.377555

OCTOBER 30, 2001




GENMATRIX5.MCD
¢ 1=10.476821
Muu 1= 56.062232
Ruu :=27.932886
am 1= 1.127074

a.=-5.-1

a

G =-7.175706 -

Msu :=35.820755

Rsu 1=7.691409

Rn =Rsu

bi=-5.5

Mn :=Msu

h :=-26.976926
Md :=15.579278

Rd :=-12.550068

u:=0

mp :=-23.776602

re :=-12.550068

B b:=0.5-(c-(a— 3b+u-3v-5w)+G(-a+b-u+v+w)+h(a+b+u+v+w))

M s <Ba,b— b-Rn> - {Ba,b— a-Mn:}
a,b a a,b b
LI 0 . 41 2 1 3 4
-5 -12.758791 -4.662199 3.434392 | 11.530983 | 19.627574| 27.724166
M=l? -14.782939 | . -4.662199 545854 | - 15.579279| 25.700018| 35.820757
-3] -18.156518 -4.6622 8.832119 | 22.326438| 35.8207571 49.315076
-2| -24.903678| -4.662199| 15579279} 35.820757| 56.062235| 76.303714
-1| -45.145156| -4.662199| 35.820757 ). 76.303714| 116.78667 | 157.269627

OCTOBER 30, 2001



GENMATRIX5.MCD OCTOBER 30, 2001

c:=10.476821 G :=-7.175706 h:=-26.976926

Muu :=56.062232
Ruu :=27.932886

Msu :=35.820755 Md :=15.579278  mp :=-23.776602

Rsu :=7.691409 Rd=-12.550068 re:=-12.550068

am:=1.127074  Rn:=Ruu  Mn:=Msu u:=0 vi=0 w:i=0

a:=-5.-1 b:i=-5.5

B, i=05(c(a=3b+u-3v-5w)+G(-a+b—utv+w)+h(atbsutvew)

" :=<Ba’b—b-Rn> N :={:Ba.b—a~Mn:)
a,b a a,b b
-1 0 L2 s 4
-5| -16.807086 | -4.662199 | 7.482687 | 19.627574| 31.772461| 43.917347
M=|4] 19843308 | -4.662199 | 10.518909| 25700017 | 40.881126| 56.062234
-3| -24.903677 -4.6622| 15.579278| 35.820756 | 56.062234 | 76.303712
2| -35.024416| -4.662199 | 25.700017 | 56.062234 | 86.424451 | 116.786667
-1| -65.386633 | -4.662199 | 56.062234 | 116.786667 | 177.511101 | 238.235534




GENMATRIX5.MCD OCTOBER 30, 2001

c:=10.476821 G :=-7.175706 h=-26.976926

Muu :=56.062232
Ruu :=27.932886

Msu :=35.820755 Md =15.579278  mp :=-23.776602.

Rsu :=7.691409 Rd :=-12.550068 re:=-12.550068

am :=1.127074 Rn:=Ruu Mn :=Msu u:=0 vi=0

a:=1.5 bi=-5.5

Ba b:=0.5-(c-(a— 3b+u-3v-5w)+G(-a+b-u+v+w)+h(a+b+u+v+w))

- <Ba’b-— b-Rn> I (Ba’b-— a-Mn)
a,b a a,b b ,
5 0 0 0 0 0 0
4 0 0 0 0 0 0
3 0 0 0 0 0 0
2 0 0 0 0 0 0
RE 0 0 0 0 0 0
0 0 0 0 0 0 0
1| 298.959968 | 238.235534 | 177.511101| 116.786667 | 56.062234| -4.662199
2| 147.148884 | 116.786667 | 86.424451| 56.062234| 25.700017| -4.662199
3| 96.54519| 76.303712| 56.062234| 35.820756| 15.579278 46622
4| 71.243342| 56.062234| 40.881126| 25.700017| 10.518909| -4.662199
5| 56.062234| 43.017347| 31.772461| 19.627574| 7.482687 | -4.662199




GENMATRIX5.MCD
¢:=10.476821
Muu :=56.062232
Ruu :=27.932886
am :=1,127074

a:=-5.5

G =-7.175706 h :=-26.976926

Msu :1=35.820755 Md :=15.579278  mp :=-23.776602

Rsu :=7.691409 Rd :=-12.550068 re:=-12.550068

Rni=re Mn :=Msu u:=0 v:=0 w.=0

bi=-1.-5

Ba b:=0.5-(c‘(a—3-b+u—- 3v=5w)+G(-a+b~-u+v+w)+h(at+b+ut+v+4w))

M= (:Bl b= b-Rn), - (Ba,b— a-Mn)

a,b a a,b b

5 4 | 3 2 [ A
5| -73.274502 | -83.395241| -100.263138 | -133.998934 | -235.20632
-4| -65.177911| -73.274502 -86.76882 | -113.757456 | -194.723365
-3 -57.08132 | -63.153763 | -73.274502| -93.515979 | -154.240411
-2| -48.984729| -53.033025| -59.780184 | -73.274502| -113.757456
R = -1] -40.888138| -42.912286| -46.285866| -53.033025| -73.274502
0| -32.791548| -32.791547| -32.791548| -32.791547| -32.791547
1| -24.694957| -22.670809] -19.297229 -12.55007 7.691407
2| -16.598366 -12.55007 -5.802911 7.691407 48.174361
3 -8.501775 -2.429332 7.691407 27.932884 88.657316
4 -0.405184 7.691407 21.185725| 48.174361 129.14027
5 7.691407 17.812146 34.680043 68.415839 | 169.623225

OCTOBER 30, 2001



GENMATRIX5.MCD
¢:=10.476821
Muu :=56.062232
Ruu :=27.932886
am :=1.127074

ai=-5.5

G=-7.175706

Msu :=35.820755

Rsu :=7.691409

Rn i=re

h :=-26.976926

Md :=15.579278

Rd =-12.550068

Mn:=Muu u:=0

b:i=-1.-5

mp i=-23.776602

re .=-12.550068

Bab:=0.5-(c~(a—3;b+u— 3v=5w)+G(-a+b-—u+v+w)+h(a+b+ut+v+w))

" :=<Ba’b—b-Rn:‘) :=(Ba’b—a~Mn>
a,b a a,b b

5 4 3 e
5| -93.515979 [ -108.697087 | -133.998933 | -184.602626 | -336.413705
4| -81.371093| -93.515979 | -113.757456 | -154.24041 | -275.689274
3| -69.226206 | -78.334871| -93.515979 | -123.878195 | -214.964842
2| -57.08132| -63.153763| -73.274502| -93.515979| -154.24041
Ro|-1| 44.936434| -47.972655| -53.033025| -63.153763| -93.515979
0| -32.791548| -32.791547 | -32.791548| -32.791547| -32.791547
1| -20.646661| -17.61044| -12.55007 [ -2.429332| 27.932884
2| -8501775| -2.429332 7.691407 | 27.932884| 88.657315
3 3643111 | 12751776 | 27.932884 58.2951 | 149.381747
4| 15787998 | 27.932884| 48.174361| 88.657315| 210.106178
5| 27.932884| 43.113902 68.415838 | 119.019531| 270.83061

OCTOBER 30, 2001



CEhMATRIX: Mo b
MASSPACE-MGD <-G-~h MRy

MASS-<--->SPAGE=RELATIONS, T=0

OCTOBER 27, 2001

¢ :=10.476821 G :=-7.175706 h 1=-26.976926 This w th B - MATRIY
l~or o " DIRFer™ e g
ai=-4.4 bi=-4.4 | Wevewep
x(a,b) :=_(_a_—2§—-b_) y(a,b) := (b; a) z(a,b) :=(a+b)
. &
AF — 1 -28127345
B, ,=0.5(a=3b)c+05(b—2)G+0.5(a+b)h /f c*
149.814988 117.023440 84.231893 51.440345 18.648798 -14.142749 -46.934297 -79.725844 -112.517392] ~4
145.152788 112.361241 79.569693 46.778146 13.986599 -18.804949 -51.596497 -84.388044 -117.179591 | -3
140.490589 107.699041 74.907494 42.115946 9.324399 -23.467149 -56.258696 -89.050243 -121.841791 |3
135.828390 103.036842 70.245294 37.453747 4.662199 -28.129348 -60.920896 -93.712443 -126.503991 |~ a A
131.166190 98.374642 65.583095 32.791547 0.000000 -32.791547 -65.583095 -98.374642 -131.166190 | o \Q
126.503991 93.712443 60.920896 28.129348 -4.662199 -37.453747 -70.245294 -103.036842 -135.828390 |4 My = =" 62219
121.841791 89.050243 56.258696 23.467149 -9.324399 -42.115946 -74.907494 -107.699041 -140.490589 |12
117.179591 84.388044 51.596497 18.804949 -13.986599 -46.778146 -79.569693 -112:361241 -145.152788 |+ 3
[ 112.517392  79.725844 46.934297 14.142749 -18.648798 -51.440345 -84.231893 -117.023440 - 149.814988 |+«

_u -3 -2 -1 0 + 2 L3 + 4

b \l

Ay [, ~ -32,791547 ~37. 543 74%

W



MASSIZE.MCD OCTOBER 27, 2001 Caw:
awe: Oipect  wevzawzo
¢ =10.476821 G :=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms :=33.566607 Md:=15.579278  mp :=-23.776602

Ru :=24.551659 Rs i=5.437261 Rd:=-12.550068 re:=-12.550068
am :=1.,127074 Rn:=re Mn =mp
ai=-4_-1 b:=-4.4

B(a,b):=0.5(a=3b)c+0.5(b-2a)G+0.5(a+Db)h

a2 (05(a=3b)c+0.5(b-2)G+05(a+b)h—b-Rn)
a,b -

a

— (0.5¢(a-3-b)c+0.5(b-2a)G+0.5(a+b)h-aMn)
b

a,b

-24.903679 -19.843309 -14.782939 -9.722569 -4.662199 0.39817 5.45854 10.51891 15.57928 |~
-31.650839 -24.903679 -18.156519 -11.409359 -4.6622 2.08496 8.83212 - 1557928 22.32644 |-3
-45.145159 -35.024419 -24.903679 -14.782939 -4.662199 5.45854 15.57928 25.70002 35.82076 |-~ @
-85.628118 -65.386638 -45.145159 -24.903679 -4.662199 15.57928 35.82076 56.062239 76.303719 | —1

-l - -3 -/ V) l 3 3 4
b




MASSIZE.MCD OCTOBER 27, 2001
c:=10.476821 G =-7.175706 h i=-26.976926

Mu :=52.681010 Ms 1=33.566607 Md:=15.579278  mp i=-23.776602

Ru :=24.551659 Rs :=5.437261 Rd i=-12.550068 re:=-12.550068
am :=1.127074 Rni=re Mn =mp
a=1.4 bi=-4.4

B(a,b):=0.5(a= 3-b)-c+0.5(b-2a)-G+0.5(a+b)h

_(0.5:(a=3b)-c+0.5(b=a)-G+0.5(a+b)-h—bRn)

Ma,b a
[0 0 0 0 0 0 0 0 0 1
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0
0 0 0 0 0 0 0 0 0

<

76.303719 56.062239 35.82076 15.57928 -4.662199 -24.903679 -45.145159 -65.386638 -85.628118 | {

35.82076 25.70002 15.57928 5.45854 -4.662199 -14.782939 -24.903679 -35.024419 -45.145159

22.32644 15.57928 8.83212 2.08496 -4.6622 -11.409359 -18.156519 -24.903679 -31.650839

L 15.57928 10.51891 5.45854 0.39817 -4.662199 -9.722569 -14.782939 -19.843309 -24.903679 |
bl I :

-4 =3 -2 ( 0 2 3 i

Lo v




MASSIZE.MCD OCTOBER 27, 2001
¢ :=10.476821 G i=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms :=33.566607 Md:=15.579278  mp :=-23.776602

Ru:=24.551659 Rs i=5.437261 Rd :=-12.550068 re:=-12.550068
am :=1.127074 Rn:=Rd Mn :=Mu
ai=-4.-1 bi=-4.4

B(a,b):=0.5-(a= 3-b)-c+ 0.5(b—2a)-G+0.5(a+b)h

_(0.5(a=3b)-c+0.5(b~ 2)-G+0.5-(a+ b)-h— b-Rn)
a

Ma,b

-(0.5(a=3b)c+05(b- a)-G+05(a+b)h—-aMn)

Ra,b b

-24.903679 -19.843309 -14.782939 -9.722569 -4.662199 0.39817 5.45854 10.51891 15.57928 |4
~31.650839 -24.903679 -18.156519 -11.409359 -4.6622 2.08496 883212 1557928 22.32644 (-3
-45.145159 -35.024419 -24.903679 -14.782939 -4.662199 5.45854 15.57928 25.70002 3583076 |-
-85.628118 -65.386638 -45.145159 -24.903679 -4.662199 15.57928 A5830%6 64062239 76303719 | =1

L~ Y -3 -2 - { o ! bR 3 4




MASSIZE.MCD

¢:=10.476821 G:=-7.175706 h :=-26.976926

Mu :=52.681010 Ms :=33.566607 Md =15.579278

Ru :=24.551659 Rs :=5.437261 Rd :=-12.550068
am :=1.127074 Rn :=Rd Mn :=Mu
a:=1.4 bi=-4.4

B(a,b) :=0.5(a—3-b)-c+0.5(b—2a)-G+0.5(a+b)h

M 2 (05(a=3b)c+0.5(b=-2)-G+0.5(a+b)h—bRn)

a,b a
R =(05(a=3b)c+05(b=2)G+05(at+b)h-aMn)
a,b T b
[0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0

~4 -% =% - 0 i

b

OCTOBER 27, 2001

mp :=-23.776602

re :=-12.550068

(== e

0

2

0
0
0
0

0

0
0
0
0

0

76303719 56062239 3582076 15.57928 -4.662199 -24.903679 -45.145159 -65.386638 -85.628118
35582076 2570002 15.57928 5.45854 -4.662199 -14.782939 -24.903679 -35.024419 -45.145159
2232644 1557928 8.83212 2.08496 -4.6622 -11.409359 -18.156519 -24.903679 -31.650839
| 15.57928 10.51891 5.45854 0.39817 -4.662199 -9.722569 -14.782939 -19.843309 -24.903679 |

3

Y

.¢WN\Q

DIAGowAL S

] 5 5\792.5

—YH, G036 F ] Aoy



MASSIZE.MCD OCTOBER 27, 2001
¢1=10.476821 G =-7.175706 h 1=-26.976926

Mu :=52.681010 Ms 1=33.566607 Md:=15.579278  mp :=-23.776602

Ru :=24.551659 Rs :1=5.437261 Rd:=-12.550068 re:=-12.550068
am :=1.127074 Rn:=Rs Mn i=Mu
a==-4.-1 bi=-4.4

B(a,b) =0.5(a= 3-b)c+0.5(b—a)-G+0.5-(a+b)h

_(05(a=3b)-c+0.5(b~2)-G+0.5(a+b)h-bRn)
a

Ma,b

R (05(a=3b)c+05(b=2)G+0.5(a+b)h-aMn)
a,b '
’ b

-42.891008 -33333806 -23.776604 -14.219402 -4.662199 4.895003 14.452205 24.009407 33.566609 | —4
-55.633944 -42.891008 -30.148072 -17.405136 -4.6622 8.080737 20.823673 33.566609 46309545 |-3

M=l 81119816 -62.005412 -42.891008 AL IFE0% -4.662199 14.452205 33.566609 52681618 71795417 |~2 *
-157.577434 -119.348625 -81.119816 -42.891008 -4.662199 33.566609 71.795417 110.024226 148.253035) ~ !

-4 -3 -2, - o 2 3 y




MASSIZE.MCD

¢:=10.476821

Mu :=52.681010

Ru :=24.551659

am :=1.127074

a.=1.4

OCTOBER 27, 2001

G :=-7.175706 h :=-26.976926

Ms :=33.566607 Md :=15.579278  mp :=-23.776602

Rs :=5.437261 Rd :=-12.550068 re:=-12.550068
Rn:=Rs Mn :=Mu
bi=-4.4

B(a,b):=0.5-(a=3:b)-c+0.5(b-2a)G+0.5(a+b)h

M i (0:5-(a=3-b)c+0.5(b~2)G+05(a+b)h—b-Rn)

a,b

R

a

_(05(a=3b)ct05(b=2)G+05(a+b)h-aMn)

a,b
0
0
0
0

0

~4

[T e BN e A =

0

148.253035 110.024226
71795417 32681013
46309545  33.566609
| 33.566609  24.009407

~3

b

0 0
0 0
0 0
0 0

[N e A A

0
0
0
0

0 0 0 0

0
0
0
0

0

71.795417 33.566609 -4.662199 -42.891008 -81.119816
33.566609 14.452205 -4.662199 237776604 -42.891008
20.823673 8.080737 -4.6622 -17.405136 -30.148072
14.452205 4.895003- -4.662199 -14.219402 -23.776604

-2 ~1 0 /
b

2

0 0 |
0 0
0 0
0 0
0 0 5 @
-119.348625 -157.577434 | 4
-62.005412 -81.119816 | %
-42.891008 -55.633944 | 3
-33.333806 -42.891008 | “
3 4
DA G/ ALS
35, 56¢t09

- Y42, $9/ vog



MASSIZE.MCD OCTOBER 27, 2001
¢ :=10.476821 G :=-7.175706 h :=-26.976926

Mu :=52.681010 Ms :=33.566607 Md =15.579278  mp :=-23.776602

Ru :=24.551659 Rs :=5.437261 Rd :=-12.550068 re:=-12.550068
am :=1.127074 Rn:=Ru Mn :=Mu
a:i=-4.-1 bi=-4.4

B(a,b) :1=0.5(a= 3:b)-c+ 0.5(b—2a)-G+0.5(a+b)h

2 (05(a=3b)-c+0.5(b—a)-G+0.5(a+b)h—bRn)

M

a,b a
_(0.5(a=3b)c+0.5(b-a)G+0.5(a+b)h—aMn)

a,b '

’ b

-62.005406 -47.669604 -33.333803 -18.998001 -4.662199 9.673602 24.009404 38.345205 52.681007 ~ Yy
-81.119808 -62.005406 -42.891004 ;237766027 -4.6622 14452203 4366605 52.681007 71795409 | _
M= -119.348613 -90.677009 -62.005406 -33.333803 -4.662199 24.009404 52.681007 - 81.35261 110.0242141| -~ 2
-234.035026 -176.691819 -119.348613 -62.005406 -4.662199 52.681007 110.024214 167.36742 224.710626 | -1

~4 -3 -2 -] O 1 2 3 o

b




MASSIZE.MCD

¢ :=10.476821 G 1=-7.175706 h :=-26.976926

Mu :=52.681010 Ms :=33.566607 Md :=15.579278  mp :=-23.776602

Ru :=24.551659 Rs :=5.437261 Rd :=-12.550068 re:=-12.550068
am :=1.127074 Rn:=Ru Mn :=Mu
a:=1.4 bi=-4.4

B(a,b) :=0.5-(a= 3:b)-c+ 0.5(b—a)-G+0.5(a+b)-h

._(05(a=3:b)-c+0.5-(b— 2)-G+0.5-(a+b)-h— b-Rn)

Ma,b a
R ._(05(a=3b)c+05(b-2a)G+0.5(a+b)h—aMn)
a,b'-_ b
[0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0
0 0 0 0 0 0

110.024214 81.35261 52.681007 24.009404 -4.662199 -33.333803

-y ~2 -2 ~1 o }

b

OCTOBER 27, 2001

0
0
0
0

0

0
0
0
0

0

(=R = A =

0

224.710626 167.36742 110.024214 52.681007 -4.662199 -62.005406 -119.348613 -176.691819 -234.035026
-62.005406

-90.677009 -119.348613

71795409 52.681007 A37566605 14.452203 -4.6622 337116602 -42.891004 -62.005406
| 52.681007 38345205 24.009404 9.673602 -4.662199 -18.998001 -33.333803
N

-47.669604
3

-81.119808

-62.005406 |
Lf

LW N

DA CoNa&S
52, 6§/ Coy

—(2,005404



MASSIZE.MCD OCTOBER 27, 2001
c:=10.476821 G :=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms 1=33.566607 Md:=15.579278  mp :=-23.776602

Ru :=24.551659 Rs !=5.437261 Rd:=-12.550068 re:=-12.550068
am :=1.127074 Rn:=re Mn =mp
a:=-4.4 b:=1.4

B(a,b) :=0.5(a= 3:b)-c+0.5(b~ a)-G+0.5(a+b)h

M 2 (05(a=3b)c+0.5(b—a)-G+0.5(a+b)h—b-Rn)

a,b a
R = (0.5(a-=3-b)-c+0.5(b-2a)-G+0.5-(a+b)-h— a-Mn)
a,b b
[0 0 0 0 0 -109.249157 -71.020353 -58.277417 -51.90595 |- 4
0000 0 -90.134755 -61.463151 -51.90595 -47.127349 |..3
00000 -71.020353 -51.90595 -45.534482 -42.348749 |-
00000 -5190595 -42.348749 -39.163015 -37.570148 |-/
R=[0 0 0 0 0 -32.791547 -32.791547 -32.791548 -32.791547 | © a
0000 0 -13.677145 -23.234346 -26.42008 -28.012947 | |
00000 552132258 -13.677145 -20.048612 -23.234346 | %
00000 215;;6@ -4.119944 -13.677145 -18.455746 | 3
(0 0 000 43666063 5437358 -7.305677 -13.677145 |14
+1 +2 +3 + 4
b




MASSIZE.MCD

¢ :=10.476821

Mu :=52.681010

G =-7.175706

Ms 1=33.566607

OCTOBER 27, 2001
h 1=-26.976926

Md :=15.579278  mp :=-23.776602

Ru:=24.551659  Rs:=5.437261 Rd:=-12.550068  re i=-12.550068 ~ 3. 677 M5 + &N
= =12, Sepoef
am :=1.127074 Rn i=re Mn '=mp
ai=-4.4 bi=-4.-1
B(a,b) :=0.5(a— 3-b)-c+0.5(b—a)-G+0.5(a+b)-h }5/-/1 <I+3,+(0
i
M :=(05(a=3b)-c+0.5(b—2)-G+05(a+b)h—bRn) A4, 550 60 F &Km)3
b a = 27,932 8%4
Rab:___(O.S-(a—3-b)-c+0.5-(b—a)-G+0.5-(a+b)-h—a-Mn) NN wZ
, b = —L/i a7 r [,!L/)f}J
[ / 2.
] o ] & H3725E 4 M)
~13.677145 -7305677 §A37ISE  43.666063 |4y
-18.455746 -13.677145 -4.119944 3455166/ |, = 7691707
-23.234346 -20.048612 -13.677145 S4¥25% |
-28.012947 -26.42008 -23.234346 3677145 |-1 o
-32.791547 -32.791548 -32.791547 -32.791547 | O
-37.570148 -39.163015 -42.348749 -51.90595 [*!
-42.348749 -45.534482 -51.90595 -71.020353 [+2
-47.127349 -51.90595 -61.463151 -90.134755 |*3 DIAGONALS
| -51.90595 -58.277417 -71.020353 -109.249157 | 1"

- H -3

-2

-

—13.677 145
51, o5 950



MASSIZE.MCD OCTOBER 27, 2001
¢:=10.476821 G :=-7.175706 h :=-26.976926

Mu :=52.681010 Ms 1=33.566607 Md :=15.579278  mp :=-23.776602

Ru:=24.551659 Rs :=5.437261 Rdi=-12.550068 re:=-12.550068
am :=1.127074 Rn i=re Mn :=Md
a:=-4.4 bi=1.4

B(a,b) :=0.5(a—= 3-b)-c+ 0.5(b—a)-G+0.5(a+b)h

.- (0.5(a=3b)c+0.5(b-a)G+0.5(a+b)-h-Db-Rn)

Ma,b a

R :=(O.5-(a—3-b)-c+0.5-(b—a)~G+O.5-(a+b)-h—a-Mn)

a,b b
[0 0 0 0 0 48174363 7691407 -5.802911 -12.55007 | =4
00000 27930885 -2429331 -12.55007 -17.610439 [ =3
00000 690407 -12.55007 -19.297229 -22.670809 | - 2,
00000 -1255007 -22.670809 -26.044388 -27.731178 | - | a

R=[0 0 0 0 0 -32.791547 -32.791547 -32.791548 -32.791547| O
00000 -53.033025 -42.912286 -39.538707 -37.851917 | !
0000 0 -73274502 -53.033025 -46.285866 -42.912286 | >
00000 -9351598 -63.153764 -53.033025 -47.972656 |
[0 0 0 0 0 -113.757457 -73.274502 -59.780184 -53.033025 | 4
> + + 2 + 2 +4
b




MASSIZE.MCD

¢:=10.476821 G:=-7.175706

Mu :=52.681010 Ms 1=33.566607

Ru :1=24.551659 Rs:=5.437261

am =1.127074 Rni=re

a:i=-4.4 bi=-4.

-1

OCTOBER 27, 2001

h!=-26.976926

Md :=15.579278

Rd =-12.550068

Mn :=Md

B(a,b) :=0.5-(a— 3-b)-c+ 0.5(b— a)-G+0.5-(a+b)-h

M

- (05(a=3b)c+05(b-2a)G+0.5(a+b)h-b-Rn)

a,b a

g :=(05(a=3b)-c+0.5(b-a)G+0.5(a+b)h—aMn)

a,b b
[-53.033025 -59.780184 -73.274502 -113.757457] ~ Y
-47.972656 -53.033025 -63.153764 -93.51598 | -2
-42.912286 -46.285866 -53.033025 -73.274502 |- 3
-37.851917 -39.538707 -42.912286 -53.033025 | ~ !
-32.791547 -32.791548 -32.791547 -32.791547 | © o
-27.731178 -26.044388 -22.670809 -12.55007 | |
-22.670809 -19.297229 -12.55007  7.691407 | *
-17.610439 -12.55007 -2.429331 37,93288% | *
| -12.55007 -5.802911 7.691407 48.174363 | 't

-y -3 ~2

=~

mp i=-23.776602

re :=-12.550068

B*L// 'Z_Z z [_2,/ —-lj
EL"/*'lj = [2,+1]
7691407

27. 9328%%

DiACoOwAL S
~(x, 550068 7

cy5 3, 035025 N



MASSIZE.MCD OCTOBER 27, 2001
c:=10.476821 G :i=-7.175706 h i=-26.976926

Mu :=52.681010 Ms :=33.566607 Md =15.579278  mp :=-23.776602

Ru :=24.551659 Rs :=5.437261 Rd :=-12.550068  re :=-12.550068
am '=1.127074 Rn:=re Mn :=Ms
a:=-4.4 bi=1.4

B(a,b) =0.5-(a~ 3-b)-c+0.5(b—2a)G+0.5(a+b)-h

o (0.5(a=3b)c+0.5(b-2)G+0.5(a+b)h-b-Rn)
a

Ma,b

R = (0.5(a—3b)-c+0.5(b—a)-G+0.5-(a+ b)-h— a-Mn)
ab '
’ b

120.123678  43.666065 18.180194 5.437259 | - 4
81.894872 4551667 5437259 -4.119943 | -3
43.666065 5437259 -7.305676 -1BAWITA4| -2
5437259 - 3617144 -20.048612 -23.234346 | - |
-32.791547 -32.791547 -32.791548 -32.791547 | ©

0

0

0

0 O-
0

0 -71.020354 -51.905951 -45.534483 -42.348749

0

0

0

0

-—

-109.24916 -71.020354 -58.277418 -51.905951

- 147.477967 -90.134757 -71.020354 -61.463152

- 185.706773 -109.24916 -83.763289 -71.020354 ]
+ 1 + 2 +3 + 4

=
]

O O O O O O o o o

O O O O O O o o O

O OO O o O o o o

S O O O O o o o o

o M




MASSIZE.MCD OCTOBER 27, 2001

¢ :=10.476821 G :=-7.175706 h 1=-26.976926

Mu :=52.681010 Ms :=33.566607 Md:=15.579278  mp :=-23.776602

Ru :=24.551659 Rs 1=5.437261 Rd :=-12.550068 re :=-12.550068
am =1.127074 Rni=re Mn :=Ms
a:=-4.4 bi=-4.-1

B(a,b) :=0.5(a— 3-b)-c+0.5(b—a)-G+0.5(a+b)h

- (05(a=3b)c+0.5(b~a)G+0.5(a+b)h-bRn)
a

Ma,b

_(0.5(a=3b)c+0.5(b—2) G+ 0.5(a+b)-h~ a-Mn)

Ra,b b

[-71.020354 -83.763289 -109.24916 - 185.706773 | — 4
-61.463152 -71.020354 -90.134757 -147.477967 | - 3
-51.905951 -58.277418 -71.020354 -109.24916 | -3
-42.348749 -45.534483 -51.905951 -71.020354 | = !

5437200 Gud®
~ 7,691 HoF

_/3/527;/1117‘{'0(}4:‘{&_
[2/“"*3 = L2y~
1) iy

G, ] = [/ +2]

321 = 24 55N €2
[ " {‘(0_(1“)3
[-3 2] = 17,932 654

-32.791547 -32.791548 -32.791547 -32.791547 | O a
-23.234346 -20.048612 - 13677144 5.437259 | !
-13.677144" 7305676 5437259  43.666065 | *
-4.119943 5437259 Y4566y 81894872 | 3
| 5437259  18.180194 43.666065 120.123678 |
~ Y -3 =L ~1
DipGownrs
L » 382288040543 7259 7

A 191440y

38228907 5, prp 354N



MASSIZE.MCD OCTOBER 27, 2001
¢ :=10.476821 G :=-7.175706 h:=-26.976926

Mu :=52.681010 Ms :=33.566607 Md :=15.579278 - mp :=-23.776602

Ru 1=24.551659 Rs:=5.437261 Rd :=-12.550068  re:=-12.550068
am :=1.127074 Rni=re Mn =Mu
a:=-4.4 bi=1.4

B(a,b) :=0.5(a~ 3-b)-c+0.5(b—a)-G+0.5(a+b)h

_(0.5(a=3b)-c+05(b=2a)G+05(a+b)h-bRn)

Ma,b a

R :=(0.5‘(a—3-b)~c+0.5-(b-a)-G+O.5-(a+b)-h—a-Mn)

a,b b
[0 0 0 0 0 196581291 81.894871 43.666065 24.551662 | -4
00000 139238081 53.223267 24.551662 10.21586 | =3
00000 81.894871 24551662 5437059 -4.119943 | - 2,
00000 24551662 -4.119943 -13.677144"-18.455745| ~ 1

R={0 0 0 0 0 -32.791547 -32.791547 -32.791548 -32.791547| © &
0000 0 -90.134757 -61.463152 -51.905951 -47.12735 | + 1
0000 0 -147.477967 -90.134757 -71.020354 -61.463152 [+
0000 0 -204.821176 -118.806362 -90.134757 -75.798955 | +3
[0 0 0 0 0 -262.164385 -147.477967 -109.24916 -90.134757 | +4
+ 1 PR + 3 +H
b




MASSIZE.MCD OCTOBER 27, 2001
c:=10.476821 G =-7.175706 h i=-26.976926

Mu :=52.681010 Ms :=33.566607 Md :=15.579278  mp :=-23.776602

Ru :=24.551659 Rs 1=5.437261 Rd :=-12.550068 re:=-12.550068
am :=1.127074 Rn i=re Mn :=Mu
a.=-4.4 bi=-4.-1

LSJ—'L{:] = 10: 2iS Y60

B(a,b) =0.5(a=3b)c+0.5(b-2a)-G+0.5.(a+b)h E3; +4/] - /0. 215860

- I
M = (05(a=3b)c+0.5(b=2)-G+0.5(a+b)h~bRn) m,ﬂi:ﬂﬂ@f_&
ab' -
a [-1 437> [1,-37:"13. 677194
. (0.5:(a=3b)-c+0.5-(b=-a)-G+0.5-(a+b)h— a-Mn) + o M
ab’ b — ~12,55 0068 7
- -
-90.134757 -109.24916 -147.477967 -262.164385] - _
90.134757 -109.24916 9 Y 945 663
-75.798955 -90.134757 -118.806362 -204.821176 | ~3 Fl)?
-61.463152 -71.020354 -90.134757 -147.477967 | -2, = 27932 584 ~
-47.12735 -51.905951 -61.463152 -90.134757 | -1 a
R =|(-32.791547 -32.791548 -32.791547 -32.791547 | & EZ/ {%Z:.@,-s] = $5.H37289
R 2,
-18.455745 13677144 -4.119943  24.551662 | +1 & Mm)
-4.119943 54372597 24.551662  81.894871 |+2 = 7.69/407 v
10.21586  24.551662  53.223267 139.238081 | + 3
| 24.551662 43.666065 81.894871  196.581291 | +*
-y -3 PN l
DiAgownLs
b PLU §7,393207 n 84051622 7

Fv=ST.3B20 v~ 90, 134757
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